Stature-motor apparatus
1. The new born child has the undeveloped acetabulum. What the embryologic layer does the bony tissue develop from?

A – ectoderma

B – mesoderma

C – entoderma

D – mesenchima

E – trophoblast


Correct answer –B 

2. The old man broke the tibia bone after unexpected movement. What does the bone’s hardness depend on?

A – organic substance

B – nonorganic substance

C – human’s age

D – profession

E – sex


Correct answer – B

3. There is osteoporosis – softing of the patient’s bony substance. Which a part of a bony substance has been injured?

A – compact substance

B – spongy substance

C – main bony substance

D – osteocites

E – osteon

Correct answer – A

4. There is no any regeneration of the bone’s fragments of the patient after gun’s wounding. What a bone’s part was injured?

A – periosteum

B – perichondrium

C – compact substance

D – spongy substance

E – endost

Correct answer – A

5. The patient has the fracture on the border between diaphisis and the upper end of the humerus. What is the name of tubular bones’ ends?

A – diaphisis

B – epiphisis

C – metaphisis

D – apophasis

E – periosteum

Correct answer – B

6. The child’s humerus has been growing slow during 3 years after the fracture. What the bone’s part has been injured?

A – diaphisis

B – epiphisis

C – metaphisis

D – apophasis

E – periosteum
Correct answer – C

7. The child has crooked lower limbs because of rahitis. Which tipe of ossification was injured?

A – membranous

B – prime

C – chondrine

D – endochondrine

E – perichondrine

Correct answer – C

8. The embrion conteints the places of ossification during physical examination of the pregnant women by USR.What is period of pregnancy?
A – 1 month

B – 2 month

C – 3 month

D – 4 month

E – 5 month

Correct answer – C

9. You have to make palpation of the vertebral column’s processes to define the vertebral column’s pathological curves. Which processes are palpated through the skin?

A – transverse processes

B – spinous processes

C – articular processes

D – arch of the vertebra

E – vertebral notch

Correct answer – B

10. Which spinous process is used by a doctor to determine the boundary between cervical and thoracic parts of the vertebral column?

A – III cervical vertebra
B – IV cervical vertebra

C – V cervical vertebra

D – VI cervical vertebra

E – VII cervical vertebra

Correct answer – E
11. The injured patient has the bleeding of a carotid artery. This artery must be pressed to the cervical vertebra to stop temporary bleeding. Which anatomical formation must be chosen?
A –anterior tubercule of the III cervical vertebra
B –posterior tubercule of the IV cervical vertebra

C –anterior tubercule of the V cervical vertebra

D –anterior tubercule of VI cervical vertebra

E –posterior tubercule of the VII cervical vertebra

Correct answer – D
12. A men dave in unknown place and got the hard trauma of the vertebral column. There is broken tooth-shaped process on the X-ray picture. Which cervical vertebra was injured?
A – I

B – II

C – III

D – IV


E – V

Correct answer – B

13. There are 11 thoracic vertebrae on the patient’s X-ray picture. How many thoracic vertebra must be in normal variant?
A – 10
B – 12
C – 8
D – 14


E – 7
Correct answer – B

14. There are 4 lumbar vertebrae on the man’s X-ray picture. How many lumbar vertebrae of normal structure must be?

A – 2
B – 4
C – 5
D – 6


E – 3
Correct answer – C
15. There is spina bifida on the X-ray picture. Which part of the lumbar vertebra is divided?

A – body

B – articular processes

C – arch

D – transverse processes
E – spines processes

Correct answer – C

16. There is the fracture in the region of the sacrovertebral angle on the X-ray picture. Which lumbar vertebra connects with the sacrum and forms the sacrovertebral angle?
A – I
B – II

C – III

D – IV

E – V 

Correct answer – E

17. There are 4 sacral vertebrae of the patient on the X-ray picture. How many vertebrae are there in the sacral part of the vertebral column?
A – 2

B – 3

C – 4

D – 5

E – 6

Correct answer – D

18. There is devided sacral crest of the patient on the X-ray picture. Which processes are knited forming this sacral crest?

A – transverse

B – spinous

C – articular

D – additional

E – arches 

Correct answer – B

19. There is deformation of the vertebral column of the patient in region of the sacrovertebral angle. With which lumbar vertebra does the base of the sacrum form the sacrovertebral angle?

A – I

B – II

C – III

D – IV

E – V

Correct answer – E

20. The patient has the fracture of the coccygeal horns. Which coccygeal vertebrae’s processes transformed into the horns?

A – spinous

B – transverse

C – articular

D – arches

E – bodies

Correct answer – C

21. The patient must be made the sternal puncture. From which bone is the marrow taken during this procedure?

A – ribs

B – sternum

C – clavicle

D – scapula

E – humerus

Correct answer – B

22. The doctor palpates the angle’s sternum during physical examination. Between which parts of sternum is it located?

A –body and the manubrium

B –manubrium and the xiphoid process

C –manubrium and the body

D –suprasternal notch and the body

E –clavicular notch and the clavicle

Correct answer – A

23. There are fragments of the clavicle on the X-ray picture. With which formation of the sternum does it connect?

A –suprasternal notch

B –clavicular notch

C –costal notch

D –xiphoid process

E –manubrium of the sternum
Correct answer – B

24. There are fragments of the ribs on the X-ray picture. With which formation of the sternum do they connect?

A –suprasternal notch

B –costal notch

C –clavicular notch

D –xiphoid process

E –body of sternum

Correct answer – B

25. There is broken middle part of the sternum of the man injured in crash on X-ray picture. What is its name?

A – manubrium

B – body

C – xiphoid process

D – suprasternal notch

E – clavicular notch

Correct answer – B

26. There is the fracture of the posterior end of a rib. What is situated on this end?

A – body

B – neck

C – head

D – tubercle

E – angle

Correct answer – C

27. The patient has the fracture of the rib, in which the tubercle connects with the angle. Which rib has the tubercle and the angle, which are located in one place?

A – I

B – II

C – III

D – IV

E – V

Correct answer – A

28. The patient must be made the pleural puncture. Which the rib’s edge must be used to inject the needle during this manipulation?

A – superior edge

B – inferior edge

C – external surface

D – internal surface

E – anterior edge

Correct answer – A

29. The patient has the rib’s fracture, which contents the tubercle of the anterior scalenius muscle. What is this rib?

A – I

B – II

C – III

D – IV

E – V

Correct answer – A

30. The patient has the fracture of ribs, which don’t have any cartilages and finish in abdomen’s muscles. Which ribs are they?

A – I and II

B – III and IV

C – VI and VII

D – VIII and IX

E – XI and XII

Correct answer – E

31. The patient complains on the pain of the muscle located under the scapula. In which anatomical formation is this muscle located?

A – supraspinate fossa

B – subspinate fossa

C – subscapular fossa

D – costal surface

E – dorsal surface

Correct answer – C

32. There are expressed processes of the exhausted patient’s scapula on the dorsal surface under the skin. Which anatomical formation is this?

A – coracoid process

B – neck of the scapula

C – subscapular fossa

D – scapular spine

E – acromion

Correct answer – D

33. There is the small notch on the scapula’s edge which presents on the X-ray picture. Which edge of the scapula has the notch?
A – medial edge
B – superior edge

C – lateral edge

D – inferior edge

E – anterior edge

Correct answer – B

34. There is the fracture of the scapula’s neck on the X-ray picture. In which place of the scapula is this fracture located?

A – superior angle

B – medial edge
C – lateral angle

D – scapular spine

E – inferior angle

Correct answer – C

35. The humerus’ head is located out from the glenoid cavitas on X-ray picture. In which place of the scapula is the glenoid cavitas located?

A – superior edge

B – lateral angle
C – medial edge

D – supraspinate fossa
E – infraspinate fossa
Correct answer – B

36. There is opened fracture of the bones of the shoulder girdle, which the man has got. There are visible bone’s fragments of the wound located on the anterior surface of the body. Which bone has these fragments?

A – scapula 

B – clavicule

C – humerus

D – ulnar bone

E – radial bone

Correct answer – B

37. The patient complains on the pain at touching of the place, where the deltoid muscle attaches to the humerus. What is this place?

A – head of the humerus

B – tuberosity

C – condyle of the humerus 

D – major tubercle

E – minor tubercle
Correct answer – B

38. The man received trauma of the shoulder joint with teared articular capsule away. In which place of the humerus does the articular capsule attach to?

A – greater tuberosity

B – anatomical neck

C – lesser tuberosity

D – surgical neck

E – groove of the radial nerve

Correct answer – B
39. The patient has the fracture of the humerus in a typical place. In which definite place of the humerus are fractures happened often?

A – head of the humerus

B – anatomical neck

C – surgical neck

D – major tubercle

E – body of the humerus

Correct answer – C

40. The patient complains on the pain in region of the medial epicondyle of the humerus. What is located there?

A – small head of the humerus 

B – trochlea of the humerus

C – groove of the ulnar nerve

D – lateral epicondyle

E – greater tuberosity

Correct answer – C
41. The patient complains on the pain during palpation the external side of the forearm. Which bone of the forearm is broken?

A – ulnar bone

B – radial bone

C – humerus

D – femur

E – fibula

Correct answer – B

42. There is the fracture of the bone’s head located on lateral side and upper end of bone’s forearm. Which bone is injured?

A – ulnar bone

B – radial bone

C – humerus

D – femur

E – tibia 

Correct answer – B

43. There is swelling, which patient has, located on the anterior surface of the radial bone, where the biceps brachii attaches to this place. What is this anatomical formation’s name located on the radial bone?

A – tuberosity of the radial bone

B – tuberosity of the ulnar bone

C – ulnar notch

D – olecranon

E – articular fossa

Correct answer – A
44. There is broken process off from the external surface of the radial bone’s lower end on X-ray picture. What is this?

A – head of the bone

B – neck of the bone

C – styloid process

D – articular process

E – olecranon

Correct answer – C

45. The patient complains on the pain during pressing on the elbow. Which process of the ulnar bone is injured?

A – styloid process

B – coronoid process

C – olecranon

D – head of ulna 

E – tuberosity of the ulna 

Correct answer – C

46. There is broken process located below trochlear notch of the ulna on X-ray picture. Which process is broken?

A – olecranon

B – coronoid process

C – tuberosity of the ulna

D – styloid process

E – head of the ulna

Correct answer – B

47. There is broken process off located on the ulna’s lower end on X-ray picture. What is broken process’ name?

A – olecranon

B – styloid process

C – coronoid process

D – head of the ulna

E – tuberosity of the ulna

Correct answer – B

48. There is the fracture of the patient’s hook process on X-ray picture. Which carpal bone has this process?

A – scapoid bone

B – triquetral bone

C – hamate bone

D – trapezoid bone

E – pisiform bone 

Correct answer – C

49. There is the fracture of some metacarpal bones on X-ray picture. How many bones are there in the metacarpus.

A – I

B – II

C – III

D – IV

E – V

Correct answer – E

50. There is the fracture of the distal phalange of the thumb on X-ray picture. How many phalanges does the thumb have?

A – I

B – II

C – III

D – IV

E – V

Correct answer – B

51. The patient complains on the pain during siting. Which bone is injured?

A – sacrum

B – coccyx

C – ileum

D – ischium

E – pubis

Correct answer – D

52. There is the fracture in region of the acetabulum on X-ray picture. Which bone has the acetabulum?

A – hip bone

B – sacrum

C – coccyx

D – femur

E – tibia

Correct answer – A

53. There is the fracture in region of the pubic symphisis on X-ray picture. Which bone is broken?
A – sacrum

B – pubis 

C – ischium

D – ileum

E – coccyx

Correct answer – B

54. The patient complains on the pain in region of the wing of the hip bone. Which bone has the wing?
A – sacrum

B – coccyx

C – ileum

D – ischium

E – pubis 

Correct answer – C

55. The patient has swelling in region of the obturatum foramen. Which bone has this foramen?
A – coccyx

B – sacrum

C – hip bone

D – femur 

E – fibula

Correct answer – C

56. The old man broke the thigh. In which part of the hip bone is fracture happened more often in old people?

A – head of the hip bone

B – neck of the hip bone

C – greater trochanter

D – lesser trochanter

E – intertrochanteric chest

Correct answer – B

57. There is the big wound of the thigh, which patient has, and there are fragments outside. Which bone is broken?
A – hip bone

B – femur 

C – tibia

D – fibula

E – calcaneus 

Correct answer – B

58. The bullet came into the lower end of the femur’s internal surface during gun wounding. In which formation did it leave?

A – medial epicondyle

B – lateral epicondyle

C – greater trochanter

D – lesser trochanter

E – intertrochanteric fossa

Correct answer – A

59. The patient can not step on the heel. Which bone is injured?
A – navicular bone

B – cuneiforme bone

C – cuboid bone

D – talus bone

E – calcaneus bone

Correct answer – E

60. The woman complains that she can’t wear shoes because of there are cone shaped formations on medial edge of the foot. Which part of tarsal bones is developed so much?
A – head of I tarsal bone

B – head of II tarsal bone

C – head of III tarsal bone

D – head of IV tarsal bone

E – head of V tarsal bone

Correct answer – A

61. There is the fracture of the patient’s distal phalange of the I toe. How many phalanges does the I toe have?

A – I

B – II

C – III

D – IV

E – V

Correct answer – B
62. There is examined calcaneus spur, which patient has, on X-ray picture. Which tarsal bone has it?

A – talus bone

B – calcaneus bone

C – navicular bone

D – cuneiforme bone

E – cuboid bone

Correct answer – B

63. The patient complains on the pain of the anterior, medial surface of the leg. Which bone is palpated there?

A – patella
B – tibia

C – fibula

D – femur

E – calcaneus 

Correct answer – B

64. There is the fragment of the tibia’s lower end on X-ray picture. What is its name?

A – medial ankle
B – lateral ankle
C – tuberosity

D – medial condule
E – lateral condule

Correct answer – A

65. There is the fracture of bone located on the lateral side of the leg on X-ray picture. Which bone is broken?

A – tibia

B – fibula

C – humerus

D – femur

E – ulna

Correct answer – B

66. There is swelling on the patient’s anterior medial surface of the leg during palpation. In which bone of the leg is it located?

A – tibia

B – fibula

C – condyle

D – femur

E – ulna

Correct answer – A

67. The patient has the trauma of the skull’s superior surface. Which bone is broken more?

A – frontal bone

B – occipital bone 

C – parietal bone

D – sphenoid bone

E – temporal bone

Correct answer – C

68. The patient has the orbite’s trauma. Which part of the frontal bone is broken more?

A – frontal fossa

B – nasal part

C – ethmoid lamina

D – orbital part

E – vomer

Correct answer – D

69. The patient has the trauma of the skull’s posterior surface. Which bone is broken more?
A – frontal bone

B – temporal bone

C – occipital bone

D – parietal bone

E – sphenoid bone

Correct answer – C

70. The patient has the trauma along middle line of the skull’s roof. Which sutura is injured?

A – coronoid

B – lambdoid

C – squamous

D – sagital

E – zygomatic

Correct answer – D

71. The external tuberosity of the occipital bone is injured. What lines of the occipital bone can be broken?

A – superior temporal line

B – inferior nuchae line

C – superior nuchae line

D – inferior temporal line

E – occipital line

Correct answer – C

72. The occipital bone is injured. There are fractures of internal occipital protuberancia on X-ray picture. In which groove of the occipital bone is trauma located?

A – groove of superior sagital sinus

B – groove of carotid channel

C – groove of sigmoid sinus

D – groove of transverse sinus

E – groove of tentirium
Correct answer – D

73. The lambdoid sutura of the occipital bone is injured. Which part of the bone must be operated by surgeons?
A – basilar part

B – lateral part

C – occipital squama

D – occipital condyles

E – jugular notch

Correct answer – C

74. The patient has the trauma of the superior part of the occipital bone. Which bone can be injured the first?
A – frontal bone

B – sphenoid bone

C – ethmoid bone

D – parietal bone

E – temporal bone

Correct answer – D

75. There is the trauma of the occipital bone’s basilar part. Which tubercle can be broken?

A – jugular tubercule

B – occipital protuberantia

C – frontal tuberosity 

D – pharyngeal tubercle

E – articular tubercule of the temporal bone

Correct answer – D

76. There is the trauma of the occipital condyle. Which channel located under the occipital condyle can be injured?
A – optic channel

B – carotid channel

C – hypoglossal channel

D – musculotubarius channel

E – facial channel

Correct answer – C
77. There is fracture of the skull’s base located in the turkish sedle’s region after the trauma on the X-ray picture. Which bone is injured?
A – temporal bone
B – sphenoid bone

C – frontal bone

D – occipital bone
E – parietal bone

Correct answer – B

78. The patient has the inflammation of the optic nerve. Which foramen of the sphenoid bone does this nerve pass through?
A – round foramen

B – oval foramen

C – spinous foramen
D – optic channel

E – carotid channel

Correct answer – D

79. There is the internal carotid artery’s bleeding of the fracture of the skull’s base. Which place of the sphenoid bone does it pass through?

A – optic channel
B – oval foramen 

C – carotid groove
D – groove of the chiasma

E – spinous foramen

Correct answer – C

80. There are signs of the trauma of the inferior cerebral appendix after the fracture of the skull’s base. In which place of the sphenoid bone is this appendix located?
A – minor wings
B – major wings
C – turkish sedle

D – sphenoid sinus 

E – back of the turkish sedle

Correct answer – C

81. The patient has signs of movements' blocking of the eyeball after the skull’s trauma. In which place of the skull do the nerves supplying the eyeball’s muscles pass through?

A – round foramen

B – oval foramen

C – spinous foramen

D – optic channel
E – superior orbital fissura

Correct answer – E
82. There is the trauma of the orbite’s lateral wall. Which part of the sphenoid bone can be broken?
A – minor ala

B – body of the bone

C – pterygoid process

D – major ala

E – turkish sedle

Correct answer – D
83. There is the trauma of the orbite’s superior wall. Which part of the sphenoid bone can be broken?

A – minor ala

B – major ala

C – body of the bone

D – pterygoid process

E – round foramen

Correct answer – A

84. The patient, who was hospitalized, has the trauma of the nose. There is the fracture of the nasal bony septum in the anterior part. Which bone was injured after the trauma?

A – frontal bone

B – sphenoid bone

C – ethmoid bone

D – zygomatic bone

E – nasal bone

Correct answer – C

85. The patient has inflammation process spread in the anterior cranial fossa from the nasal cavity. Which anatomical formation separates the nasal cavity from the skull’s cavity?

A – inferior wall of the nasal cavity

B – superior wall of the nasal cavity

C – anterior wall of the pterygoid fossa

D – superior wall of the nasal cavity and the ethmoid lamina of the ethmoid bone

E – medial wall of the nasal cavity

Correct answer – D

86. The doctor made diagnosis, that the patient has injured superior nasal concha. Which bone of the skull does this concha belong to?

A – frontal bone

B – nasal bone

C – sphenoid bone

D – ethmoid bone

E – temporal bone

Correct answer – D

87. The patient was made diagnosis inflammation of the facial nerve. In which bone of the skull is the facial nerve located?

A – frontal bone

B – occipital bone

C – sphenoid bone

D – temporal bone

E – parietal bone

Correct answer – D

88. The patient was made diagnosis inflammation of vestibulocochlear nerve. Which the skull’s bone does this nerve pass through?

A – frontal bone

B – temporal bone

C – sphenoid bone

D – occipital bone

E – parietal bone 

Correct answer – B

89. The patient has the carotid artery’s bleeding after the skull’s trauma. Which channel and part of the temporal bone does this artery pass through?

A – facial channel of the petrosus part

B – musculotubarius channel of the petrosus part

C – carotid channel of the petrosus part

D – internal acustic porus

E – external acustic porus

Correct answer – C

90. The fracture of the zygomatic arch was diagnosed after the trauma. Which part of the temporal bone takes part in formation of the zygomatic arch?
A – styloid process

B – mastoid process

C – squamous part

D – zygomatic process

E – tympanic part

Correct answer – D

91. The patient was made diagnosis paresis of the facial nerve. Which foramen of the skull does this nerve come out on the face?

A – round foramen

B – oval foramen

C – external foramen of the carotid channel

D – stylomastoid foramen
E – opening of the sphenoid sinus

Correct answer – D

92. The patient's hearing decreased so much after the trauma of the temporal bone’s petrosus part. Which cavity of the temporal bone was injured?

A – tympanic cavity

B – carotid channel

C – tympanic part

D – cavity of the mastoid process

E – cavity of the zygomatic process

Correct answer – A

93. The muscle tensing the tympanic membrane was injured after the trauma of the skull and the temporal bone. In which channel is this muscle located?

A – carotid channel

B – facial channel

C – tympanic small channel

D – musculotubarius channel

E – mastoid channel

Correct answer – D

94. The patient feels the pressure inside the ear. Which channel connects environment with the tympanic cavity?

A – facial channel

B – mastoid channel

C – channel of tympanic chorda

D – carotid channel

E – musculotubarius channel
Correct answer – E

95. The patient was hospitalized with the trauma of the nose’s back. There is the fracture of the bone on X-ray picture. Which bone is injured?
A – lacrimal bone

B – nasal bone

C – frontal bone
D – zygomatic bone

E – maxilla

Correct answer – B

96. The patient’s inferior-lateral wall of the orbite is injured. There is the fracture of bone on X-ray picture. Which bone is injured?
A – lacrimal bone

B – nasal bone

C – frontal bone

D – maxilla

E – zygomatic bone 

Correct answer – E

97. The patient has the trauma of the face in region of the canine fossa. Which bone is injured?

A – zygomatic bone 

B – frontal bone

C – maxilla

D – mandibula
E – nasal bone

Correct answer – C
98. The patient has inflammation of the second branch of the trigeminal nerve. Which place of the skull is the pain point of this nerve?

A – glabella

B – temporal region

C – mental foramen
D – infraorbital fossa

E – supraorbital fossa 

Correct answer – D

99. For the first the nasal bones are injured at the trauma of the nose’ back, but the maxilla’s part can be injured with them. Which part of the maxilla can be injured?
A – body of the bone

B – frontal process

C – zygomatic process

D – palate process

E – alveolar process

Correct answer – B

100. The patient has the fracture of the nasal septum’s posterior part. Which bone is injured?

A – frontal bone

B – basilar bone

C – nasal bone 

D – vomer 

E – ethmoid bone

Correct answer – D

101. The patient has inflammation of the trigeminal nerve’s the third branch. Which the skull’s place is the pain point of this nerve?
A – glabella
B – temporal bone

C – mental foramen

D – supraorbital foramen

E – infraorbital foramen 

Correct answer – C 

102. The patient has the skull’s trauma in region of the mandibular joint. Which part of the mandibule can be injured?

A – body of the mandible

B – alveolar part

C – mental tuberosity

D – articular process

E – branch of the mandible

Correct answer – D

103. The patient, who has inflammation of the right masseter muscle, complains on the pain of the mandible, where this muscle attaches to.
A – branches of the mandible
B – mylohyoid line

C – coronoid process
D – head of the mandible

E – angle of the mandible, external surface

Correct answer – E

104. The patient has inflammation of the temporal muscle. There is the pain in place, where muscle attaches at closing of the mouth. Which part of the mandible does the temporal muscle attach to?
A – branch of the mandible

B – mylohyoid line

C – coronoid process

D – external surface of the angle

E – internal surface of the angle

Correct answer – C

105. The patient felled down and he was hospitalized with the trauma of the head. What formation of the skull’s roof must be examined on the X-ray picture the first?

A – external plate 
B – spongy substance

C – internal plate

D – squama

E – occipital condyles

Correct answer – C
106. Forensic doctor must define the shape of the skull. Between what craniometrical points must he measure the skull’s width?
A – basion-eurion

B – nasion-opistocranion

C – eurion-eurion

D – opistocranion-nasion

E – eurion-opistocranion

Correct answer – C

107. Forensic doctor must define the skull’s shape. Between what craniometrical points must he measure the skull’s height?

A – nasion-basion

B – bregma-basion

C – opistocranion-nasion

D – prostion-basion

E – basion-nasion

Correct answer – B

108. Forensic doctor must define the skull’s shape. Between what craniometrical points must he measure the skull’s length?
A – bregma-opistocranion

B – nasion-opistocranion

C – eurion-opistocranion

D – eurion-opistocranion

E – basion-nasion                       
Correct answer – B

109. The patient has the trauma of the frontal bone’s anterior surface. Which brain’s lobes are located in the anterior cranial fossa? 

A – parietal lobes
B – frontal lobes

C – temporal lobes

D – occipital lobes

E – insula

Correct answer – B

110. The patient has the trauma of the skull, the fracture of the skull roof’s bones and injure of the cerebral membranes’ sinuses. Which sinuses are injured the first?

A – inferior sagital sinus

B – superior sagital sinus

C – cavernous sinus

D – sigmoid sinus

E – transverse sinus

Correct answer – B

111. The mother found the soft place on the anterior view of the head of her child. It was explained in hospital, that it is the anterior fonticle, which is necessary anatomical formation. When is this fonticle ossificated finally?

A – 3 month of life
B – 5 month of life
C – 10 month of life
D – 18 month of life
E – 25 month of life
Correct answer – D

112. The mother found the soft place in front of the ear. It was explained in hospital that this is the sphenoid fonticle – necessary formation. When is this fonticle ossificated finally?

A – 1 month of life

B – 3 month of life
C – 10 month of life
D – 20 month of life
E – 25 month of life
Correct answer – A

113. The mother found the soft place behind the auricle. It was explained in hospital that this is the mastoid process – necessary formation. When is this fonticle ossificated finally?

A – 1 month of life
B – 3 month of life
C – 10 month of life
D – 20 month of life
E – 25 month of life
Correct answer – A

114. The mother found the soft place on the head between occipital and parietal bones in her child. It was explained in hospital that this is the posterior fonticle – necessary formation. When is this fonticle ossificated finally?

A – 1 month of life
B – 2 month of life
C – 5 month of life
D – 10 month of life
E – 15 month of life
Correct answer – B

115. The patient has the conjunctivitis, the tear can not outflow from the orbite into the nasal cavity. Which channel does not work?

A – superior nasal meatus

B – middle nasal meatus

C – nasolacrimal channel 

D – pterygopalate channel

E – inferior nasal channel 

Correct answer – C

116. The patient has the trauma of the nose with injured nasal septum. Which bone is injured the first?

A – lacrimal bone

B – superior maxilla 

C – palate bone

D – ethmoid bone

E – zygomatic bone

Correct answer – D

117. The matter appeared in the end of the hard palate of the patient. It was diagnosed the inflammation of bone. Which bone is inflammated?

A – inferior nasal concha 

B – zygomatic bone

C – palate bone

D – lacrimal bone

E – nasal bone

Correct answer – C

118. The doctor diagnosed the fracture of the lacrimal bone during the trauma of the orbite. Which orbit’s wall contains this bone?

A – superior 

B – inferior 

C – lateral

D – medial

E – anterior 

Correct answer – D

119. The patient diagnosed diabetes has the dark patch in the left eyeball. It was diagnosed the atrophy of the optic nerve. In which channel of the skull does this nerve pass through?

A – carotid channel

B – optic channel

C – facial channel

D – superior orbital fissura 

E – round foramen

Correct answer – B

120. The patient has the trauma of the pterygoid fossa’s posterior surface. What is injured at this trauma?

A – maxillar tuberosity

B – branch of the mandibulla

C – lesser wing of the sphenoid bone

D – pterygoid process of the sphenoid bone

E – greater wing of the sphenoid bone

Correct answer – D

121. The patient has difficulty during avoiding of eyeballs aside. It was diagnosed the disease of the abducent nerve. Through which fissura the abducent nerve passes into the orbite?

A – optic nerve

B – oval foramen

C – superior orbital fissura

D – round foramen

E – inferior orbital fissura

Correct answer – C

122. The fossa, located at the bottom of the infratemporal fossa, is injured during the trauma of the infratemporal fossa. Which fossa is located at the bottom of the infratemporal fossa?

A – anterior cranial fossa

B – hypophisial fossa

C – middle cranial fossa

D – temporal fossa

E – pterygopalate fossa

Correct answer – E

123. The patient has inflammation of the orbit’s lateral wall. What is this wall formed by?

A – frontal process of the maxilla

B – alveolar process of the maxilla

C – greater wing of the sphenoid bone

D – lesser wing of the sphenoid bone

E – zygomatic process of the sphenoid bone

Correct answer – C

124. Anatomical formation, located between the temporal bone and the zygomatic bone, was injured during the trauma of the temporal bone. What is this anatomical formation’s name?

A – canine fossa

B – zygomatic arch
C – alveolar eminence

D – nasal notch

E – body of the maxilla

Correct answer – B

125. There was the break of the pubic symphisis during the giving the birth of a woman. Which type of connection is injured?

A – syndesmosis

B – synchondrosis

C – synostosis 

D – hemyarthrosis

E – diarthrosis

Correct answer – D

126. There is the transverse fissura of the lower one thirds of the humerus, which is not the fracture, in a 16 aged boy on X-ray picture. What is this fissura? 

A – syndesmosis

B – synchondrosis

C – synostosis 

D – hemyarthrosis

E – diarthrosis

Correct answer – B

127. The gyps must fix both, superior and inferior radioulnar joints during the fracture of the radial bone. What types of joints are radioulnar joints?

A – simple 

B – compound

C – complex

D – combined

E – amphiartrosis

Correct answer – D

128. The patient has usual dislocation of the shoulder joint. What type of joints is the shoulder joint?

A – spherical

B – cotilic

C – plane

D – throchlear

E – sedle shaped

Correct answer – A

129. The boy has the trauma of the hand with dislocation of the metacarpophalageal joint of the thumb. What type of joints is this joint?

A – throchlear

B – plane

C – cylindrical

D – sedle shaped

E – ellipsoid

Correct answer – D

130. There was the break of the fibrous ring of the intervertebral disc during the trauma. Which type of connections is the intervertebral disc?

A – synchondrosis

B – syndesmosis

C – synostosis 

D – synsarcosis

E – symphisis

Correct answer – A

131. There is the middle opening of the intervertebral disc on computer display. What this formed?
A – synchondrosis

B – syndesmosis

C – synostosis 

D – symphisis

E – synsarcosis

Correct answer – D

132. The patient has dislocation in both intervertebral joints. It happened, because these joints are:

A – simple

B – compound

C – combined

D – complex

E – amphiarthrosis

Correct answer – C

133. The pulposus nucleus came into the vertebral channel during the trauma in the patient. Which part of connection is injured?
A – anterior longitudinal ligament
B – posterior longitudinal ligament

C – yellow ligament

D – intervertebral ligament

E – interspinous ligament

Correct answer – B

134. The new born child does not hold the head because of inborn pathology. Thus there is no the cervical lordosis. In which age must this curve appear? 

A – 1 month

B – 2 month

C – 6 month

D – 10 month

E – 12 month

Correct answer – B

135. The frontal bone consists of two halfs on X – ray picture. Which sutura connects these halfs?

A – sagital sutura

B – coronoid sutura

C – metopic sutura

D – lambdoid sutura

E – squamous sutura
Correct answer – C

136. The break of ligaments fixing the second cervical vertebra’s dens happens during the fracture of the dens. Which ligaments are these?

A – ligament of the dens’ top

B – prerygoid ligaments

C – ligament of the dens’ top and prerygoid ligament

D – anterior longitudinal ligament

E – posterior longitudinal ligament

Correct answer – C

137. The occipital bone consists of four correct parts on X-ray picture of the head. It indicates about presence of:
A – fracture

B – temporary synchondrosis

C – permanent synchondrosis

D – symphisis

E – syndesmosis
Correct answer – B

138. The tectorian membrane exists as the protection of the spinal cord against injures. Which ligament is the continuation of the tectorian membrane?

A – anterior longitudinal ligament 

B – posterior longitudinal ligament

C – anterior atlantooccipital membrane

D – posterior atlantooccipital membrane

E – crusiforme ligament of the atlas

Correct answer – B
139. Dissection of the articular capsule must be made during operations of the mandibular joint. Which ligament will be dissected?

A – medial ligament

B – lateral ligament

C – sphenomandibular ligament

D – stylomandibular ligament

E – spheno-pterygoid ligament

Correct answer – B

140. There is the trauma of the right mandibular joint. After that the left one can not work. It happens because of these joints are:

A – simple

B – compound

C – complex

D – combined
E – no anyone mentioned
Correct answer – D

141. There was the fracture inside the mandibular joint during the trauma. What is the articular head formed by?
A – condular process

B – coronoid process

C – styloid process

D – mastoid process

E – no anyone mentioned
Correct answer – A

142. There was the fracture inside the mandibular joint during the trauma. What is the articular surface formed by?

A – temporal fossa

B – infratemporal fossa

C – pterygopalate fossa

D – mandibular fossa

E – no anyone before

Correct answer – D

143. Which bone formation preserves the head located in the mandibular joint from dislocation?

A – articular tubercle

B – neck of the mandibula

C – coronoid process

D – head of the mandibula

E – zygomatic arch

Correct answer – A

144. The capsule of the mandibular joint must be cut during surgical operation. Which is lower level of the capsule’s fixation?
A – zygomatic arch

B – neck of the mandible

C – pterygoid fossa

D – styloid process

E – mastoid process

Correct answer – B

145. There is no “darkening” of the cartilage between the sternum’s body and the xiphoid process. What did it form?
A – syndesmosis

B – synchondrosis

C – synostosis

D – synelastosis

E – synsarcosis

Correct answer – C

146. The rib of the costotransverse joint moves at the same time with the movement in the sternocostal joint. This happens because of these joints are:

A – simple

B – compaund

C – complex

D – combined

E – no anyone mentioned
Correct answer – D

147. There is the chink in the cartilage between the body and the manubrium of the sternum on the computer display. This formed to transformation of the cartilage into:

A – symphisis

B – syndesmosis
C – synelastosis

D – synsarcosis

E – synchondrosis

Correct answer – A

148. The place of the fracture passed through the joint between the bony and cartilage parts of ribs. Which joint is injured?

A – joint of the rib’s head

B – joint of the rib’s tubercle

C – costocartilage joint

D – interchondral joint

E – sternocostal joint

Correct answer – C

149. During the puncture of the bone marrow from the sternum its membrane is pierced. Which ligaments is the membrane formed by?

A – sternocostal radial ligaments

B – costotransverse upper ligaments

C – costotransverse lateral ligaments
D – costotransverse ligaments

E – radial ligaments of the rib’s head

Correct answer – A

150. Which ligament else, except radial sternocostal ligament, must be dissected to separate the second rib from the sternum?

A – sternocostal intracapsular
B – costotransverse superior
C – costotransverse lateral 
D – radial ligament of the rib’s head

E – intracapsular ligament of the rib’s head 

Correct answer – A

151. The patient’s thoracic cage has the hollow shape because of chronic diseases. Such thoracic cage is called as:

A – “shoe-maker’s”

B – conus shaped

C – keel shaped

D – barrel shaped

E – cilindrical

Correct answer – A

152. Some diseases make the patological deformation of the thoracic cage with the redundant of the sternum and horizontal position of the ribs. What is such thoracic cage's name? 
A – “shoe-maker’s”

B – conus shaped

C – keel shaped

D – barrel shaped

E – cilindrical

Correct answer – C
153. The costal arch is topographical marker for some internal organs. What cartilages is this arch formed by?

A – from 1 to 7

B – from 7 to 10

C – from 11 to 12

D – all mentioned before

E – no anyone mentioned before

Correct answer – B

154. The 11 and 12 ribs are taken out during cosmetic operations. Which ligaments must be dissected?

A – costotransverse superior 

B – costotransverse lateral 

C – costovertebral 

D – radial of the rib’s head

E – all mentioned before

Correct answer – E
155. There is the break of the clavicle from the sternum after the trauma. Which ligament were injured?

A – anterior sterno-clavicular

B – posterior sterno-clavicular
C – interclavicular 
D – costo-clavicular
E – all mentioned

Correct answer – E
156. There is the break of the clavicle from the scapula. Which ligaments were injured?

A – acromio-clavicular

B – conical 

C – trapezoid

D – all mentioned

E – no anyone mentioned

Correct answer – D

157. The scapula is hold by muscles near the thoracic cage. Such type of connection is called:

A – syndesmosis

B – synsarcosis

C – synchondrosis

D – symphisis

E – synostosis

Correct answer – B

158. The sternoclavicular joint conteins the disc for addition of conformity of the articular surfaces. That is why this joint is:
A – simple

B – compound

C – complex

D – combined

E – no anyone mentioned 

Correct answer – C

159. The patient has the usual dislocation in the shoulder joint, because the articular surfaces of this joint are unconformable. Which additional part is situated in this joint for prevention of dislocations?

A – disc
B – menisc
C – labrum

D – all mentioned

E – no anyone mentioned

Correct answer – C

160. The glenoidal labrum exists in the shoulder joint for prevention of dislocations. It transforms this joint into:

A – complex

B – combined

C – simple

D – compound

E – no anyone mentioned

Correct answer – A
161. The muscle’s tendo passes through the shoulder joint’s capsule for prevention of pinching of the capsule. Which muscle is this?
A – long head of the biceps brachii

B – short head of the biceps brachii

C – coracohumeral

D – long head of the triceps brachii

E – all mentioned

Correct answer – A

162. The shoulder joint’s capsule must be dissected to have surgical access. Which ligament will be dissected?

A – coraco-acromial

B – coraco-clavicular

C – coraco-humeral

D – superior transverse of scapula

E – inferior transverse of scapula

Correct answer – C

163. The human being is able to move the upper limbs in the shoulder joint around all three axes. Which shape does the shoulder joint have?
A – plane

B – spherical

C – ball-and-socket

D – saddle

E – ellipsoid

Correct answer – B

164. The patient has the injured shoulder joint. What is the joint’s head formed by?

A – head of the humerus

B – capitulum of the humerus

C – trochlea of the humerus

D – condyle of the humerus

E – no anyone mentioned

Correct answer – A

165. The patient has dislocation of the elbow joint. What is the articular head formed by?

A – capitulum of the humerus

B – trochlea of the humerus

C – both mentioned formations

D – head of the radius

E – olecranon

Correct answer – C
166. The patient has injuries of the elbow joint. What is the articular depression formed by?

A – head of the radial bone

B – trochlear notch

C – both mentioned formations

D – capitulum of the humerus

E – trochlea of the humerus

Correct answer – C

167. The elbow joint’s ligaments must be dissected to have surgical access of the lateral side of articular cavity. What is this ligament?
A – colateral radial

B – colateral ulnar

C – anulare radii

D – quadratum 

E – oblique chorda 

Correct answer – A

168. The surgeon must dissect the elbow joint’s capsula from the medial side. Which ligament must be dissected?

A – colateral ulnar

B – colateral radial

C – anular of the radius
D – quadratum 

E – oblique chorda 

Correct answer – A

169. Some ligaments of the elbow joint must be dissected for amputation of the forearm. What are these ligaments?
A – colateral radial

B – colateral ulnar

C – oblique chorda

D – all mentioned 

E – no anyone mentioned 

Correct answer – D

170. The interosseal membrane must be dissected during some surgical operations. What formation of bones does this membrane attach to?

A – interosseal edge of both bones of the forearm

B – anterior edge of both bones of the forearm

C – posterior edge of both bones of the forearm
D – anterior surface of both bones of the forearm

E – posterior surface of both bones of the forearm
Correct answer – A

171. The gyps must fix both the proximal and distal radio-ulnar joints during the fracture of the radial bone, because these joints are:
A – complex

B – combined

C – simple

D – compound

E – no anyone mentioned

Correct answer – B

172. The radial bone can move around vertical axis. Which ligament holds the radius’ head next to the radial notch?
A – colateral radial

B – colateral ulnar

C – anular radial

D – quadratum 

E – oblique chorda

Correct answer – C

173. The boy had the trauma of the hand with dislocation in metacarpophalangeal joint of the thumb during the fighting. Which type is this joint?

A – trochlear
B – plane

C – cilindrical

D – saddle

E – ellipsoid

Correct answer – D

174. The patient has dislocation in metacarpophalangeal joint of the third and forth fingers. Which type are these joints?
A – spherical

B – ellipsoid

C – seddle

D – trochlear

E – cilindrical
Correct answer – A

175. Some radiocarpal ligaments must be dissected for amputation of the hand. What are these ligaments?

A – colateral radial carpi

B – colateral ulnar carpi
C – anterior radio-carpal
D – posterior radio-carpal
E – all mentioned
Correct answer – D
176. Dislocation happens in the radio-carpal joint sometimes. There is the triangle-shaped disc between the wrist and the ulna’s head. It transforms this joint in:

A – combined

B – complex

C – simple

D – compound

E – no anyone mentioned

Correct answer – E

177. The ligament must be dissected to have surgical access to the radio-carpal joint’s cavity from the medial side. Which ligament is this?
A – colateral radial carpi

B – colateral ulnar carpi

C – anterior radio-carpal

D – posterior radio-carpal

E – no anyone

Correct answer – B

178. The radio-carpal joint’s lateral side must be dissected to have the surgical access for using of the articular cavity. Which ligament will be dissected?

A – colateral radial carpi

B – colateral ulnar carpi

C – anterior radio-carpal

D – posterior radio-carpal

E – no anyone

Correct answer – A
179. The carpal bones form the carpal channel of muscles’ tendos, connecting with each other. What parts of the bones form this channel?
A – pisiforme bone

B – hook of the hamatum

C – tubercle of the scaphoideum

D – tubercle of the trapezoideum
E – all mentioned

Correct answer – E
180. The mediacarpal joint has S-shape, articular surfaces have spherical shape. What type of joints is this joint?

A – ellipsoid

B – saddle

C – cilindrical

D – spherical

E – no anyone mentioned

Correct answer – D

181. The woman had the break of the pubic symphisis during giving the birth. Which type of connection was injured?

A – syndesmosis

B – synchondrosis

C – synostosis

D – hemyarthrosis

E – diarthrosis

Correct answer – D

182. The ligaments were broken during the trauma, which holding sacroiliac joint. What are these ligaments?

A – anterior sacro-iliac

B – posterior sacro-iliac

C – intracapsular sacro-iliac

D – iliaco-transverse

E – all mentioned

Correct answer – E

183. The pubic symphisis was broken during the trauma. What ligaments were injured?

A – superior pubic 

B – arcuate pubic

C – both mentioned

D – pubo-femoral

E – no anyone

Correct answer – C

184. The patient has the gernia of the major ischiadic foramen. What ligaments form this foramen?

A – sacro-spinale

B – sacro-tuberal

C – both

D – falciforme process

E – iliaco-transverse

Correct answer – A

185. The sacro-iliac joint has the plane articular surfaces with small amplitude of movements. What type of joints is this?

A – ellipsoid

B – saddle

C – amphiarthrosis

D – spherical

E – cilindrical

Correct answer – C

186. The obturate channel is formed by the obturate membrane. What type of connection is this membrane?

A – syndesmosis

B – synchondrosis

C – synostosis

D – symphisis

E – diarthrosis

Correct answer – A
187. The patient has the gernia of the obturate channel. What is this channel formed by?

A – obturate membrane 

B – falciforme process

C – both formations

D – sacro-spinal 

E – sacro-tuberale

Correct answer – A

188. The pelvic ring was injured with the break of the sacro-iliac joint’s ligaments during the trauma. What ligaments were injured?

A – anterior sacro-iliac

B – posterior sacro-iliac

C – intraosseal sacro-iliac

D – iliaco-transverse

E – all mentioned

Correct answer – E

189. The patient has fracture and injured of the pelvis ring in the pubis symphisis during car crash. What ligament were injured?
A – superior pubis

B – arcuate pubis

C – both

D – pubo-femoral

E – no anyone

Correct answer – C

190. The sacro-iliac joint’s capsule must be dissected partly from upper part for surgical access. What ligament will be dissected?

A – anterior sacro-iliac

B – posterior sacro-iliac

C – intracapsular sacro-iliac

D – ilio-transverse

E – no anyone

Correct answer – D

191. There is bleeding of the hip joint’s cavity during the trauma. Which ligament was injured?
A – iliaco-femoral

B – pubo-femoral

C – ischio-femoral

D – head of the femur

E – orbicular zone

Correct answer – D

192. There is Y-shaped cartilage on the hip joint’s X-ray picture. Which type of connection is this?
A – syndesmosis

B – synchondrosis

C – synosthosis

D – symphisis

E – diarthrosis

Correct answer – B
193. The 10 years aged boy has the cartilage between separated bones of the hip bone on the hip joint’s X-ray picture. In which age does this cartilage disappear?

A – 1 year after the birth

B – 2 years

C – 5-6 years

D – 15-16 years

E – it stays for all life

Correct answer – D

194. The hip joint’s ligaments must be dissected, which holding this joint, for amputation of the lower limb. What are these ligaments?
A – ilio-femoral

B – pubo-femoral

C – ischio-femoral

D – orbicular zone

E – all mentioned

Correct answer – E

195. There are special formations of the hip joint for prevention of dislocation. What is this?
A – discs

B – meniscs

C – labrum 
D – all mentioned

E – no anyone mentioned

Correct answer – C

196. There is the broken ligament holding meniscs during the trauma of the knee joint. These meniscs came aside. Which ligament is this?
A – anterior cruciforme

B – posterior cruciforme

C – transverse genus

D – lateral retinaculum patellae

E – medial retinaculum patellae

Correct answer – C

197. The knee joint’s ligament must be dissected with moving upwards the patella for surgical access. Which ligament is this?

A – lateral retinaculum patellae

B – medial retinaculum patellae
C – ligament of the patellae

D – collateral fibular

E – collateral tibiae

Correct answer – C

198. The knee joint’s articular surfaces are different. Which formation exists for conformity of articular surfaces?

A – discs 
B – meniscs

C – labrum 

D – all mentioned

E – no anyone mentioned

Correct answer – B

199. There is the break of the fibula from the tibia in the tibiofibular joint during the trauma. Which ligaments were injured?

A – anterior of the fibula’s head

B – posterior of the fibula’s head

C – both mentioned

D – anterior interfibular

E – posterior interfibular

Correct answer – C

200. The interosseal membrane of the leg must be dissected sometimes during surgical operation. Which type is this connection?
A – syndesmosis

B – synchondrosis

C – symphisis

D – synostosis

E – synsarcosis

Correct answer – A

201. There is opening in the region of the tibia’s tuberosity, which independent from the trauma, on 5 years aged boy’s X-ray picture. What is this opening? 

A – syndesmosis

B – temporary synchondrosis

C – permanent synchondrosis

D – synostosis

E – symphisis

Correct answer – B

202. The gyps must fix both joints between the tibia and the fibula during the fracture of the tibia. These joints are:
A – complex

B – combined

C – simple

D – compound

E – no anyone mentioned

Correct answer – B

203. The leg was amputated in the middle part of the leg. What protects divergence of the proximal ends of the tibia and the fibula?

A – anterior ligament of the fibula’s head

B – posterior ligament of the fibula’s head
C – both

D – interosseal membrane

E – no anyone mentioned 

Correct answer – D

204. The patient has the break of the patellar ligament. Where does this ligament attach to the leg’s bones? 

A – tibial tuberosity

B – head of the tibia

C – lateral condyle 

D – medial condyle
E – soleus line

Correct answer – A
205. The patient injured the leg in the ankle joint. There were tension of ligaments from medial side. What ligaments were injured?

A – deltoid

B – calcaneo-tibial

C – anterior talo-tibial

D – posterior talo-tibial

E – no anyone

Correct answer – A

206. The patient has pain of the lateral region of the ankle joint after the trauma. What ligaments were injured?

A – calcaneo-fibular

B – anterior talo-fibular

C – posterior talo- fibular

D – all mentioned

E – deltoid 

Correct answer – D

207. The patient has the amputation in Shopari joint. Which ligament is the key of this joint?
A – bifurcatum

B – deltoid

C – calcaneo-scaphoideum

D – cuneiformo-metatarsal interosseal

E – no anyone

Correct answer – A

208. The patient must be amputated the foot in Lysfrank’s joint. Which ligament is the key of this joint?

A – bifurcatum

B – deltoid

C – calcaneo-scaphoideum

D – cuneiformo-metatarsal interosseal

E – no anyone

Correct answer – D

209. The foot has arched structure as norma. Which ligament holds these arches?

A – bifurcatum

B – cuneiformo-metatarsal 
C – long plantar

D – plantar

E – all mentioned together

Correct answer – C

210. The fingers unblended upwards in the interphalageal joints during the trauma. What ligaments were injured?

A – long plantar

B – plantar

C – collateral

D – tarso-metatarsal

E – no anyone

Correct answer – B

211. The ankle joint’s ligament must be dissected to have surgical access from medial side of the joint. Which ligament is this?
A – calcaneo-fibular

B – anterior talo-fibular

C – posterior talo-fibular
D – deltoid

E – bifurcatum

Correct answer – D
212. There are only flexion and extension in the ankle joint, as norma. What shape is this joint?
A – cilindrical

B – trochlear

C – condylar

D – elipsoid

E – saddle

Correct answer – B

213. The sportsman handing the horizontal bar can not pull his body to the arms after falling down from the horizontal bar. Which muscles were injured?

A – trapezoid

B – levator scapulae

C – rhomboid

D – latissimus dorsi

E – anterior seratus

Correct answer – D

214. Muscle lifting the scapula is not the only one in this movement. Which muscle has the same function?

A – minor rhomboid

B – major rhomboid

C – supraspinatus

D – infraspinatus

E – trapezoid (upper fibers)

Correct answer – E

215. The patient complains on the big pain from right side during turning and extension of the head. Which muscle having this dysfunction can be?

A – trapezoid 

B – splenius capitis and splenius colli

C – upper part of the longissimus muscle

D – spinalis muscle

E – multifidus muscle

Correct answer – B

216. The paresis of muscles becomes during long frozing, which following impossibility of bending of the head and the neck. What muscles are injured?

A – rhomboid

B – trapezoid

C – longissimus

D – splenius capitis and splenius colli

E – latissimus

Correct answer – E

217. The hard trauma of the back’s muscles led to impossibility of turning movements of the vertebral column. What muscles were injured?
A – spinosus 

B – longissimus

C – latissimus

D – transverso-spinosus

E – rhomboid

Correct answer – D
218. The deep muscles of the back can take part in the respiratory act in case if there is the trauma or dysfunction of the main respiratory muscles. What deep muscles are these? 

A – multifidi

B – semispinale

C – levator costae brevis

D – levator costae longus

E – levator costae brevis and longus

Correct answer – E

219. The trauma of the back’s muscles is accompanied by the trauma of the back’s fascia. Which the biggest back’s fasciae exist?

A – superficial fascia

B – occipital fascia

C – deep fascia of the back
D – superficial lamina of the deep fascia

E – superficial and toracodorsal fasciae
Correct answer – E

220. Some muscles fix the scapula together with the anterior seratus muscle during the process of the plastic operation. What are these muscles?

A – deltoid

B – major teres

C – minor teres

D – levator scapulae

E – rhomboid and trapezoid

Correct answer – E

221. The head’s muscles are divided into masticatory and facial expression muscles. What are masticatory muscles? 

A – temporal, masseter muscles

B – lateral pterygoid muscles

C – medial pterygoid and masseter muscles

D – temporal and lateral pterygoid muscles

E – lateral and medial pterygoid muscles, masseter and temporal muscles

Correct answer – E

222. The patient complains on handing down of the mandible, which complicating the masticatory act. Which muscles are injured?

A – lateral pterygoid muscles

B – medial pterygoid muscles

C – masticatory and lateral pterygoid muscles

D – temporal and masticatory muscles

E – both pterygoid muscles

Correct answer – D

223. The patient complains on difficulty of movements forward and aside of the mandible. What muscles were injured?

A – temporal
B – buccal 

C – pterygoid

D – masseter 

E – mental

Correct answer – C

224. Which muscles belong to muscles of facial expression?

A – muscles of the scalp and the external ear

B – orbicularis oculi muscle
C – muscles of the nose and the ear

D – orbicularis oris muscle

E – muscles of the scalp, the external ear, the nose, the orbicular mouth and  eyeball 

Correct answer – E

225. The artist complains on impossibility of making of proud expression of the face. Which mimic muscle is injured?

A – frontal

B – orbicularis muscle

C – procerus muscle

D – epicranius

E – corugator supercilii

Correct answer – C

226. What belongs to the head’s fasciae?

A – cranial aponeurosis

B – temporal and masseteric fasciae

C – cranial aponeurosis and temporal fascia

D – parotid fascia

E – parotido-masseteric fascia, bucco-pharyngeal fascia, temporal fascia

Correct answer – E

227. The artist complains on impossibility of making his face smiling. Which muscle was injured?
A – buccal and mental

B – major zygomatic

C – major zygomatic and buccal

D – major zygomatic and rizorius 

E – levator labii superior 

Correct answer – D

228. The artist complains on impossibility to make sad expression of his face. Which muscle was injured?

A – levator anguli oris

B – depressor labii inferior 

C – depressor anguli oris

D – mental

E – orbicularis oris

Correct answer – C

229. The air embolia can appear in vessels at opened injures of the skin and the superficial muscles. Which injured muscle of the neck can cause this disease.
A – sternoclaidomastoideus

B – platysma

C – sternohyoideus

D – sternothyroideus

E – omohyoideus

Correct answer – B
230. Inborn spastic contraction of muscle located on one side of the neck causes the anomaly called “curve neck”. Which muscle is this?
A – platysma

B – sternoclaidomastoideus
C – omohyoideus

D – sternohyoideus

E – sternothyroideus

Correct answer – B

231. The common carotid artery is pressed below the place of injure to the vertebral columne in region of the carotid triangle. What muscles form bounders of this triangle?
A – sternoclaidomastoideus, posterior venter of digastricus, superior venter of omohyoideus
B – sternoclaidomastoideus, inferior venter of omohyoideus, anterior venter of digastricus 

C – trapezoid, sternoclaidomastoideus, thyrohyoideus

D – sternohyoideus, superior venter of omohyoideus, trachea

E – trapezoid, sternoclaidomastoideus, omohyoideus

Correct answer – A

232. A doctor uses the triangles, where vascular and nervous formations are located, to make diagnosis their injures. What triangles are defined in anterior region of the neck from each side?
A – submandibular

B – submandibular and omotracheal

C – carotid

D – submandibular, carotid  and omotracheal

E – omotracheal, carotid

Correct answer – D

233. What triangles are located in posterior region of the neck?

A – omotrapezoid

B – carotid

C – omoclavicular

D – submandibular
E – omotrapezoid and omoclavicular

Correct answer – E

234. The submandibular triangle is the region of the submandibular gland, large vessels and nerves, used for surgical access. What muscles form this triangle?
A – stylohyoideus, anterior venter of digastricus, sternoclaidomastoideus

B – omohyoideus, sternoclaidomastoideus, trapezoid

C – omohyoideus, sternoclaidomastoideus, trapezoid

D – anterior and posterior venters of digastricus, inferior edge of the mandible

E – mandibule, sternoclaidomastoideus, omohyoideus

Correct answer – D

235. Arterial bleeding of the tongue’s injure is blocked by bandaging of the lingval artery located in Pirogov’s triangle of the neck. The superior side of this triangle is formed by the hypoglossal nerve anterior and posterior sides are formed by muscles. What are these muscles?

A – stylohyoideus, anterior venter of digastricus

B – omohyoideus and posterior venter of digastricus 

C – anterior venter of digastricus and omohyoideus

D – omohyoideus and trapezoid

E – trapezoid and sternoclaidomastoideus
Correct answer – B

236. The superficial group of the neck’s muscles consists of:

A – platysma, sternocleidomastoideus

B – sternocleidomastoideus, omohyoideus 

C – sternohyoideus, platysma

D – platysma, sternocleidomastoideus

E – sternothyroideus, thyrohyoideus

Correct answer – D

237. The group of muscles, located below the hyoid bone, consists of:

A – sternothyroideus, thyrohyoideus

B – omohyoideus, sternothyroideus

C – thyrohyoideus, sternohyoideus

D – sternohyoideus, thyrohyoideus, sternothyroideus, omohyoideus

E – digastricus, omohyoideus

Correct answer – D

238. The group of muscles located above the hyoid bone consists of:

A – digastricus, stylohyoideus

B – omohyoideus, digastricus

C – stylohyoideus, digastricus, omohyoideus, geniohyoideus

D – stylohyoideus, omohyoideus

E – omohyoideus

Correct answer – C

239. It must be immediate help at injure of the subclavian artery. This artery and the brachial plexus’ nerves are located in the interscalenious space of the neck. What is this boundered?

A – anterior and posterior scalenius muscles
B – anterior and middle scalenius muscles

C – in front of the anterior scalenius muscles

D – behind the posterior scalenius muscles

E – anterior, middle scalenius muscles

Correct answer – E
240. The deep group of the neck’s muscles is situated next to the vertebral column and take part in its movements. These muscles are divided into lateral and medial groups. The medial group consists of:

A – longus capitis, anterior rectus capitis

B – longus capitis, longus cervicis

C – lateral rectus capitis, longus cervicis

D – longus cervicis, longus capitis, anterior and lateral rectus capitis

E – anterior and lateral rectus capitis

Correct answer – D

241. The deep muscles of the neck’s muscles are situated next to the vertebral column and take part in its movements. These muscles are divided into lateral and medial groups. The lateral group consists of:

A – anterior scalenius

B – posterior scalenius

C – anterior and posterior scalenius

D – anterior, middle and posterior scalenius

E – middle scalenius

Correct answer – D

242. The neck’s fascia is formed by lists, because there are internal organs, large blood vessels and difficult topography of the neck’s muscles. What are these lists?
A – superficial fascia and proper fascia

B – superficial and deep fascia

C – proper and internal fascia

D – superficial, proper, deep, internal, prevertebral fasciae

E – superficial, proper, prevertebral fasciae

Correct answer – D

243. There are interfascial spaces located between fascial lists of the neck. What are these interfascial spaces?

A – suprasternal, previsceral

B – suprasternal, pretracheal

C – previsceral, pretracheal

D – retrovisceral, previsceral

E – suprasternal, previsceral, pretracheal, retrovisceral

Correct answer – E

244. The patient can not move aside his arm more than 90°, as result of disturbance of motor function. What muscles were injured?

A – deltoid, supraspinalis

B – trapezoid, deltoid

C – supraspinatus, trapezoid

D – anterior serratus, supraspinatus

E – anterior serratus and trapezoid

Correct answer – E

245. The patient having disturbance of breathing is recomendated to fix upper limbs for relieved inspiration. What muscles make breathing in?

A – transverse thoracic

B – intercostal

C – posterior serratus

D – major and minor pectoral, anterior serratus

E – phrenicus

Correct answer – D

246. The injured patient could not lift the scapula upwards after wounding. What muscles were injured?

A – rhomboid muscles

B – levator scapulae muscle and trapezoid muscle

C – anterior serratus

D – latissimus dorsi muscle

E – supraspinatus

Correct answer – B

247. Movements of the shoulder joint are limited after the trauma. Exception is adduction. What muscle was injured more?

A – major pectoral

B – minor pectoral

C – latissimus dorsi

D – deltoid

E – supraspinatus

Correct answer – D

248. What fascia cover the internal surface of the thoracic cage?

A – thoracic

B – pectoral

C – clavipectoral

D – axillar

E – endothoracic

Correct answer – E

249. There are surgical operations on abdominal and thoracic surfaces of the diaphragm. What parts of right and left sides does the diaphragm have?

A – sternal, lumbar

B – sternal, costal

C – lumbar, costal

D – abdominal, thoracic

E – sternal, costal, lumbar on the right and left sides

Correct answer – E

250. The diaphragm is the respiratory muscle, which moves during breathing in and breathing out. Which position and condition does the diaphragm have during breathing in?
A – lowers, relaxes

B – lifts, relaxes

C – lifts, contracts

D – lowers, contracts

E – lifts, contracts

Correct answer – D

251. There is possibility of the gernia of the diaphragm during the giving the birth, because of high intraabdominal pressure. What are these places of the diaphragm?

A – place of passage of the aorta
B – place of ezophagus’ passage 

C – place of the inferior cava vein’s passage

D – triangles of the diaphragm
E – between cruses of the diaphragm
Correct answer – D

252. The strongest part of the diaphragm is lumbar (right and left), which is formed by some cruses. This information is used at surgical operations in region of the diaphragm. What are these cruses?
A – medial and lateral

B – medial and middle

C – middle and lateral

D – medial, intermediate and lateral

E – lateral, intermediate

Correct answer – D

253. What the biggest vessels pass through opening of the diaphragm?
A – aorta

B – aorta, cava vein

C – aorta, thoracic duct

D – aorta, thoracic duct, cava vein, azygos and hemiazygos veins

E – porta vein, aorta

Correct answer – D

254. If it is necessary to make inspection of the abdominal cavity, it must be opened the anterior abdominal wall. Which part of the anterior abdominal wall contains poor blood supply?

A – epigastral
B – mesogastral

C – hypogastral

D – white line

E – lateral parts

Correct answer – D

255. The patient needs to impove functions of oblique muscles of the abdomen. What movements does the patient need?

A – flexor of the trunk

B – extension of the trunk

C – turning around vertical axes and banging aside 

D – movements of the upper limbs

E – movements of the lower limbs

Correct answer – C

256. The rectus abdominal muscles must be strengthened to keep optimum form of the abdomen. What must be physical exercises?

A – turning around vertical axes

B – flexion and extension of the trunk

C – bending the trunk aside

D – movement of the shoulder girdle

E – movement of the hip girdle

Correct answer – B

257. A doctor pays attention, that muscles of abdomen and muscles of the back are antagonists. Which muscles of the abdomen are the main in flexion?
A – external obliquus

B – rectus abdominis

C – internus abdominis 

D – external and internal obliquus

E – transversus abdominis

Correct answer – B

259. The patient complains on the epigastrium, which can lead to development of the gernia. Which region of the body can be place of appearance of the gernia?
A – right anterior triangle of the diaphragm
B – left anterior triangle of the diaphragm

C – right posterior

D – left posterior

E – upper part of the white line of the abdomen

Correct answer – E

260. The patient has the oblique inguinal gernia, which must be operated. The gernia is located in the inguinal channel. What parts are there in the inguinal channel?

A -deep ring,upper and lover walls

В -superficial ring,upper and lower wolls

С -foth rings,upper and lower wolls

D -foth rings,upper,lower,anterior,posterior wolls

E -foth rings and tree walls
Correct answer-D

260. The gernias can appear in lower pars of the abdomen. What are these places of the abdomen?

A -umbilical ring

В -white line of the abdomen

С -external inguinal fossa                   

D -internal inguinal fossa, white line

E -inguinal fossa and channel, white line of the abdomen

           Correct answer – E
261. What regions are situated on anterior surface of the abdomen in epigastrium?

A -right hypochondriac and proper epigastric
В -right and left hypochondriac
С -right hypochondriac and umbilical
D -left hypochondriac and umbilical
E -proper epigastric, right and left hypochondriac

Correct answer-E

262.What regions are there in anterior surface of the abdomen in mesogastrium?

A -right lateral, umbilical 

В –umbilical, left lateral
С -umbilical region

D -right and left lateral regions

E -umbilical right and left lateral regions
Correct answer-E

263.
What regions are there on the anterior surface of the abdomen in hypogastrium?

A -left inguinal and pubic 
B-pubic, right inguinal

С -right and left inguinal


D -right and left inguinal, pubic 

E -pubic and inguinal edges     
Correct answer-D

264. The patient can not abduct the arm till the horizontal level after the trauma. What muscles were injured?

A -coracobrachial 

В –deltoid

С –brachial
D -infraspinatus 
E-supraspinatus 
Correct answer-В 

265. The patient can not turn the upper arm inside after the trauma. What muscles were injured?

A -supraspinatus, infraspinatus, minor teres
В -minor teres, anconeus, brachial

С -major teres, infraspinatus, latissimus dorsi

D - coracobrachialis, brachials, deltoideus
E -brachialis, anconeus, supraspinatus

 
Correct answer-C

266. The tumor is located on the axillar fossa's anterior surface beewen clavicule and the upper edge of the minor pectoral muscle. Which topographical area has the tumor?

A -clovopectoral triangle
В -supraspinate fossa 

С -pectoral triangle 

D -supraclavicular triangle
Correct answer-A

267.  The patient can not flex the arm in the shoulder joint after received plexitis. What muscles were injured?

A -supraspinatus, infraspinatus

В -triceps and anconeus 

С -biceps and coracobrachialis 

D -minor teres and brachialis

E -anconeus and brachialis 

Correct answer-C

268. The patient can not turn the upper arm inside after the trauma. What causes it?

A -injure of the infraspinatus and the minor teres muscles

В -injure of the major teres and the triceps muscles

С -injure of the anconeus

D -injure of the infraspinatus and supraspinatus muscles

E -injure of anconeus and infraspinatus

 
Correct answer-A

269. There is knife wound, which located between the surgical neck of the triceps brachii. What topographical area of the axillary fossa does the knife pass through?

A -supraspinate fossa

В -quadrilaterum foramen 

С -infraspinate fossa

D -trilaterum foramen

E -inferior foramen

 
  Correct answer-B

270. The patient can not lift the arm till the horizontal level. What muscles are injured? 

A -brachialis and coracobrachialis

В -deltoid and supraspinatus 

С -anterior serratus and trapezoid(upper fibers)

D -minor and major teres muscles 

E -brachialis and anconeus muscles

Correct answer-C

271.  The patient complans on impossibility of the extension of the arm in the shoulder joint after the trauma. What muscles are injured?

A –deltoid (posterior part) and triceps 

В -minor teres and anconeus 

С -biceps and supraspinatus 

D -triceps and major teres 

E -brachialis and anconeus 

Correct answer-A

272.There is no pronation of the foream and flexion in the elbow joint after the trauma. What is injured?

A -pronator quadratus and supinator

В -pronator teres and brachials 

С -extensor carpi radialis and extensor carpi ulnaris 

D -extensor carpi radialis brevis, extensor carpi radialis longus

E -brachioradialis and flexor carpi radialis

 
Correct answer-B

273. This is impossible to flex and abduct the hand in radial side after the trauma. What muscle or tendo was injured?

A -brachioradialis 

В -flexor digitorum superficialis

С -flexor digitorum profundus 

D -flexor carpi radialis

E -pronator quantus 

Correct answer-D

274.This is impossible to extend and abduct the hand after the trauma of the lateral surface of the foream. What muscles were injured?

A -extensor ulnaris and extensor carpi ulnaris 

В -extensor carpi radialis longus and extensor carpi radialis brevis

С -extensor digiti minimi and supinator

D -extensor indicis and pronator teres

E -pronator teres and pronator quadratus 

Сorrect аnswer - В
275. The patient complans on difficult turning the forearm outside after the trauma of the region of upper thirds of the forearm's posterior surface. What was injured?

A -supinator 

В -brachioradialis 

С -extensor digitorum

D -extensor digitorum

E -pronator teres and pronator quadratus

 
Correct answer-A

276. This is impossible to turn the forearm after the wound of the anterior surface's distal and of the forearm. What muscles was injured?

A -tendo of flexor digitorum 

В -brachioradialis 

С -extensor digitorum

D -flexor carpi ulnaris

E -supinator and pronator teres

 Correct answer-B

277. The patient can not extend four fingers (except the thumb) after the knife wounding of the posterior surface's inferior thirds of the

forearm. Which muscles were injured?

A-tendo of the extensor digitorum and tendo of the extensor digiti minimi. 

B-tendos of the extensor policis brevis.

C-tendos of the extensor carpi radialis longus and the extensor carpi radialis brevis. 

D-tendos of the extensor indicis and the extensor digiti minimi. 

E-supinator and pronator teres 

Correct answer-A

278. lt is difficult to flex and abduct of the hand after the trauma of the forearm's ulnar edge. Which muscles were injured?

A-flexor digitorum superficialis and flexor digitorum profundus.

B-extensor carpi radialis and supinator.

C-flexor nlnaris and extensor carpi ulnaris.

D-extensor carpi radialis longus and extensor carpi raelialis brevis.

E-supinator and pronator teres.

 
Correct answer-C

279. It is impossible to abduct and flex the thumb after the knife wound of the radial side's distal and of the forearm .What muscles were injured?

A-tendos of the extensor carpi radialis longus and the extensor carpi radialis brevis.

B-lomg and short extensors and abdnctor policis Indus. 

C-extensor digitorum and pronator guadratus.

D- extensor indicis and the extensor digit! minimi.

E-pronator teres and pronator quadratus. 

Correct answer- В
280. It is impossible to abduct and adduct fingers to the middle line after inflammation. What muscles were injured?

A-flexor digiti minimi brevis and opponens digiti minimi.

B-tendos of flexor digitorum superficlalis and flexor bigitorum profundns.

C-four dorsal interosseal muscles and three palmar interosseal muscles.

D-four umbrical muscbs.

E-short palmar muscle and fiexor policis brevis.

 
Correct answer-C

281. It is impossible to flex the proximal phalanges and extension of the middle and distal phalanges after inflammation of the tendo of the flexor digitorum profundus muscle. What muscles were injured?

A-lumbrical muscles.

B-interosseal muscles. 

C-tendo of the extensor digitorum.

D-tendos of the flexor digitorum superficialis and the flexor digitorum profundus.

E-extonsor digitorum.

 Correct answer-A

282. It is difficult to abduct the thumb in the carpometacarpal joint after superficial knife wound of the palm's lateral eminence. The abduction of the hand haven't been disturbed. Which muscle was injured?

A-fbxof policis brevis. 

B-abductor policis.
C-opponens policis.
D-adductor policis. 

E-short palmar miscle.

Correct answer-B 

283. The patient complains on disturbance of abduction of the fifth finger after the wound of the medial eminence of the palm. Which muscle was injured?

A-flexor digiti minimi brevis.

B-opponens brevis minimi. 

C-abductor brevis minimi 

D-short palmar muscle. 

E-long palmar muscle.

 
Correct answer-C

 284. It is difficult to adduct the thumb after wound of the hand located between the thumb and the second finger. Which muscle was injured?

A -abductor policis

В -flexor policis

С -oppones policis 

D -flexor digitorum superficialis

E -flexor digitorum profundus

 
Correct answer-A

285. The pass appeared in the interficial spase of the foream at pass inflammation of the distal phalange of the thumb. Which way did the pass appear?

A -through sinovial sheath of the abductor digiti minimi.

В -through sheath of the tendo of flexor policis longus

С -through sheath of the fourth finger

D -through sheath of the second finger

E -through carpal channel

 
Correct answer-B

286. The laboratory assistant pierced the fifth finger of the patient to take the blood. After that the inflammation of the fifth finger started, which spread in the interfascial space of the forearm. Which way did the pus process spread?

A -through sinovial sheath of the flexor digiti minimi

В -through sinovial sheath of the flexor digiti longus 

С -through the carpal channel

D -through the sinovial sheath of the flexor policis brevis 

E -through the carpo-uinar channel                      

 
Correct answer-A

287. The knife wound of the hand, located between the third and the second fingers was treaded. After that, it is impossible to extend two fingers at the same time. What was injured?

A -tendos of the extensor digitorum

В -fibrous connections between the tendos of the extensor digitorum 

С -dorsal interosseal muscles

D -tendo of the extensor indicis

E -palmar interosseal muscles

Correct answer-B

 288. The man was injured in region below the inguinal ligament. After that, he complained on difficulty and paint at flexion and supination of the thigh and flexion of the trunk. What muscle was injured?

A-pectineus muscles

В -rectus abdominis muscles

С -iliolumbalis muscles

D -sartorius muscles

E -gracilis muscles

Correct answer-C 

289. The patient complains on difficulty of extension and supination of the thigh and extension of the trunk. What was injured?

A -minor gluteal muscles 

В -major gluteal muscles 

С -pectineus muscles

D -piriformis muscles 

E -middle gluteal muscles

Correct answer-B 

 290. The flexion of the thigh is absent after inflammation of the lumbar plexus. What muscles were injured?

A-sartorius

В -iliolumbalis, rectus femoralis 

С -long and major adductor muscles

D -lateral and medial vastus muscles 

E -gracilis muscles

 
Correct answer-B

291.  The doctor examined the break of tissues between the external genital organs and anus after difficult giving the birth. What was injured?

A -complex of muscles, fasciae of the premium

В -urogenital diaphragm
С -pelvis diaphragm
D -tendos center

E -sphincter of the urethra

Correct answer-A
292. There is the trauma of the perineum, which accompanied by unconscious excretion of urine. What was injured?

A -superior and inferior fasciae of the urinary triangle

В -bulbo-spongious muscle

С -external sphincter of the urethra

D -deep transverse muscle of the perineum

E -external ani sphincter muscle

 
Correct answer-C
293. There is trauma of the region of the male urogenital triangle, which accompliced disturbance of erection. What was injured?

A -superficial transverse muscle of the perineum

В -ischio-cavernosus muscle 

С -ureter

D -deep transverse muscle

E -external sphincter of the urethra

 
Correct answer-B

294.  The trauma of the perineum is accompliced by disturbance of unconscious defecation. What was injured?

A -levator ani muscle 

В -fascia of the pelvis diaphragm
С -ishio-rectal fossa

D -external ani sphincter muscle

E -external sphincter of the urethra 

Correct answer-D

295. There is inflammation between anus and ischiadic tuberosity after the trauma of the perineum. Why superficial inflammation of this region is so dangerous?

A -inflammation of fatty tissue of ischio-rectal fossa, where important vessels and nerves are located

В -injure of the levator ani muscle

С -injure of the sexual organs

D -injure of the pelvic diaphragm
E -injure of the deep transverse muscle of the perineum 

Correct answer-A
296. There is the penetrate wound in the middle between ischiadic tuberosities in male patient. He complains on the perineum going downwards. What was injured?

A -urogenital diaphragm 

В -anus

С -tendous center of the perineum

D -pelvic diaphragm
E -ischio-rectal fossa

 Correct answer-C

297. The man complains on difficult excretion of urine and sperm. What was injured?

A -bulbo-spongious muscle 

В -ishio-cavernosus muscle 

С -urogenital diaphragm 

D -tendous center of the perineum 

E -anus 

Correct answer-A

298. During disease of bones the tendos of some muscles separated from the tuberosity of the tibia and the patient can not flex the thigh. What muscles were injured?

A -quadriceps

В -semitendinosus and sartorius 

С -sartorius,semitendinosus,gracilis

D -piriformis, externus obturatorius

E -internal obturatorius and pectineus

Correct answer-C

 299. The patient complains on difficult flexion and adduction of the thigh after the wound located in region of the femoral triangle. What was injured?

A -pectineus and long adductor muscle 

В -major adductor and gracilis muscles

С -intermedius and medial vastus muscles

D -gracilis and sartorius muscle 

E -internus obturatorius muscle 

Correct answer-A

300.  The patient can not extend the thigh after the bit the thigh's posterior surface. What muscles were injured?

A -major and medius gluteal   muscles 

В -biceps, semitendinosus, semimembranous 

С -major and long adductor muscles 

D -sartorius and long adductor muscles
 E -pectineus and sartorius 

Correct answer-B

301. The gernia appeared in medial region of the lacuna vasorum below the inguinal ligament. What is the gernia formed by?

A -inguinal, lacunar, pectine ligaments and the femoral vein

В -superficial and deep plates of the lata fascia and the femoral vein

С -falciforme edge and superior and inferior cornu

D -medialis and intermedius vastus muscles

E -pubic and ilium bones

Correct answer-A 

302. The knife wound of the medial surface's upper thirds of the thigh made disturbance of function-adduction of the thigh and supination. What muscles were injured?

A -sartorius and externus obturatorius

 В -sernitendinosus and semimembranous 

С -long and short adductor muscle

 D -pectineus and sartorius

 E -iliopsoas and gracilis 

Correct answer-C

303. The patient can not extend and supinate the food after the trauma of the lateral surface’s inferior half of the leg. What was injured?

A-long and short fibular muscles

B-anterior tibial and extensor hallucis longus muscles

C-extensor digitorum longus and plantar muscles

D-gastrocnemius and soleus muscles

E-pectineus and gracilis muscles

Correct answer-B

304. It is impossible to flex the leg in the knee joint and the foot in the ankle joint after the trauma in region of the posterior surface’s posterior thirds of the leg. What was injured?

A-posterior tibial muscle

B-long flexor digitorum

C-plantar muscle

D-triceps surae

E-anterior and posterior tibial muscles

Correct answer-D

305. It is impossible to flex and adduct the foot after the knife wound of the posterior-lateral surface’s inferior thirds of the leg. What muscles were injured?

A-posterior tibial and long extensor digitorum muscles

B-gastrocnemius and soleus

C-long flexor halucis and fibular muscles

D-long flexor digitorum and plantar muscles

E-popliteal and gastrocnemius muscles

Correct answer-C

306. The patient has got the knife wound in the lateral surface’s inferior half of the leg. He complains on impossible of extension of the foot and four toes. What muscles were injured?

A-long extensor digitorum muscle

B-long extensor halucis and plantar muscles

C-long and short fibular muscles

D-flexor digitorum and popliteal

E-short flexor and extensor hallucis

Correct answer-A

307. The patient complains on difficult flexion and supination of the foot after the wound located in the leg’s posterior surface. What muscle was injured?

A-long fibular

B-posterior tibial

C-soleus

D-long flexor hallucis

E-anterior tibial                          
Correct answer-B

308. It is impossible to extend and supinate the foot with going downwords transverse arch of the foot after the wound of the foot’s medial edge. What was injured by the knife?

A-long extensor digitorum

B-long fibular muscle

C-tendo of anterior tibial muscle

D-long extensor hallucis

E-long flexor digitorum

Correct answer-C

309. The patient has the close fracture of the tibia’s proximal end. Flexion and pronation of foot are absent. What muscle was injured?

A-flexor hallucis

B-long fibular

C-triceps surae

D-long flexor

E-long extensor digitorum
Correct answer-B

310. The patient complains on difficult flexion and adduction of the leg after the trauma of the posterior surface’s lateral condyle of the thigh. Which muscle was injured?

A-gastrocnemius

B-plantar

C-popliteal

D-soleus

E-anterior tibial

Correct answer-C

311. The patient complains on impossibility of flexion of the foot and the leg at the same time after the knife wound in the lower triangle of the popliteal fossa. What muscle was cut?

A-soleus

B-gastrocnemius

C-plantar

D-popliteal

E-anterior tibial

Correct answer-B

312. There is the knife wound of the upper triangle of the popliteal fossa. It is impossible to extend the thigh and flexion of the leg. What muscles were injured?

A-biceps, semitendinosus and semimembranosus

B-popliteal, long and short fibular

C-plantar, popliteal and semimembranosus

D-soleus, gastrocnemius and popliteal

E-anterior and posterior tibial
Correct answer-A

313. The flexion of the first toe is difficult after the trauma the plantar surface’s medial edge of the foot. What was injured?

A-short flexor hallucis

B-abductor hallucis

C-obligue head of abductor hallucis

D-transverse head of abductor hallucis

E-short extensor digitorum

Correct answer-A

314. There is trauma of the medial edge of the foot, located close to the calcaneus tuber. It is impossible of abduction and decreasing of longitudinal arch on medial part of the foot. What muscle was injured?

A-short flexor hallucis

B-abductor hallucis

C-adductor hallucis

D-short flexor digitorum

E-short extensor digitorum

Correct answer-B

315. The patient complains on less ability to adduct the first toe and decreasing arch of the foot after inflammation of the metatarsophalangeal joints. Which muscle was injured?

A-oblique head of adductor hallucis muscle

B-transverse head of the adductor hallucis

C-short flexor digitorum

D-quadratus plantae muscle

E-short extensor digitorum

Correct answer-B

316. It is impossible to flex proximal phalanges of the 2-5 toes and extension of the middle phalanges of these toes after inflammation of the tendo of the long flexor digitorum muscle. What muscles were injured?

A-quadratus plantae muscle

B-plantar interosseal muscles

C-dorsal interosseal muscles

D-lumbrical muscles

E-short extensor digitorum

Correct answer-D

317. The patient complains on absence of adduction of 2 toe and abduction 3-5 toes after inflammation of periosteum of tarsal bancs. What muscles were injured?

A-interosseal plantar

B-interosseal dorsal

C-short flexor digitorum

D-lumbrical muscles

E-short extensor digitorum
Correct answer-B

318. It is impossible to adduct 2-5 toes after inflammation of tarsus. What muscles were injured?

A-four plantar interosseal

B-three dorsal interosseal

C-lumbrical muscles

D-quadratus plantae

E-short extensor digitorum

Correct answer-A

319. It is impossible to abduct the fifth toe after superficial wound of the foot’s lateral edge. What muscle was injured?
A-short flexor of the fifth toe

B-abductor digiti minimi

C-short extensor digiti minimi

D-long flexor digitorum

E-short extensor digitorum

Correct answer-B

320. The patient complains on impossibility of abduction and flexion of the fifth toe after wounding of the foot’s lateral edge. What was injured?

A-abductor digiti minimi

B-short flexor digiti minimi

C-lateral group of muscles of the fifth toe

D-short fibular muscle

E-short flexor digitorum

Correct answer-C

MODULE II
Splanchnology. CNS. Sensory organs  
1. The patient was diagnosed inflammation in the region of the oral diaphragm. What muscles form this diaphragm?

A-stylohyoideus

B-digastricus

C- geniohyoideus 

D- omohyoideus 

E-sternothyroideus

Correct answer-D

2. The patient was diagnosed inflammation in the region of the excretory duct of the submandibular gland. Where does this duct open?

A-caruncula sublingualis

B-fornix pharyngis

C-recessus piriformis

D-foramen caecum linguae

E-papillae conicae

Correct answer-A

3. During physical examination the hyperemia of palate tonsiles and anterior arches were diagnosed. What muscle form these arches?

A-m. palatoglossus 

B-m. levator veli palatini

C-m. tensor veli palatini

D-m. palatopharyngeus

E-m. uvulae

Correct answer-A

4. The hyperemia of palate arches and posterior arches were diagnosed during physical examination of the oral cavity. What muscle form these arches?

A-m. palatoglossus

B-m. levator veli palatini

C-m. tensor veli palatini

D-m. palatopharyngeus

E-m. uvulae

Correct answer-D

5. The patient, having the cut wound in region of the upper lip, was taken in hospital. What muscle was injured?

A-m. orbicularis oris

B-m. orbicularis oculi

C-m. precerus

D-m. mentalis

E-m. uvulae

Correct answer-A

6. The patient was hospitalized with the cut wound in the buccal region. What mimic muscle was injured?

A-m. procerus

B-m. mentalis

C-m. buccinator

D-m. orbicularis oculi

E-m. nasalis

Correct answer-C

7. The inflammation of the sublingual fold was diagnosed during examination of the oral cavity. What is located inside the sublingual fold?

A-lingual artery

B-sublingual salivary gland

C-sublingual nerve

D-submandibular salivary gland

E-lingual vein

Correct answer-B

8. Dentist is making anaestesia of a nerve. He is injecting the medicine in the opening located in the hard palate’s anterior region. What is the name of this opening?

A-foramen incisivum 

B-foramen palatinum majus

C-foramen rotundum

D-foramen ovale

E-foramen spinosum

Correct answer-A

9. The doctor diagnosed the hyperemia of the fauces’ upper parts during examination. What is the foundered upwards?

A-posterior edge of the soft palate and the uvula 

B-upper surface of the lingual root

C-palato-glossus arches

D-upper surface of the tongue

E-the hard palate

Correct answer-A

10. The patient has the "wolf's mouth". This pathological opening is located in the anterior part of the hard palate. What is this part of the hard palate formed by?

A-zygomatic process of the maxilla

B-horizontal lamina’s of the palate bones

C-perpendicular lamina’s of the palate bones

D-vomer

E-palate processes of the maxilla

Correct answer-E

11. It is impossible to move the tongue forwards as result of the trauma. What muscle makes this movement?

A-m. styloglossus

B-m. longitudinalis superior

C-m. longitudinalis inferior

D-m. genioglossus

E-m. hyoglossus

Correct answer-D

12. Movements of the tongue downwards and backwards are disturbed after the trauma. Which muscle has such movements?

A-m. styloglossus

B-m. verticalis

C-m. transversus

D-m. longitudinalis superior

E-m. hyoglossus

Correct answer-E

13. The patient has changed sensitivity of temperature, pain and touch on the tongue. What papillae are responsible for temperature, pain, touch?

A-papillae vallatae

B-papillae filiformes et conicae

C-papillae fungiformes

D-papillae foliatae

E-papillae foliatae et vallatae

Correct answer-B

14. The patient lost ability to feel “bitter”. Which part of the tongue are taste receptors of “bitter” located?

A-top of the tongue

B-lateral surfaces

C-inferior surfaces

D-posterior part of the tongue

E-the back of the tongue

Correct answer-D

15. The patient lost sensitivity of “sour”. Which part of the tongue contains papillae receiving “sour”?

A-top of the tongue

B-inferior surface

C-lateral surfaces

D-posterior part of the tongue

E-back of the tongue

Correct answer-C

16. The inflammation of the lingual tonsile was diagnosed during examination of the tongue. Which part of the tongue is this tonsile located?

A-top

B-root

C-lateral surfaces

D-inferior surfaces

E-middle part

Correct answer-B

17. Dentist put inside the tampon of cotton wool between the check and the alveolar process of the maxilla during the treatment of the teeth. Which excretory duct is closed by a doctor?

A-parotid

B-submandibular

C-sublingual

D-thyroid

E-all mentioned

Correct answer-A

18. The patient was diagnosed the inflammation of the parotid gland and its duct located in the oral vestibule. Where does this duct open?

A-on the level 1st upper molar

B-on the level 3rd upper premolar

C-on the level 1st upper premolar

D-on the level 2nd upper molar

E-on the level 2nd upper premolar

Correct answer-D

19. The patient has inflammation of the parotid gland. Where is the posterior part of the gland located?

A-submandibular fossa

B-maxillar fossa

C-submandibular triangle 

D-submental triangle

E-Pirogov's  triangle                 

Correct answer-B

20. Dentist put on the tampon of the cotton wool under the tongue. Which excretory duct is closed by the doctor?

A-buccal

B-lingual

C-submandibular and sublingual

D-labial

E-parotid and buccal

Correct answer-C

21. The doctor-dentist treats channels of the upper first molar. How many roots are there in this tooth?

A-5

B-4

C-3

D-2

E-1

Correct answer-D

22. The doctor-dentist treats the channels of the lower first molar. How many roots

are there in this tooth?

A-2

B-3

C-4

D-5

E-1

Correct answer-A

23. The mother worries about absence of the change of the milk teeth. When does the period of changing of the milk teeth start?

A-3-4

B-4-5

C-5-6

D-7-8

E-9-10

Correct answer-C

24. The doctor-dentist diagnosed the inflammation of periodontum. What is periodontum?

A-mucous membrane covering alveolar processes

B-connective fibers located between alveola and cementum, which covers tooth’s root

C-dentinum

D-enamaleum

E-cementum

Correct answer-B

25. The doctor-dentist diagnosed the inflammation of paradontum. What is paradontum?

A-enamaleum

B-dentinum

C-cementum

D-connective fibers between alveola and cementum, which covers tooth’s root

E-alveola, alveolar process and gingiva located around alveola, tooth’s ligaments

Correct answer-E

26. The doctor-dentist diagnosed caries of the tooth in region of the masticatory tubercules of the molar. What tooth’s surface are these tubercles located?

A-facies contactus medialis

B-facies contactus distalis

C-facies occlusalis

D-facies vestibularis

E-facies lingualis

Correct answer-C

27. The doctor-dentist diagnosed caries the bucal surface of the molar’s crown. What is this surface’s name?

A-facies contactus medialis

B-facies contactus distalis

C-facies occlusalis

D-facies vestibularis

E-facies lingualis

Correct answer-D

28. The doctor did not find medial incisors in 12 months child during examination of the oral cavity. What age do they appear?

A-2-3 months

B-4-5 months

C-6-8 months

D-9-10 months

E-11-12 months

Correct answer-C

29. 20 milk teeth were found in 2 years child during examination of the oral cavity. How many all milk teeth exist?

A-28

B-22

C-24

D-20

E-26

Correct answer-D

30. The doctor-dentist treats the channels of the milk upper molar tooth. How many roots does it have?

A-1

B-2

C-3

D-4

E-5

Correct answer-C

31. The doctor diagnosed increasing of the adenoid tonsile during examination. Which tonsils of the pharynx is the pathological process located?

A-tubaria

B-palate

C-pharyngeal

D-lingual

E-all mentioned

Correct answer-C

32. The foreign body, located in the piriform recessus of the pharynx, was found during examination. Where is recessus located?

A-between the epiglottis and the lateral wall of the pharynx

B-on the posterior wall of the pharynx

C-on superior-posterior wall of the pharynx

D-in inferior part

E-in the nasopharynx

Correct answer-A 

33. The disturbance of the food passage through the pharynx was examined, because of disturbance of innervation of pharyngeal muscles. What muscles make the foot passage through the pharynx?

A-m. stylopharyngeus

B-m. constrictor pharyngis superior, inferior et medius

C-m. palatopharyngeus

D-m. digastricus

E-m. stylohyoideus

Correct answer-B

34. The child has the high temperature expressed swelling of the pharyngeal posterior wall after the cold. Which cellular space is inflammation located?

A-spatium retropharyngeum

B-spatium parapharyngeum

C-spatium previscerale

D-spatium vasonervorum

E-spatium submandibularis

Correct answer-A

35. The tumor is examined on the border between the pharynx and the esophagus during X-ray examination. Which level of the cervical vertebrae is the tumor located?

A-5

B-6

C-4

D-1

E-3

Correct answer-B

36. The food comes into nasopharynx during eating. Which muscle closes communication between oralpharynx and nasopharynx?

A-m. digastricus

B-m. mylohyoideus

C-m. stylohyoideus

D-m. genioglossus

E-m. levator veli palatini

Correct answer-E

37. The doctor examined the tumor in region of the superior wall of the pharynx. Which level is the superior pharyngeal wall located?

A-1 cervical vertebra

B-base of the skull

C-2 cervical vertebra

D-3 cervical vertebra

E-4 cervical vertebra

Correct answer-B

38. The doctor put inside the tampon through inferior nasal meatus. Which part of the pharynx will the end of the tampon appear?

A-oral pharynx

B-nasal pharynx

C-laryngeal pharynx

D-esophagus

E-oral cavity

Correct answer-B

39. The tumor of the esophagus was found out on the level passage of the esophagus through the diaphragm  during X-ray examination. Which level of the thoracic vertebrae is the tumor located?

A-7

B-8

C-9

D-12

E-11

Correct answer-C

40. The tumor of the esophagus was found out on the level of connection of the esophagus with the stomach. What vertebrae, as the level, is the tumor located?

A-9 thoracic

B-10 thoracic

C-11 thoracic

D-12 thoracic

E-1 lumbar

Correct answer-C

41. The tumor of the esophagus was diagnosed on the level of the trachea’s bifurcation. Which level of the thoracic vertebra is the tumor located?

A-3

B-4

C-5

D-6

E-7

Correct answer-C

42. The surgeon makes operation of the tumor of the esophagus in the middle thirds of the thoracic part. Which anatomical formation located on the posterior wall can be traumatized?

A-superior cava vein

B-thoracic lymph duct

C-inferior cava vein

D-thoracic sympathetic trunk

E-thoracic aorta

Correct answer-B

43. The patient has the retropharyngeal abscess. Which cellular space does the inflammation pass through to the mediastinum?

A-pretracheal

B-interaponeurotic suprasternal

C-retrovisceral

D-submandibular

E-previsceral

Correct answer-C

44. The surgeon diagnosed the stomach ulcer in the region of the angular notch during examination at operation. Which part of the stomach is the ulcer located?

A-minor curvature (upper part)

B-minor curvature (middle part)

C-minor curvature (lower part)

D-major curvature (upper part)

E-major curvature (middle part)

Correct answer-C

45. The patient was made surgical operation of the perforate ulcer of the stomach’s posterior wall. Where is the stomach contents located?

A-hepatic bursa

B-prehepatic bursa

C-left mesenteric sinus

D-right mesenteric sinus

E-mental bursa

Correct answer-E

46. One of the methods of physical examination is palpation of the stomach through the anterior abdominal wall. Which region of the anterior abdominal wall is the stomach palpated?

A-proper epigastral region and left hypochondriac region

B-left inguinal region

C-right hypochondriac region

D-right inguinal region

E-umbilical region

Correct answer-A

47. The inflammation of the stomach mucose membrane was found out in region of the stomach channel during the gastroscopy. Which part of the stomach is it located?

A-major curvature

B-cardiac part

C-piloric part

D-minor curvature

E-bottom of the stomach

Correct answer-D

48. The perforation of the intestine was found out in the region of the aggregate lymph folliculs during surgical operation. Which part of the intestine was injured?

A-duodenum

B-middle part of the ileum

C-end part of the ileum

D-distal part of the jejunum

E-proximal part of the jejunum

Correct answer-C

49. The inflammation of Mikel divertycle was diagnosed during operation of peritonitis. Which part of the intestine has this anomaly?

A-duodenum

B-jejunum

C-ileum

D-caecum

E-sigmoid                         

Correct answer-C

50. The tumor of the major papilla’s region was diagnosed during examination of the duodenum with fibrogastroskope. Which part of the duodenum is the pathological process located?

A-upper part

B-descend part

C-horizontal part

D-ascend part

E-bulbus

Correct answer-B

51. The duodenum’s bulbus ulcer was diagnosed during X-ray examination. Which part of the duodenum is the ulcer located?

A-horizontal

B-descending

C-beginning of upper part

D-ascending

E-duodeno-jejunal flexure

Correct answer-C

52. The tumor of the longitudinal fold of duodenum’s region was diagnosed during fibrogastroscopy. Which part of the duodenum is this fold located?

A-horizontal

B-descending

C-bulbus

D-ascending

E-duodenojejunal flexure

Correct answer-B

53. The inflammation of the anal columns’ folds was diagnosed during (rectoromanoscopy) examination of the rectum. Which part of the rectum is the pathologic process located?

A-rectal channels

B-supraampular part

C-infraampular part

D-place of passage of the sigmoid into the rectum

E-no anyone mentioned

Correct answer-A

54. The patient complains on the pain in right ilioinguinal region. Which organ’s disease can the doctor think about?

A-ileum

B-sigmoid

C-jejunum

D-vermiform appendix

E-colon descendens                             

Correct answer-D

55. The patient complains on the pain in the left ilioinguinal region. Which organ’s disease can the doctor think about?

A-duodenum

B-stomach

C-sigmoid

D-caecum

E-colon ascendens

Correct answer-C

56. The surgeon makes operation of the sigmoid colon. How is it covered by peritoneum?

A-mesoperitoneal

B-retroperitoneal

C-intraperitoneal

D-extraperitoneal

E-extraperitoneal

Correct answer-C

57. The patient has functional disturbance of external sphincter ani. Which part of the rectum is this sphincter located?

A-supraampular

B-superiorampular

C-medioampular

D-infraampular

E-perineal

Correct answer-E

58. The surgeon the wound on the diaphragm l surface of the liver and one of the ligaments, which divides the liver into right and left lobes. Which ligament is this?

A-lig.falciformis hepatis

B-lig.teres hepatis

C-lig.triangularum dextrum

D-lig.hepatogastricum

E-lig.hepatoduodenale

Correct answer-A

59. The lower edge of the adult’s liver is located below the right costal arch’s inferior edge on 3 cm during palpation. Which level is the liver located according

the costal arch?

A-above the costal arch on 1 cm

B-above the right costal arch on 2 cm

C-below the right costal arch on 2 cm

D-above the right costal arch on 3 cm

E-on the level of the right costal arch

Correct answer-E
60. The patient was hospitalized with the knife wounding of the porta hepatis and strong venous bleeding. Which vein is a part of the porta hepatis?

A-inferior cava vein

B-superior cava vein

C-porta vein

D-hepatic vein

E-no anyone mentioned

Correct answer-C

61. The patient complains on the pain in the right hypochondriac region. Which organ is sick?

A-stomach

B-pancreas

C-splen

D-liver

E-a small intestine

Correct answer-D

62. The surgeon makes reconstructive operation of the excretory ducts of the pancreas during resection of its head. Which way does the pancreatic duct open in the duodenum?

A-together with the choledochus duct

B-together with the common hepatic duct

C-together with the right hepatic duct

D-together with the left hepatic duct

E-it opens individually

Correct answer-A 

63. The surgeon takes out the stone from the choledochus duct. Which ligament is this duct located?

A-hepato-duodenale

B-coronarium

C-right triangular

D-left triangular

E-hepato-gastricum

Correct answer-A

64. The bile stone, which from the gall bladder, is located in the beginning of the choledochus duct. What is the choledochus duct formed by?

A-connection of the cistic and common hepatic ducts

B-connection of the cistic and right hepatic ducts

C-connection of the cistic and left hepatic ducts

D-connection the right and left hepatic ducts

E-no anyone mentioned                                 

Correct answer-A

65. The surgeon makes operation of the pancreas. How is the pancreas covered by peritoneum?

A-infraperitoneally

B-extraperitoneally

C-mesoperitoneally

D-retroperitoneally

E-head is covered intraperitoneally

Correct answer-B

66. The patient has the diabetis and there is no production of insulin. What type of cells produce this hormone?

A-hepatocites of the liver

B-main cells of the stomach

C-parietal cells of the stomach

D-additional cells of the stomach

E-cells of the islands of Langergans of the pancreas

Correct answer-E

67. The surgeon makes operation of the pancreas’ head, where the additional duct is formed usually. Where does it open?

A-upper part of the duodenum

B-discending part of the duodenum

C-lower horizontal part of the duodenum

D-ascending part of the duodenum

E-no anyone mentioned

Correct answer-B

68. The surgeon makes operation of the duodenum. Which ligament fixes the place of the passage of the duodenum into the jejunum to the posterior abdominal wall?

A-hepato-duodenal

B-hepato-gastricum

C-suspenzorium

D-hepato-renal

E-diaphragm l

Correct answer-C

69. The woman has the trauma located in the right iliac fossa. The pain increased and symptoms of the peritoneal irritation appeared. Which organ was injured?

A-sigmoid colon

B-uterus

C-urinary bladder 

D-caecum

E-no anyone

Correct answer-D

70. The surgeon makes operation of the duodenum. How is the duodenum covered by peritoneum?

A-extraperitoneally

B-intraperitoneally

C-mesoperitoneally

D-retroperitoneally

E-mesoperitoneally only in the discendiry part

Correct answer-A

71. The surgeon makes plastic operation of the esophagus with the transversus colon. How is the transversus colon covered by peritoneum by?

A-it is not covered by peritoneum at all 

B-all sides are covered by peritoneum

C-three sides are covered by peritoneum

D-one side is covered by peritoneum

E-three sides of only the beginning are covered by peritoneum

Correct answer-B

72. The doctor has to define the location of the choledochus ducts during the surgical operation. Which anatomical formation is this duct located?

A-lig. hepatoduodenale

B-lig. hepatorenale

C-lig. gastrocolicum

D-lig. duodenorenal

E-lig. hepatogastricum

Correct answer-A

73. The patient has diagnosis the pass inflammation of the gall bladder. Which part of the peritoneal cavity does the pass appears, if the gall bladder located in typical position, has been broken?

A-hepatic bursa

B-omental bursa

C-left lateral cannel

D-upper duodenal recessus

E-pregastrical bursa

Correct answer-A

74. The man was hospitalized with the closed trauma of the abdomen on the right side and possible break of the liver. Which anatomical formation of the peritoneum will the blood collected?

A-rectovesical excavation 

B-upper iliocaecal recessus

C-intersigmoid recessus

D-omental bursa

E-left lateral cannel                                    

Correct answer-A

75. The surgeon has to access into the omental bursa during the surgical operation. How does the surgeon access into the omental bursa? If the bursa has not been broken.

A-through the omental foramen

B-through right lateral cannel

C-through left lateral cannel

D-through right mesenteric sinus

E-through left mesenteric sinus

Correct answer-A

76. The patient has inflammation of the upper respiratory ways. What organs belong to them?

A-nasopharynx

B-larynx

C-trachea

D-bronchi

E-lungs

Correct answer-A

77. What organ belongs to the lower respiratory ways in clinic?

A-larynx

B-trachea

C-bronchi

D-lungs

E-all mentioned

Correct answer-E

78. The air passes through the nasal cavity at the right breathing. What happens with the air in the nasal cavity?

A-cleaning

B-warning

C-wetting

D-desintoxicating

E-all mentioned

Correct answer-E

79. The patient has diagnoses frontitis. Which nasal meatus did the infection pass through into sinus?

A-common

B-superior

C-medius

D-inferior

E-nasopharyngeal

Correct answer-C

80. The patient has diagnosis haymoritis. Which nasal meatus did the infection pass through into sinus?

A-common

B-superior

C-medius

D-inferior

E-nasopharyngeal

Correct answer-C

81. There is darkness of the sphenoid sinus on X-ray picture. Which nasal meatus did the infection pass through in the sinus?

A-common

B-superior

C-medius

D-inferior

E-nasopharyngeal

Correct answer-B

82. The patient can not pick up the smell. Which region of the nasal cavity are olfactory receptors located?

A-superior nasal meatus

B-medius nasal meatus

C-inferior nasal meatus

D-medius nasal concha

E-inferior nasal concha

Correct answer-A

83. The breathing is difficult during the pathological increasing pharyngeal tonsile (adenoids). What opening of the nasal cavity will be closed?

A-piriformis

B-nosrils

C-choans

D-sphenopalate

E-hiatus maxillaris

Correct answer-C

84. There is darkness of the frontal sinus on the X-ray picture. Where do the openings of the frontal sinus open?

A-superior nasal meatus

B-medius nasal meatus

C-inferior nasal meatus

D-common nasal meatus

E-pharynx 

Correct answer-B

85. The patient has influenza and tears flow, as result of swelling of the nasal mucous membrane and closing of the nasolacrimal channel. Where does the channel open?

A-superior nasal meatus

B-medius nasal meatus

C-inferior nasal meatus

D-nasopharyngeal meatus

E-pharynx

Correct answer-C

86. The larynx consists of the cartilages, because the respiratory ways must have strong shape for air passage. Which cartilages are unpaired?

A-arythenoid

B-corniculate

C-triticia

D-all mentioned

E-no anyone mentioned

Correct answer-E

87. The most of men have developed anatomical formation of the neck, which is called “Adam apple”. Which cartilage has such anatomical formation?

A-arythenoid

B-corniculate

C-epiglottis

D-thyroid

E-cricoid

Correct answer-D

88. The oral ligament attached to the vocal process of the cartilage. Which cartilage has such process?

A-epiglottis

B-cricoid

C-thyroid

D-corniculate

E-arythenoid

Correct answer-E

89. The food came into the larynx during the eating. Which cartilage closes the larynx’s entrance during the swallowing?

A-thyroid

B-cricoid

C-arythenoid

D-epiglottis

E-corniculate

Correct answer-D
90. The foreign body came into the larynx. What is the laryngeal entrance in Latin?

A-ostium pharyngeum

B-isthmus faucium

C-aditus

D-choana

E-nares

Correct answer-C

91. The patient has narrowed vocal opening. Which muscle dilates the vocal opening?

A-transversus arythenoideus

B-lateral cricoarythenoideus

C-aryepiglottis

D-vocalis

E-posterior crycoarythenoideus

Correct answer-E

92. The patient’s voice was changed during, respiratory disease. What anatomical formation are resonators of voice?

A-laryngeal ventricles

B-paranasal sinuses

C-nasal cavity

D-oral cavity

E-all mentioned

            Correct answer-E

93. The child breathed deeply the small foreign body, which was located in the oral         cavity. Where can the foreign body be stopped by the first?

A-larynx

B-trachea

C-left bronchus

D-supralaryngeal fossae

E-piriform recessus

Correct answer-D

94. Which part of the larynx is narrowed during inflammation and makes the breathing so difficult.

A-entrance

B-exit

C-vestibulum

D-intermediat part

E-infraglottis space
Correct answer-D

95. The patient has the narrowed vocal opening. What muscle dilates it?

A-lateral cricoarythemeideus

B-transverse arythenoideus

C-aryepiglottis

D-cricothyroideus

E-posterior crycoarythenoideus

Correct answer-E

96. The surgeon have to know topography of the trachea. How is it located according to the esophagus?

A-in front of 

B-behind

C-on the left

D-on the right

E-it is not located next to the esophagus

Correct answer-A

97. The inflammation of larynx can spread on the trachea. Which level of vertebrae does the larynx continues into the trachea?

A- III cervical  

B- IV cervical           

C- V cervical

D- VI-VII cervical

E- I-II cervical

Correct answer-D
98. The inflammation of the trachea can spread on bronchi. Which level of vertebrae is the bifurcation of the trachea located?

A- I-II thoracic

B- III thoracic

C- IV thoracic

D- V thoracic

E- VI thoracic

Correct answer-D

99. The man swallowed the sharp object. One of the trachea walls can be injured by this object from the esophagus. Which wall of the trachea does not have any cartilage tissue? 

A- posterior

B- anterior

C- lateral left

D- lateral right

E- no anyone mentioned 

Correct answer-A

100. The patient has the knife wounding of the trachea. What ligaments connect the cartilages of the trachea?

A- longitudinale

B- transverse

C- circular

D- oblique

E- no anyone mentioned 

Correct answer-C

101. The foreign body came in the respiratory ways. Which bronchus must this foreign body is found in?

A- left principal

B- right principal

C- segmental

D- lobal

E- terminal bronchiola


Correct answer-B

102. The lungs have difficult structure. Which anatomical formation the changes of gases are going in?

A- lobar bronchi

B- segmental bronchi

C- terminal bronchiol
D- acinus

E- no anyone mentioned                

Correct answer-D

103. The inferior border changes during inflammation of the lungs. Which level is the inferior border of lungs of health people located according to medioclavicular line?

A- III rib

B- IV rib

C- V rib

D- VI rib

E- VII rib

Correct answer-D

104. The surgeon has to find out the pulmonary gates. Where are the pulmonary gates located on the lungs?

A- top

B- base

C- diaphragm surface

D- costal surface 

E- mediastinal surface

Correct answer-E

105. The doctor has to define the inferior borders of the patient’s lungs. Which rib does this border cross according to the scapular line?

A-VI

B-VII

C-VIII

D-IX

E-X


Correct answer-E

106. The infection can spread from the neck into the posterior mediastinum. What is the mediastinum?

A- complex of organs between lungs

B- space between ribs

C- space between pleural sacks

D- space between the sternum and vertebral column

E- complex of organs between mediastinal lists of the parietal pleura


Correct answer-E

107. The patient has to be made pleural punction. What is located in the pleura?

A- air

B- arterial blood

C- venous blood

D- lymph

E- serose liquid 

Correct answer-E

108. The infection of the neck can spread into the anterior mediastinum. What organs are located in the anterior mediastinum?

A- esophagus

B- thoracic aorta

C- thoracic lymph duct

D- sympathetic trunks

E- principal bronchi

Correct answer- E

109. The patient has inflammation of the pleura. What tipe of membrane is the pleura?

A- mucous

B- fibrous

C- muscular

D- serous

E- no anyone mentioned                


Correct answer-D

110. The patient has inflammation of the pleura. How many serous membranes are there in the thoracic cavity?

A- 1

B- 2

C- 3

D- 4

E- 5


Correct answer- C

111. The serous liquid was accumulated in the patient’s pleura cavity. How many serous cavities are there in the thoracic cavity?

A- 1

B- 2

C- 3

D- 4

E- 5

Correct answer- C

112. The infection of the neck can come in the posterior mediastinum. What organs are located in the posterior mediastinum?

A- tymus

B- trachea

C- principal bronchi

D- esophagus

E- heart


Correct answer- D

113. The doctor made diagnosis paranephritis. What membrane was changed?

A- fibrous

B- adiposus

C- anterior list of the fascia ( prerenal )

D- posterior list of the fascia ( retrorenal )

E- peritoneum


Correct answer- B

114. The surgeon-urologist is preparing foe operation of removing the renal stone.         On which level the renal hilum is located?

A- XI thoracic vertebra

B- XII thoracic vertebra

C- I lumbar vertebra

D- II lumbar vertebra

E- II lumbar vertebra


Correct answer- D

115. The patient has knife wounding in the lumbar region. There is bright red blood in the urine. What organ of the abdominal cavity was injured?

A- kidneys

B- ureter

C- urinary bladder

D- urethra

E- no anyone mentioned    


Correct answer-A

116. The patient was diagnosed the fracture of the 12th rib, at urine excretion there is blood in the urine. Which organ of the abdominal cavity was injured?

A- kidney

B- ureter

C- urinary bladder

D- urethra

E-  no anyone mentioned      


Correct answer-A

117. the patient has attack of the renal colic. Which constriction of the ureter was the stone stopped at?

A- ureter’s beginning in the renal pelvis

B- on terminal line of the pelvis

C- pelvic part of the ureter

D- place of connection of the ureter with the urinary bladder

E-  no anyone mentioned                


Correct answer-A

118. The patient was diagnosed with stones, located in the ureter, which caused the inflammation of the ureter. Which ureter’s membrane was injured?

A- mucous membrane

B- submucous membrane 

C- muscular layer of the ureter

D- friable connective tissue

E- serous membrane ( peritoneum )


Correct answer-A
119. The patient was diagnosed cancer, which has metastasis of the mesenterium and ureter. Which part of ureter was injured?

A- abdominal

B- pelvic

C- inside wall of the urinary bladder

D- on terminal line

E-  no anyone mentioned                


Correct answer-A

120. The patient has cancer of the urinary bladder. The urin can not pass through ureter into the urinary bladder. What part of the ureter is injured?

A- abdominal

B- pelvic

C- inside wall of the urinary bladder
D- on the terminal line

E-  no anyone mentioned                


Correct answer-C

121. The patient has cancer of the rectum with germinate into organs of the pelvis. What parts of the ureter are injured?

A- abdominal

B- pelvic

C- inside wall of the urinary bladder

D- on the terminal line

E- no anyone mentioned   


Correct answer-B

122. The ureter was injured during operation of uterus. What part of the ureter was injured?

A- abdominal

B- pelvic

C- inside wall of the urinary bladder

D- on the terminal line

E-  no anyone mentioned 


Correct answer-B

123. The patient’s diagnosis is cystitis inflammation of the urinary bladder. What membrane of the urinary bladder is inflamed?

A- mucous

B- submucous layer

C- muscular membrane

D- friable connective tissue

E- serous membrane


Correct answer-B

124. the patient was made a diagnosis: unoblitarated urachus. Which fold is the urachus located?

A- medius umbilical fold

B- medial umbilical fold

C- lateral umbilical fold 

D- inguinal ligament

E- no anyone mentioned                


Correct answer-A

125. The hard formation is palpated on the anterior abdominal wall in the pubic region. It was made diagnosis: cancer of the organ. What is this organ?

A- urinary bladder

B- sigmoid colon

C- rectum

D- ureter

E- vermiform appendix


Correct answer-A

126. The patient was made diagnosis: cancer of the prostate with germinates in the urinary bladder. What part of the urinary bladder is injured?

A- top of the urinary bladder

B- body of the urinary bladder

C- bottom of the urinary bladder

D- neck of the urinary bladder

E- no anyone mentioned   


Correct answer-D

127. The patient has cancer of the rectum with injured urinary bladder. What part of the urinary bladder is injured?

A- top of the urinary bladder

B- body of the urinary bladder

C- bottom of the urinary bladder

D- neck of the urinary bladder

E- no anyone mentioned                


Correct answer-B

128. The patient has the trauma of the pubic bones. The blood appeared from the orifice during excretion of the urine. What organ of the pelvis is injured?

A- sigmoid colon

B- rectum

C- urethra

D- vermiform appendix

E-caecum


Correct answer-C

129. The patient has the blow in the peritoneum. The blood appeared through the orificum. What part of the urethra is injured?

A- prostatic part

B- membranous part

C- spongious part

D- internal foramen of the urethra

E- no anyone mentioned                


Correct answer-B

130. The patient has cancer of the urinary bladder with the fribal into the prostate. Which part of the urethra was injured?

A- prostatic part

B- membranous part

C- spongious part

D- orificum

E- no anyone mentioned     


Correct answer-A

131. The patient has cancer of the testis with metastasis into the penis. There are difficulties of the excretion of urine. What part of urethra was injured?

A- prostatic part

B- membranous part

C- spongious part

D- orificium

E- no anyone mentioned     


Correct answer-C

132. The urethra was injured during operation of removing the prostate. What is the part?

A- prostatic part

B- membranous part 

C- spongious part

D- orificum

E- no anyone mentioned  


Correct answer-A

133. The patient has the dropsy of the testis. What membrane of the scrotum is the obopsy located?

A- skin

B- dartus membrane

C- external spermatic fascia

D- cremaster muscle

E- vaginalis membrane


Correct answer-E

134. The man has dilation of veins of the spermatic cord. Which part of the spermatic cord is venous dilation located in?

A- epididimis

B- mediastinum of the testis

C- testicular part of the spermatic cord

D- inguinal part

E- no anyone mentioned   


Correct answer-C             
135. The patient has the tumor of the testis with germinate in the epididymis and the beginning of the deference duct. Which part of the deference duct is injured?

A – testis 






B – funicular part





C – inguinal part
D – pelvic part
E – no anyone mentioned

Correct answer-A             
136. The patient was diagnosed honorea. He was treated by private doctors.

A – testis






B – epididymis  






C – deference duct
D – prosteate
E - no anyone mentioned

Correct answer-D       
137. The patient had the parotidis. As a result, there is absence of spermatozoids is sperma. Which injured part is spermatozoids produced by ?

A -  convoluted seminiferous tubules



B – straight seminiferous tubules



C – efferent duct
D – epididymus duct
E – vas deference

Correct answer- A
138. The old man has difficult urine excretion. Urine is excreted by catheter. Which internal male genital organ is hypertrophied?

A – testis






B – epididymus






C – spermatic cord
D – Prostate
E – bulbo-wrethral gland

Correct answer-D
139. The man has fracture of the penis. There is bleeding on the inferior surface of the penis. Which part of the urethra is injured?

A – internal urethral opening




B – prostatic part





C – membranous part 
D – spongy part
E - no anyone mentioned

Correct answer-D
140. The patient has dropsy of the testes. The fluid is accumulated between the parietal   and visceral lists of the membranes of the scrotum. What is the membrane?

A – skin







B – durtos membrane






C – external spermatic fascia
D – cremaster muscle
E - vaginal membrane of testes
Correct answer-E
142. The woman has inflammation of the uterus. Which layer of the uterus has inflammation?

A – endometrium





B – myometrium





C  - perimetrium
D – parietal list of peritoneum
E - no anyone mentioned

Correct answer-A
143. The woman is pregnant. Which type of the body is the ovarium?

A  - red







B – yellow






C – white
D – mature follicule
E - no anyone mentioned

Correct answer-B

144. The patient has the cancer of the rectum with germinate into the uterus. Which part of the uterus is injured by the tumor?

A – bottom of the uterus




B – body of the uterus





C – neck of the uterus
D – posterior lip of the uterus
E – anterior lip of the uterus

Correct answer-B

145. The patient was diagnosed oututerine pregnancy. Which internal female genital organ is it located? 

A – uterus






B – ovarium






C – uterine tubes
D – vagina
E - no anyone mentioned

Correct answer-C

146. The patient was diagnosed injured tissue of the uterus. Which part of the uterus was injured by the tumor?

A – bottom of the uterus




B – body of the uterus





C – neck of the uterus
D – posterior lip of the uterus
E – anterior lip of the uterus

Correct answer-B

147. The woman has the knife wound in suprapubic region. There is bleeding of the vagina. Which organ is injured?

A – uterus






B – uterine tubes





C – ovarium
D – vagina
E – no anyone mentioned

Correct answer-A

148. There is fibromyoma of the uterus diagnosed during examination. Which layer of the uterus is the tumor located? 

A – endometrium





B – myometrium





C – perimetrium
D – subserious layer
E – no anyone mentioned 

Correct answer-B

149. The patient has increased major pudenda labium, which became red. What glands are inflamed?

A – glands of the uterus





B – gland of the uterus’ neck




C – major vestibular glands
D – glands of the vagina
E – no anyone mentioned

Correct answer-C

150. The spleen is the blood forming organ, which produces:

A – thrombocytes





B – erytrocites






C – neutrophils
D – basophils
E - lymphocites

Correct answer-E

151. The spleen is the organ, where there is process of destroying of the following blood cells:

A – thrombocytes





B – erytrocites






C – neutrophils
D – basophils
E - lymphocites

Correct answer-B

152. The patient was made spleengraphy . Which level of ribs if the spleen located?

A -  between 4-5 ribs




B – between 6-7 ribs





C – between 3-4 ribs
D – between 9-11 ribs

E  - on the level of the 12-th rib

Correct answer-D

153. The surgeon is making operation of moving off of the spleen. Which ligament located of the diaphragmal surface  is he cutting?

A – lig. gastrolienale





B – lig. phrenicolienale





C – lig. Falciformis
D – lig. phrenicocolicum
E – no anyone mentioned

Correct answer-B

154. The spleen is taken in during surgical operation. It must be known the type of peritoneal covering of the spleen.

How is the spleen covered by peritoneum?

A – extraperitoneally 





B – mesoperitoneally 





C – intraperitoneally        
D – retroperitoneally
E – diaphragm l surface is covered, but visceral surface is not covered

Correct answer-C

155. The patient has increased spleen. What is the projection of the spleen on the anterior abdominal wall?

A – on the right hypochonriac region



B – on the left hypochonriac region



C – on the umbilical region
D – on the left iliac region
E – on the right iliac region

Correct answer-B

156. Which ligament is the spleen’s inferior border located?

A – lig. gastricolienale





B – lig. phrenicolienale





C – lig. Phrenicocolicum
D – lig. falciformis
E – lig. gastrocolicum

Correct answer-C

157. The patient has decreased function of the immune system. Which organ belongs to the central organ of the immune system?

A – tonsils






B – tymus gland





C – lymph glands
D – spleen
E – all mentioned

Correct answer-B

158. The doctor has to make operation – upper tracheotomia. Which level of the thrachea is the isthmus of the thyroid gland’s inferior edge located?

A – 2-4 thracheal rings





B – 5-6 thracheal rings





C – 7-8 thracheal  rings
D – 9-10 thraheal rings
E – below 10

Correct answer-A

159. There are inflammation and swelling in the region of the lingual caecum foramen. What the gland’s duct, which is the rudiment can stay and open in this foramen? 

A – thyroid






B – parathyroid






C – thymus
D – sublingual
E – submandibular 

Correct answer-A

160. Which gland regulates metabolism of the calcium and the phosphorus in organism?

A – thyroid






B – parathyroid






C – thymus
D – sublingual
E – submandibular 

Correct answer-B

161. The patient was diagnosed cretinism (intellectual backwardness and backward growth). Which backward gland causes such disease?

A – epiphisis






B – thymus






C – thyroid
D – parathyroid
E – all mentioned

Correct answer-C

162. The patient has increased nitrogen metabolism. Which hyperfunctional gland causes it?

A – epiphisis






B –hypophisis






C – thymus 
D - thyroid 
E – parathyroid 

Correct answer-D

163. The surgeon has to know about location of the parathyroid glands at surgical operations. How many usually these glands are there?

A – 1







B – 2







C – 4
D – 10
E – more 10

Correct answer-C

164.Which moved off glands cause the death and convulsion from tetania?

A – thyroid






B – parathyroid






C – hypophisis
D – epiphisis
E - thymus

Correct answer-B

165. The patient has intellectual backwardness. Which gland produces hormons insufficiency?

A – thymus






B – thyroid






C – epiphisis
D – hypophisis
E - parathyiroid

Correct answer-B

166. The doctor diagnosed increasing of the thymus function. Which symptoms were used by the doctor to make the diagnosis?

A – decreasing calcium in bones



B – decreasing metabolism of calcium of calcium and phosphorus 

C – increasing nitrogen metabolism

D – increasing growth of bones
E – increasing calcium in bones

Correct answer-A

167. The thymus of newborn children is so big. Which age will the gland developed maximum?

A – 1 year






B – 5 years





C – 10-15 years
D – 15-20 years
E – more 20 years

Correct answer-C

168. The patient having the wound of the anterior wall of the stomach is made the surgical help. Which anatomical peritoneal formation has contents of the stomach?

A – pregastric bursa





B – omental bursa





C – hepatic bursa
D – left mesenteric sinus
E – right mesenteric sinus

Correct answer-A

169. The patient has the knife wound of the right lumbar region. There is right injured kidney. What organs of the retroperitoneal space can be injured?

A – duodenum






B – transverses colon





C – left colic flexura
D – desdendens colon
E – beginning of the jejunum

Correct answer-A

170. The patient died from cute renal insufficiency. Which renal membrance will be removed difficult at pathological dissection?

A – fibrous capsule





B – renal fascia






C – fat capsule
D – retroperitoneal fascia
E – preperitoneal fascia

Correct answer-A

171. The renal stone which was size 3 x 4 cm, was moved off during operation. It’s shape has three processes like horns (coral stones). What anatomical formations have the same shape, as the processes of the renal stones? 

A – major calyces 





B – nephrons






C – minor calcyces
D – renal pelvis
E – renal lobules

Correct answer-A

172. The newborn boy does not have one testes in the right side of the scrotum during physical examination. Which anomaly of development is this? 

A – monorchism





B – hermaphroditism





C – criptocrism
D – hypospodia
E - epispodia

Correct answer-A

173. The patient was diagnosed dropsy of the testes. Which membrane of the testes has this pathological process?

A – vaginal membrane





B – dartos membrane





C – external spermatic fascia
D – internal spermatic fascia
E – skin of the scrotum

Correct answer-A

174. When the urinary bladder is full, it can be examinated by ultrasound research. Which muscle of the perineum holds the urine?

A – sphincter urethrae 





B – bulbo-spongiosus





C – ischio-cavernosus
D – superficial transversus
E – profundus transversus
Correct answer-A

175. The separated abscess, located in the root of the sigmoid colon’s mesentery, was diagnosed at surgical examination of the peritoneum. Which anatomical formation of the peritoneum is this abscess located?

A – intersigmoid fossa





B – right mesenteric sins




C – right lateral channel
D – left lateral channel
E – left mesenteric sinns

Correct answer-A

176. The patient complains of pain located in right iliac region. The mobile, soft, painful intestines is diagnosed by doctor using palpation. Which type of intestine is palpated by a doctor? 

A – caecum






B – sigmoid






C – rectum
D – ascendens colon
E - jejunum

Correct answer-A
177. The patient complains on pains in upper region of the umbilical region. There is palpated painful, mobile intestine. Which type of the intestine is palpated by a doctor?

A – transverses colon





B – jejunum






C – duodenum
D – ilium
E - sigmoid

Correct answer-A

178. The 75 years man was hospitalized in urology department with complains of pains of lower part of the abdomen, absence of urine, impossibility independent urine excretion. It was made diagnosis adenoma of the prostate gland. It was ordered catheter-treatment of the prostate gland. What is order of urethral parts, when catheter passes through the urethra?

A – spongy, membranous, prostatic



B – spongy, prostatic, membranous



C – membranous, spongy, prostatic
D – prostatic, membranous, spongy
E – membranous, prostatic, spongy

Correct answer-A

179. The 6 month child can not breathe in position on the back. There is tumor formation, located on the anterior wall of the trachea near the jugular notch of the sternum, which was diagnosed by palpation. This formation comes into the anterior mediastinum. Which organ can press on the trachea?

A-thymus gland

B-thyroid gland

C-para thyroid gland

D-parathyroid lymph nods

E-parathracheal lymph nodes


Correct answer-A

180. The patient was hospitalized with the penetrated wounding of the anterior abdominal wall. Wounded chanel passed above the minor curvature of the stomach. Which anatomical formation of the peritoneum did the wounded channel pass?

A-lig. Hepatogastricum

B-lig. Gastrocolicum

C-lig. Hepatoduodenale

D-lig. Hepatorenale

E-lig. Triangulare sinistrum


Correct answer-A

181. The patient was hospitalized in the surgical department with possible inflammation of Mekkel’s diverticule. Which part of the intestine must be examined to find out the diverticle during operation?

A-ileum

B-duodenum

C-jejunum

D-caecum

E-colon ascendens


Correct answer-A

182. The newborn boy has opening of the urethra located on the penis’ inferior surface at physical examination. Which anomaly of development is this?

A-hypospodia

B-hermaphroditism

C-epispodia

D-monorchizm

E-criptorhizm


Correct answer-A

183. The genicologist is examining the anterioz formix of the vagina. What anatomical formations form this fornix?

A-neck of the uterus and the anterior wasll of the vagina

B-anterior and posterior of the vaginal walls

C-neck of the uterus and the posterior vaginal wall

D-anterior and posterior lips of the uterus’ neck

E-body of the uterus and anterior vaginal wall


Correct answer-A

184. The genicologist is examining the uteral opening. What anatomical formations form this opening? 

A-anterior and posterior lips of the uterus’ neck

B-neck of the uterus and the anterior vaginal wall

C-anterior and posterior vaginal wall

D-neck of the uterus and posterior vaginal wall

E-body of the uterus and the anterior vaginal wall


Correct answer-A

185. The patient complains on the disturbance of the function of the stomach. The tumor of the beginning of the duodenum was diagnose. Find out localization of the tumor?

A-pars superior

B-pars inferior

C-pars descendens

D-pars oscendens

E-flexura duodeni 


Correct answer-A

186. The food can not come into the nasal part of the pharynx after the trauma of the facial skull. Which muscule was injured? 

A-m. levator velii palatine

B-m.palatopharyngeus

C-m. stylopharyngeus

D-genioglossus

E-m. palatoglossus


Correct answer-A

187. There are longitudinal folds of the mucose membrane of the small intestine during endoscopy. Which part of the intestine is this?

A-ampula of the duodenum

B-horisontal part of the duodenum

C-ascendens part of the duodenum

D-beginning of the jejunum

E-end of ilium


Correct answer-A

188. The young man complained on disturbance of the urine excretion. The urethra has opening located on the anterior surface of the penis during examination. Which type of anamoly of the development is this?

A-epispodia

B-phymos

C-hermaphroditizm

D-faraphymos

E-hypospodia


Correct answer-A

189. The newborn child has small diameter of the preputium’s opening, as the urethra’s diameter. The glans penis can not come out from the preputium. Which anomaly is this?

A-phymos

B-epispodia

C-hypospodia

D-paraphymos

E-hermaphroditizm


Correct answer-A

190. The doctor diagnosed bartolimits(inflammation of the bartolinc glands) at examination. Which anatomical formation has such pathology?

A-major vestibular gland

B-bulbus vestibule

C-minor vestibular gland

D-glands of the urethra

E-lacuns of the urethra


Correct answer-A

191. The doctor took out the clot of blood from the horizontal fissure during operation of the lungs. What lobes of the lungs are divided by this fissure?

A-superior and medius lobus of the right 

B-inferior and medius lobes of the right lung

C-superior and inferior lobes of the right lung

D-superior and inferior lobes of the left lung

E-inferior lobes of the right and left lungs


Correct answer-A

192. The doctor puts bronchoscope into the bronchus lobulares at examination of the lungs. He examined that this bronchus is divided into two segmental bronchi. Which lobe of the lungs was made manipulation by the doctor?

A-middle lobe of the right lung

B-superior lobe of the right lung

C-inferior lobe of the right lung

D-superior lobe of the left lung

E-inferior lobe of the left lung


Correct answer-A

193. The mother of the 3 years child came to the hospital. The foreign body located inside the body was examined on the level of 6 thoracic vertebra according to middle line at X-ray examination. Which organ is this foreign body located?

A-ezophagus

B-pharynx

C-trachea

D-left principal bronchus

E-right principal bronchus


Correct answer-A 
                                    Central Nervous System. Sensory organs  
1. The dead newborn child had undeveloped brain. Which part of the nervous tube was not formed during embryological development?

A-cranial

B-candal

C-middle

D-lower

E-upper


Correct answer-A

2. Which part of the brain does the IIId ventricle belong to?

A-diencephalon

B-telencephalon

C-metencephalon

D-myelencephalon

E-mesenchephalon


Correct answer-A

3. Which of the brain has the lateral ventricle as cavities?

A-telencephalon

B-mesencephalon

C-myclencephalon

D-diencephalon

E-metencephalon


Correct answer-A

4. Which pat of the brain does the aqueductus cerebri belong to?

A-telencephalon

B-myelencephalon

C-metencephalon

D-mesencephalon
E-diencephalon


Correct answer-D

5. What part of the brain will be developed from the middle cerebral bladder?

A-diencephalon

B-mesencephalon

C-metencephalon

D-telencephalon

E-myelencephalon


Correct answer-B

6. The patient has disturbed sensitivity of the muscles and the upper extremity’s skin. What segments of the spinal cord are injured?

A-1st coccigial

B-1-6 cervical

C-4-5 thoracic

D-5-8 cervical

E-1-4 thoracic


Correct answer-D

7. The patient has disturbed perceptibility of the muscles and skin of the trunk. What segments of the spinal cord were injured?

A-3-5 sacral

B-2-12 thoracic

C-1-6 cervical

D-4-5 thoracic

E-4-7 cervical 


Correct answer-B

8. The patient has disturbed perceptibility of the muscles and skin of the lower extremity. What segments of the spinal cord were injured?

A-2-5 lumbar; 1-2 sacral

B-1-2 lumbar; 12 thoracic

C-5-7 cervical; 1-2 thoracic

D-5 sacral; 1 lumbal

E-7 cervical;1 thoracic


Correct answer-A

9. The patient has disturbed extraction of exrements, after the trauma. What segments of the spinal cord were injured?

A-1-3 cervical

B-2-4 thoracic

C-3-5 sacral

D-10-12 thoracic

E-1-2 sacral


Correct answer-C

10. The patient has disturbed erection after the trauma. What segments of the spinal cord were injured?

A-1-3 cervical

B-2-4 thoracic

C-10-12 thoracic

D-1-2 sacral

E-3-5 sacral


Correct answer-E

11. The patient has the tumor process of the oblangate medulla’s right pyramid with breaking motor activity of the left half of the trunk. What conducting tracts form pyramid?

A-tractus corticospinalis

B-tractus rubrospinalis

C-tractus tectospinalis

D-tractus spinothalamica

E-no answer


Correct answer-A

12. The patient has tumor process of the oblongate medulla’s the anterolateral groove. Which cranial nerve having root will be injured?

A-n vagus

B-n glossopharingeus

C-n facialis

D-n hypoglossus

E-n abducens


Correct answer-D

13. The patient has tumor process of the oblongate medulla’s the posterlateral groove. Which cranial nerve having the root can take part in this process?

A-n facialis

B-n opticus

C-n oculomotorius

D-n trochlearis

E-n vagus


Correct answer-E

14. The patient has tumor process of the gracilis and cuneatus colicles of the oblongata medulla. Which conducting tracts pass through these colicules?

A-Goll’s and Burdach’s tracts

B-tractus spin o-cerebellaris

C-tractus spino-thalamicus

D-tractus rubrospinalis

E-tractus corticospinalis


Correct answer-A

15. The patient has inflammation of the oblongate medulla’s posterolateral groove. Which cranial nerve having root was injured?

A-n facialis

B-n abducens

C-n oftalmicus

D-n trigeminus

E-n glossopharingeus


Correct answer-E

16. The patient has inflammation of the oblongate medulla’s the posterolateral groove. Which craniual nerve having the root can be injured?

A-n facialis

B-n abducens

C-n accessorius

D-n trigeminus

E-n opticus


Correct answer-C

17. The patient has tumor of the right half of the oblongate medulla. The patient’s toungue is replaced on the right sicle(diviation of the toungue) during examination/ Which cranuial nerve takes part in tumor process?

A-n glossopharingeus

B-n facialis

C-n abducens

D-n hypoglossus

E-n vagus


Correct answer-D

18. The patient has slow heart activity, difficult brething after the trauma of the oblongate medulla. What cranial nerve has such pathological process?

A-n glossopharingeus

B-n vagus

C-n abducens

D-n brochlearis

E-n trigeminus


Correct answer-B

19. The vessel located on the surface of the pons has changes of the internal layer. It led to disturbance of cerebral blood supply during pathological dissection. What is this vessel.

A-a basilaris

B-a carotis interna

C-a vertebralis

D-a spinalis anterior

E-a cerbri posterior


Correct answer-A

20. The patient has tumor of the pons. There are difficulties of movements in lateral side of the eye’s muscle. What cranial nerve is in the pathological process?

A-n abducens

B-n facialis

C-n vagus

D-n trigeminus

E-n trochlearis


Correct answer-A

21. The patient has tumor of the right region of the pons. There is decreasing of temperature and pain perceptibility on the right haf of the face. Which cranial nerve is in this pathological process?

A-n abducens

B-n facialis

C-n vagus

D-n trigeminus

E-n trochlearis


Correct answer-D

22. The patient has inflammation of the right region of the pons. There is paresis of mimic muscle of the right side. Which cranial nerve having nucleuses is in the pathological process?

A-n abducens

B-n facialis

C-n vagus

D-n trigeminus

E-n trochlearis


Correct answer-B

23. The tumor located in the pons was examined during the pathological dissection. The tumor is located in the anterior part of the lin. Trigeminj-facialis. Which cranial nerve having the root takes part in the pathological process?

A-n abducens

B-n vagus

C-n trigeminus

D-n hypoglossus

E-n glossopharyngeus


Correct answer-C

24. The tumor was examined on the border between the posterior edge of the pons and the pyramid during surgical operation? Which cranial nerve having the root is taken in the pathological process?

A-n facialis

B-n glossopharyngeus

C-n hypoglossus

D-n abducens

E-n trigeminus


Correct answer-D

25. The inflammation of the cerebellum’s cortex was diagnosed. How many layers are there in the cerebellum’s cortex?

A-5

B-6

C-4

D-3

E-2


Correct answer-E

26. There is inflammation of the subcortical cerebellar nucleuses. Which subcortical cerebellar nucleus is located more laterally?

A-nucleus dentatus

B-nucleus emboliformis

C-nucleus fastigii

D-nucleus globosus

E-no correct answer


Correct answer-A

27. The inflammation of the white matter’s cerebellum was diagnosed. What types of fibers of white matter connect parts of the cerebellar cortex of opposite hemisphere?

A-comissurae

B-associative

C-short projective

D-long projective

E-no correct answer


Correct answer-A

28. There is tumor of the isthmus rhombencephali with injured superior cerebellar pedunculus. Which anatomical formation is located between superior perebellar pedunculi?

A-velum medullare inferior

B-velum medullar superior

C-frenulum

D-lig. Transversum

E-no correct answer


Correct answer-B

29. The patient has tumor of the isthmus rombencephali. Which cranial nerve having the root can be drawn into the pathological process?

A-n trigeminus

B-n trochlearis

C-n vagus

D-n glossophatyngeus

E-n facialis


Correct answer-B

30. The patient has tumor of the trigonum lemnisci with germination of its anterior border. What form the anterior border of this lemniscus?

A-brachium colliculus inferior

B-brachium colliculus superior

C-velum medullaris superior

D-velum medullaris inferior

E-no correct answer


Correct answer-A

31. The patient has tumor of the trigonum lemisci. Which fibers are located in this trigonum and are drown into the pathological process?

A-lemiscus lateralis

B-lemiscus medialis

C-fasciculus longitudinalis inferior

D-fasciculus longitudinalis superior

E-fasciculus incinatus


Correct answer-A

32. There is any connection between IV ventricle and III ventricle in the region of upper angle of the forth ventricle as result of inflammation. What is communication between II and IV ventricles?

A-aqueductus cerebri Silvii

B-interventricular foramen(Monro)

C-Mojendi’s foramen(aperture medialis ventriculi quarti)

D-Lushka’s foramen(aperture lateralis ventriculi auarti)

E-no correct answer


Correct answer-A

33. There is broken process of out following of cerebrospinal liquid into the subarchoid space after inflammation of patient’s cerebral membrains. What communications of the cerebrospinal liquid are there in subarachnoideal space?

A-aqueductus cerebri

B-Lushka’s and Mojendi’s foramens

C-interventricular foramen(Monro)

D-aqueductus cerebri

E-no correct answer


Correct answer-B

34. There is tumor of the IV ventricle’s bottom of patient. What forms the IV ventricle’s bottom?

A-velum medullaris superior

B-vellum medullaris inferior

C-rhomboid fossa

D-pulvinar thalami

E-lamina quadrigemina


Correct answer-C

35. The patient has tumor of the IV ventricle’s roof’s anterior part. Which anatomical formation is drown into the pathological process?

A-velum medullaris superior

B-velum medullaris inferior

C-pedunculli cerebralis inferiors

D-corpus geniculatum laterale

E-no correct answer


Correct answer-A

36. There is tumor is the IV ventricle’s bottom of the anterior part. Which anatomical formation is drawn into the pathological process?

A-pons

B-oblongate medulla

C-pulvinar thalami

D-corpus geniculatum laterale

E-no correct answer


Correct answer-B

37. There is tumor located in the IV ventricle’s bottom of the posterior part. Which anatomical formation is drawn into the pathological process?

A-pons

B-oblongate medulla

C-pelvinar thalami

D-corpus geniculatum laterale

E-no correct answer


Correct answer-B

38. Which part of the mesencephalon is located more back?

A-red nucleus

B-chiasma tegmentalis

C-central grey matter

D-tegmentum

E-reticular formation


Correct answer -D

39. Which nuc leus of the mesencephalon gives the beginning of the nervous tract?

A-central grey matter

B-red nucleus

C-reticular formation

D-lateral lemiscus

E-nucleus oculomotorius


Correct answer-B

40. Which nucleus of the mesencephalon is the part of the extrapyramidal system?

A-nucleus oculomotorius

B-reticular formation

C-red nucleus

D-lateral lemniscus

E-nucleus of the forth pair


Correct answer-C

41. The superior oblique muscle, ehich turning the eyeball downwards and externally, is not supplied. Which cranial nerve having the nucleus is injured?

A-n trigeminus

B-n trochlearis

C-n facialis

D-n intrmedius

E-n vestibulocochlearis


Correct answer-B

42. What is continuation of the pedunculi?

A-lateral hemniscus

B- superior cerebellar pedunculus

C-medius cerebellar pedunculus

D-tegmentum

E-internal capsula


Correct answer -E

43. There is tumor located in the region of the aqueductus cerebri. What ventricles have broken communications?

A-between III and IV

B-between II and lateral

C-between IV and cystrna

D-between IV and the chanel of the spinal cord

E-between cycterna located in the region of fossa interpeduncularis and cisterna cerebri lateralis


Correct answer-A

44. The patient has tumor located in the region of the coliculi superiors lamina teeti. Which type of sensority function was injured?

A-olfactory

B-tasting

C-touching

D-hearing

E-visal


Correct answer-E

45. The patient has tumor located in the region of the coliculi inferiors lamina tecti. Which type of sensory function was injured>?

A-hearing

B-olfactory

C-touching

D-tasting

E-visial


Correct answer-A

46. Which cerebral cavity has wall which is thalamus’ medical surface?

A-aqueductus

B-II ventricle

C-IV ventricle

D-lateral ventricles

E-infundibulum


Correct answer-B


47. What nervous tracts finish in pulvinar thalami?

A-tractus rubro-spinalis

B-tractus spino-thalamo-corticalis

C-tractus spino-cerebellaris posterior(Flexig’s)
D-tractus opticus

E-tractus spino-cerebellaris anterior(Govers’)


Correct answer -D

48. Which subcortical center is corpus geniculatum mediale?

A-vision

b-touch

C-hearing

D-olfactory

E-taste


Correct answer-B

49. Which subcortical center is corpus geniculatum lateral?

A-vision

B-hearing

C-taste

D-olfactory

E-touch


Correct answer -A

50. Which cerebral part’s continuation is regio subthalamica?

A-tegmentum

B-hyophisis

C-epiphisis

D-tuber cinerecum

E-cerebellum


Correct answer - A

51. Which part of hypothalamus is the center of metabolism and ternoregulation?

A-nucleus subthalamicus

B-corpus pineal

C-hypophisis

D-tuber cinereum

E-corpora mammillaria


Correct answer-D

52. Which part of the diencephalon is the extrapyramidal center’s sensory center?

A-hypophis

B-pulvinar thalami

C-epiphis

D-tuber cinerecum

E-hypothalamus


Correct answer-B

53. The patient hospitalized in hospital was diagnosed insult of the brain. There are right side paresis of mimic muscles the right extremity’s muscles diagnosed by a doctor. Which part of the hemispheria is injured place?

A-gyrus frontalis medius of the right hemisphere

B- gyrus frontalis medius of the left hemisphere

C-inferior part of gyrus precentralis of the left hemispheria

D-gyrus postcentralis of the right hemispheria

E-gyrus supramarginalis


Correct answer-C

54. The patient has difficulties of speech which called speech aphasia after insult of the brain. Which gyrus is injured?

A-superior frontalis

B-inferior frontalis

C-medius frontalis

D-superior temporalis

E-inferior temporalis


Correct answer-B

55. The patient diagnosed the brain’s insult was hospitalized. There are right side paresis of mimic muscles, right extremity’s muscles examined be a doctor. Which part of the hemispheria is injured place located?

A-gyrus frontalis medius of the right hemispheria

B-gyrus frontalis superior of the left hemispheria

C-inferior part of gyrus precentralis of the left hemispheria

D-gyrus postcentralis of the right hemispheria

E-gyrus supramarginalis


Correct answer-C

56. The patient has haemorrhage of the precentral gyrus. What sympthoms are this injury?

A-absence of movement of opposite side of the trunk

B-absence of hearing

C-abcence of vision

D-absence of smelling

E-absence of perceptibility of the trunk’s opposite side


Correct answer-A

57. The patient as metal turner can not make difficult details. Which brain’s part is the center of practical skill?

A-uncus
B-precuncus

C-supramarginal gyrus

D-cuneus

E-angular gyrus


Correct answer - C
58. The patient can not understand speech. Where is injured?

A-middlr part of superior temporal gyrus

B-posterior part of inferior temporal gyrus

C-superior frontal gyrus

D-medius frontal gyrus
E-angular gyrus


Correct answer-A

59. the patient can not write. Where is the motor writing center located?

A-prescenral gyrus

B-postcentral gyrus

C-posterior part of inferior frontal

D-superior frontal gyrus

E-superior temporal gyrus


Correct answer-C

60. The patient can not rad. Which gyrus is injured?

A-cuneus

B-precuneus
C-angular gyrus

D-uncus

E-supramarginal gyrus


Correct answer-C

61. The patient lost the hearing after the trauma. Which gyrus is injured?

A-inferior ffrontal

B-precentral

C-supramarginal;

D-superior temporal

E-medius frontal


Correct answer-D

62. The patient has decreased tomes of selection muscles. Which gyrus is injured?

A-precentral gyrus

B-posterior gyrus

C-supramarginal gyrus

D-basal nucleuses

E-inferior temporal gyrus


Correct answer-D

63. The patient has brain’s tumor located in the region of insula, which grows medially. There are change of muscle tonus movements, spastic hemaparesis. Which movements spastic hemaparesis. Which brain’s part is injured?

A-precentral gyrus

B-inferior frontal gyrus

C-basal ganglions

D-pedunculi cerebri

E-pulvinar thalami


Correct answer-C

64. Which injured basal nucleus of leads to disturbance of emotional sexual endocrine metabolic reactions?

A-caudatus

B-amigdolaidus

C-putamen

D-globus pallidus

E-lentiformis


Correct answer-B

65. There are injured vegetative functions of organism aggression hypersexuality. Which injured part of the limbic system caused appeareance of such symptoms?

A-gyrus formicatus

B-hypocampus

C-fronto-occipital gyrus

D-amysdoaid complex and hypocampus

E-piriformis cortex


Correct answer-D

66. The injured region is located in the genus of the internal capsule. Which tact was injured?

A-visual

B-hearing

C-cortico-spinal

D-cortico-nuclear

E-hearing


Correct answer-D

67. The injured region is located in the posterior crus’ anterior part of the internal capsule after the bleeding. Which tract was injured?

A-cortico-nuclear

B-hearing

C-spino-cerebellar

D-optic

E-pyramidal


Correct answer-E

68. there is injured internal capsulae’s anterior crus. Which tract was injured?

A-pyramidal

B-cortico nuclear

C-hearing

D-cortico-ponto-cerebellar

E-optic


Correct answer-D

69. There is injured internal capsule of posterior crus’s inferior part. Which tract is interrupted?

A-optic

B-olfactory

C-tasting

D-hearing

E-motor


Correct answer-D

70. There is penetrated wounding of the brains frontal lobe. The transporate fluid is following out from wound. Which anatomical formation is injured?

A-third ventricle

B-forth ventricle

C-anterior horn of the lateral ventricle

D-lateral cysterna

E-posterior horn of the lateral ventricle


Correct answer-C

71. There is delated right lateral ventricle’s anterior horn. Which opening ws injured?

A-Majendi’s

B-Lushka’s

C-right interventricular

D-left interventricular

E-aqueductus


Correct answer-C

72. There are delated lateral ventricles and delated third ventricle of the brain on the X-ray picture. Which communication was injured?

A-interventricular foramen

B-Lushka’s foramen

C-Majendi’s foramen

D-aqueductus cerebri

E-central chanel of the spinal cord


Correct answer-D

73. The newborn child is hydrocephal. Which anatomical formations were not developed?

A-central chanell

B-aqueductus cerebri

C-choroid plexus

D-Lushka’s and Mojendi’s foramens

E-interventricular foramens


Correct answer-D

74. There are fractures of skull’s bones in the region of the lamina cribrosa after the trauma. The patient can not smell. Which formation is injured?

A-II branch

B-bulbus olfactorius

C-olfactory tract

D-trigonum olfactorium

E-optic nerve


Correct answer-B

75. There is wide hematoma in the anterior cerebral fossa after the skull’s trauma. What formations of the olfactory tract are pressed?

A-gyrus dentatus

B-gyrus fornicatus

C-anterior substantia perforate

D-olfactory bulbus tract trigonum

E-uncus


Correct answer-D

76. There is disturbed olfactory function after the trauma of the nose. Which part of the olfactory brain was injured?

A-bulbus olfactorius

B-lamina pelucida

C-tractus olfactorius

D-trigonum olfactorius

E-olfactory receptors


Correct answer-E

77. The anterior cerebral commissural was dissected in the region of the frontal lobes. What type of conducting tracts does the commisura form?

A-assosiative

B-commissurae

C-projective sensory

D-cortico-bulbar

E-projective tract


Correct answer-B

78. The patient can not smell after infalmation of the nasal cavity and paranasal sinus. Which part of the olfactory tract was injured?

A-olfactory bulbus

B-trigonum olfactorius

C-receptors

D-mammary bodies

E-olfactory tract


Correct answer-C

79. There is strong venous bleeding in the region of the saggital sutura after the sbull’s trauma. Which sinus of the dura mater encephali was injured?

A-transversus

B-sigmoideus

C-superior sagitalis

D-reetus

E-inferior sagitalis


Correct answer-C

80. Where does the cerebrospinal fluid flow out from the ventricle?

A-aqueductus cerebri

B-subdural space

C-suparachnoideal space

D-subarachnoideal space

D-epidural space

E-big cerebral vein


Correct answer-C

81. There is venous bleeding with wounding of the skull in region of magnum occipital foramen. Which venous formation was injured?

A-sigmoid sinus

B-superior sagital sinus

C-confluence sinusum

D-choroid of the plexus 4 ventricle

E-superior cavernosus sinus


Correct answer-C

82. There is fracture of the occipital bone, disturbed blood supply, cerebellar disturbances. Which artery was injured?

A-media

B-optic cerebralis

C-basilaris

D-vertebralis

E-anterior cerebralis


Correct answer-C

83. There is fracture of the skull’s base in the region of clivus. Which artery was injured?

A-posterior cerebralis

B-posterior communicans

C-basilaris

D-posterior meningea

E-vertebralis


Correct answer-C

84. the patient has hydrocephalia. It is possible that Lushka’s and Magendi’s foramens are closed. Which anatomical formations are these foramens located?

A-centrral channel of the spinal cord

B-forth ventricle

C-third ventricle

D-aqueductus

E-lateral ventricles


Correct answer-B

85. There are delated anterior horns of the lateral ventricles on X-ray picture. Which foramens of the lateral ventricles are blocked?

A-Majendi’s foramen

B-Lushka’s foramen

C-interventricular foramen

D-aqueductus

E-central channel of the spinal cord


Correct answer-C

86. There is decreasing of the cerebrospinal liquid located in the cerebral ventricles. Which formation does not work properly?

A-hypocampus

B-epitelial plane

C-septum pellucidum

D-choroid plexuses

E-reticular formation


Correct answer-D

87. There is broken out flowing of the cerebrospinal fluid ffrom subarachnoideal space to superior sagital sinus. Which foramen does the cerebrospinal fluid pass through?

A-flax cerebri major

B-choroid plexus

C-granulations arachnoidales

D-falx cerebri minor

E-epitelial plane


Correct answer-C

88. There is broken out flow of the cerebrospinal fluid from the third ventricle to the forth ventricle. What is communication between the third and the forth ventricles?

A-interventricular foramen

B-Majendi’s foramen

C-Lushka’s foramen

D-aqueductus cerebri

E-foramen caecum


Correct answer-D

89. The patient was made diagnosis tumor of the hypophisis. The medial areas of the retina are injured. Which nervous formation is pressed by tumo?

A-optic nerve

B-optic tract

C-optic chiasma

D-II bronch of V nerve

C-oculomotorius nerve


Correct answer-C

90. There are disturbance of pronunciation and swalling at examination of the patient. What nucleuses of the cranial nerves are injured?

A-nucleuses located in superior triangle of the rhomboid flossa

B-nucleus of the facial nerve

C-nucleus located in inferior triangle of the rhomboid fossa

D-nucleus of accesorius nerve

E-nucleus of trigeminal nerve


Correct answer-C

91. The patient has disturbed work of the heart and the respiratory system. Which pair of the cranial nerves having nucleuses was injured?

A-V

B-X

C-III

D-IV

E-VI


Correct answer-B

92. The patient has cross-eye limited movements of eyeball outside. What pair of the cranial nerves haling nucleuses was injured?

A-X

B-V

C-VI

D-II

E-VII


Correct answer-C

93. The patient has paralyses of the mimic muscles. Which pair of the cranial nerves having nucleuses was injured?

A-V

B-VI

C-X

D-VII

E-IX


Correct answer-D

94. The patient patient has broken act of the swalling. Which pair of cranial nerves were injured?

A-II,IV

B-V,VI

C-II,I

D-VIII-VII

E-IX-X


Correct answer -E

95. The patient has broken movements of the eyeball-down and laterally. Which pair of cranial nerves was injured?

A-II

B-VII

C-II branch of V pair

D-IV

E-IX


Correct answer -D

96. There is paralyses of muscle lifting the upper eyelid and muscle adducting eyeball. Which pair of cranial nerves was injured?

A-VI
B-IV

C-III

D-II branch of V

E-II


Correct answer-C

97. The patient has tumor of the hypophisis. The medial areas of retina were injured at examination. Which part of the opic tract is pressed by tumor?

A-optic nerve

B-corpus geniculatum mediale

C-corpus geniculatum laterale

D-optic chaisma

E-optic tracts


Correct answer-D

98. The patient has bleeding of lemniscus lateralis. What parts of the brain does lemniscus lateralis connect?

A-pulvinar talami with cortex

B-cerebellum with pulvinar thalami

C-cerebellum with oblongate medulla

D-oblongate medulla with pulvinar thalami

E-oblongate medulla with basal nucleuses


Correct answer-D

99. The patient funiculuses of the spinal cord were injured after inflammation. What conducting tracts pass through posterior funiculuses?

A-Grovers’

B-Flexig’s

C-spinothalamic

D-Goll’s and Burdach’s

E-rubro-spinalis


Correct answer-D

100. There are injured genus and rostrum of corpus callosum. What parts of the cortex do commissural fibers connect through mentioned parts of corpus callosum?

A-cortex of frontal lobes of both hemispheria

B-cortex of the precentral gyruses of both hemispheria

C-cortex of temporal gyruses of both hemispheria

D-cortex of parietal gyruses of both hemispheria

E-cortex of insula


Correct answer-A

101. There is injured cortical center of pain and temperature perceptibility. Which gyrus is it located?

A-superior parietal lable

B-angular gyrus

C-posterior gyrus

D-supramarginal gyrus

E-superior temporal gyrus


Correct answer-C

102. There is bleeding of the right precentral gyrus. That’s why left half of the trunk is paralysed. Which conducting tract is injured?

A-carotico-nuclear

B-cortico-pontinus

C-ponto-cerebellar

D-rubro-spinal

E-pyramidal


Correct answer-E

103. The patient has paralysis of muscles of the pharynx and the larynx. Which tract provides function of muscles of these organs?

A-cartico-spinal

B-cartico-nuclear

C-rubro-spinal

D-cortico-pontinus

E-ponto-cerebellar


Correct answer-B

104. The patient has bleeding of the internal capsule’s genus. Which tract pass trough this injured place?

A-rubro-spinal

B-cortico-spinal

C-pyramidal

D-cortico-nuclear

E-ponto-cerebellar


Correct answer-D

105. The patient has trauma of the vertebral collomn. There is bread of the spinal cord on the level of the limbar entumeswcentia. There are paralysis of the lower limbs and perineum. Which tract was injured?

A-rubro-spinal

B-cortico-nuclear

C-tecto-spinal

D-cortico-spinal

E-vestibulo-spinal


Correct answer-D

106. The patient has injured anterior funculuses of the spinal cord. Which tract form these funiculuses?

A-cortico-nuclear

B-pyramidal

C-Goll’s 

D-Burdach’s

E-rubro-spinal


Correct answer-B

107. The patient has injured lateral funiculus of the spinal cord. There is broken unconscious coordinative movement(walking, running). Which tract provides these movements?

A-pyramidal

B-rubro-spinal

C-Grovers’

D-Flexig’s

E-cortico nuclear


Correct answer-B

108. What is the name of the nerve conducting taste from 2/2 tongue?

A-lingual nerve

B-hyppoglossal nerve

C-tympanic nerve

D-glossopharyngeal nerve

E-vagus nerve


Correct answer-C

109. What is name of the nerve conducting taste from 1/3 of the tongue?

A-vagusnerve

B-trigeminal nerve

C-intermedius nerve

D-facial nerve

E-glossopharyngeal nerve


Correct answer-E

110. What is name of the nerve conducting taste from the soft plate and palate arches?

A-vagus nerve

B-glosopharyngeus nerve

C-intermmedius nerve

D-trigeminal nerve

E-hypoglossal nerve


Correct answer-B

11. There is absent taste of the epiglotis’posterior part. Which nerve is injured?

A-glossopharyngeal nerve

B-vagus nerve

C-intermedius nerve

D-glossopharyngeal nerve

E-trigeminal nerve


Correct answer-B

112. Where are bodies of the first neurons of the first 2/3 of the tongue of taste tract located?

A-inferior node of the IX pair

B-superior node of the IX pair

C-inferior node of the X pair

D-superior node of the X pair

E-geniculate node


Correct answer-E

113. Where are bodies of the first neurons of the posterior 1/3 of the tongue of the taste tract located?

A-pterygopalate node

B-otic node

C-submandibular node

D-inferior node of the IX pair

E-inferior node od the X pair


Correct answer-D

114. where are bodies of the second neurons of the taste tract located?

A-accessorius nucleus of the III pair

B-superior salvatoeius nucleuses

C-inferior salvatorius nucleuses

D-posterior nucleus of the X pair

E-nucleus of tractus solitarius


Correct answer -E

115. Where are bodies of the third neurons of the taste tract located?

A-dorsal part of the pons

B-ventral part of the pons

C-trapezoid body

D-optic tuber

E-oblongate medulla 


Correct answer-D

116. What is the cortical taste center?

A-paracentral lobule

B-lingual gyrus

C-precuneus

D-uncus

E-hypothalamus


Correct answer-D

117. The patient has injured organ of smell. Which bone was injured?

A-nasal

B-inferior nasasl concha

C-sphenoid

D-maxilla

E-ethmoid


Correct answer-E

118. What is name of the external membrane of the eyeball?

A-sclera

B-conjuctive

C-iris

D-fibrous

E-retina


Correct answer-D

119. Which part of the eyeball is ciliar body?

A-cornea

B-sclera

C-iris

D-retina

E-vascular membrane


Correct answer-E

120. What is the best place of vision?

A-iris

B-lens

C-corpus vitreum

D-optic part of retina

E-central fossa


Correct answer-E

121. What parts does the eyeball consist of ?

A-lens

B-corpus vitreum

C-liquid of anterior chamber

D-liquid of posterior chamber

E-lens, corpus vitreum, liquid of chambers


Correct answer-E

122. What eyeball part’s shape does accommodation depend on?

A-iris

B-anterior chamber

C-posterior chamber

D-lens

E-corpus vitreum


Correct answer-D

123. Where is the lacrimal gland located?

A-inferior medial angle

B-superior medial angle

C-inferior lateral angle

D-superior lateral angle

E-corpus vitreum


Correct answer-D

124. Where is the lacrimal sack located?

A-superior lateral angle of the orbite

B-inferior lateral angle of the orbite

C-superior medial angle of the orbit

D-inferior medial angle of the orbit

E-orbit’s ceuer


Correct answer-D

125. The left occipital lobe was injured after trauma of the brain. Which parts of the retina can not receive the light?

A-retina of the left halfs of both eyeballs

B-retian of right full eyeball

C-retina of both full eyeball

D-retina of left full eyeball

E-retina of right halfs of both eyeballs


Correct answer-A

126. The tumor of the brain broke the optic chiazma. What parts of retina do not receive the light? 

A-right helfs of the both retinas

B-left halfs of both retinas

C-external halfs of both retinas

D-both full retinas

E-internal halfs of both retinas


Correct answer-E

127. What parts does the external ear consist of?

A-external acustic meatus and tympanic membrane

B-tympanic membrane auricle

C-tympanic cavity external acustic meatus

D-auricle external acusticus meatus

E-auricle tympanic cavity


Correct answer-D

128. What parts does the external acusticus meatus consist of?

A-cartilageous part

B-membrane part

C-bony part

D-membrane and bony parts

E-cartilagus and body parts


Correct answer-E

129. What is the tympanic cavity’s lateral wall formed by?

A-tympanic membrane

B-labyrynth of the internal ear

C-vestibule of the bony labyrinth

D-jugular fossa

E-caotid channel


Correct answer-A

130. Where is fenestra vestibule located?

A-anterior wall of the tympanic cavity

B-posterior wall of the tympanic cavity

C-medial wallof the tympanic cavity

D-medial wall of the vestibulum

E-posterior wall of the vestibulum


Correct answer-C

131. What is the fenestra cochlea closed by ?

A – crista vestibuli

B – base of the stapes

C – manubrium of the maleus

D – incus

E – second tympanic membrane

Correct answer – E 

132. What contains the modiolus, as the main part?

A – cochlea

B – vestibulum

C – semicanales osseus

D – lamina spiralis ossea

E – canalis musculotubarius

Correct answer – A

133.   What skull's anatomical formation does the vestibulocochlear nerve pass through?

A – facial nerve

B - musculotubarius channel

C – external acusticus meatus

D - internal  acusticus meatus

E – tympanic cavity

Correct answer – D

134.The patient has broken perceptibility of balance.  What nerve was injured?

A – cochlear

B – vestibulocochlear

C – intermedius

D – vagus

E – facial

Correct answer – B

MODULE III
Vessels and nerves of the head and the neck
1. Where are the olfactory receptors located?

A – anterior region of the nose

B – posterior region of the nose

C – respiratory region

D – olfactory region

E – inferior nasal meatus

Correct answer – D

2. What is the cortical end of the olfactory analizator?

A – olfactory triangle

B – septum pelucidum

C – substantia perforata anterior

D – hypothalamus

E – uncus

Correct answer – E

3. What does the abducens nerve supply ?

A – medial and lateral rectus muscles

B – external rectus muscle

C – superior and inferior obliquus muscle

D – medial rectus muscle

E –  inferior obliquus muscle

Correct answer – B
4. What does the trochlear nerve supply?

A-musculs levator palpebra superior

B-musculus orbicularis oculi

C-musculus ciliaris

D-musculus obliquus inferior

E-musculus obliquus superior


Correct answer-E

5. What functional type is the optic nerve?

A-motor

B-sensory

C-sympathetic

D-parasympathetic

E-mixed


Correct answer-B

6. What function type is the oculomotorius nerve?

A-motor

B-sensory

C-sympathetic

D-parasympathetic

E-mixed


Correct answer-A

7. The patient has absent corneal reflex. Which nerve was injured?

A-n.oculomotorius

B-n.ophtalmicus

C-n.trochlearis

D-n.abducens

E-n.vagus


Correct answer-B

8. The patient has one injured eyeball and he can’t see. Which nerve was injured?

A-ophtalmicus

B-opticus

C-oculomotorius

D-trigeminus

E-trochlearis


Correct answer-B

9. The patient is stone-blind. Which part of the brain was injured?

A-occipital part

B-optic tract

C-optic chiasma
D-optic nerve

E-frontal love


Correct answer-C

10. There is absence of vision of the right eyeball’s external part and the left eyeball’s internal part in patient came to hospital. Which part of the optic tract was injured?

A-right optical nerve

B-left optic nerve

C-right optic nerve

D-left optic nerve

E-optic chiasma


Correct answer-C

11. The patient complains on skin pain in the region of the forehead. Which nerve was injured?

A-facialis

B-glossopharyngeus

C-vagus

D-supraorbitalis

E-intermedius


Correct answer-D

12. The patient has pain of the region of the nose’s root. There is diagnosed inflammation of the frontal sinus. Which nerve was injured?

A-III branch of the trigeminal nerve

B-vagus nerve

C-sympathetic trunk

D-glossopharyngeal nerve

E-I branch of the trigeminal nerve


Correct answer-E

13. There patient has high pain perceptibilityof the supraorbital foramen’s region. Which nerve was injured?

A-facial

B-ophtalmic

C-vagus

D-glossopharyngeal

E-hypoglossal


Correct answer-B

14. There is absence of perceptibility situated in the lateral eyeball angle’s upper conjuctiva. Which nerve was injured?

A-vagus

B-facial

C-intermedius

D-glossopharyngeal

E-I branch of the tregimenal nerve


Correct answer-E

15. The patient complains on pain of the eyeball. Which nerve was injured?

A-aculomotorius

B-trochlearis

C-I branch of the trigeminal nerve

D-abducens

E-facial


Correct answer-C

16. There is pain of the left cheek’s skin complained by patient and also there us pain of the temporal region’s skin of the anterior part. Which nerve was in injured?

A-facial

B-II branch of Vpair

C-intermedius

D-vagis

E-glossopharyngeal


Correct answer-B

17. There is increased pain perceptibility of the infraorbital foramen’s region. Which nerve was injured?

A-facial

B-ophtalmic

C-mandibular

D-maxillar

E-lingual


Correct answer-D

18. The patient complains on absence of perceptibility of the upper lip's skin. Which nerve was injured ?

A – 2 branch of the trigeminal nerve

B – lingual

C – vagus

D – sympathetic trunk

E –  hypoglossal                                                          

Correct answer – B

19. The patient complains on pain of the upper gums. Which nerve supplies these gums ? 

A – hypoglossal 

B – 2 branch of the trigeminal nerve

C – facial

D – vagus 

E – intermedius                                                           

Correct answer – B

20. The patient complains on pain of the left upper teeth. The doctor diagnosed caries of the left upper lateral incisivus tooth. Which nerve supplies this tooth?

A – 3 branch of the trigeminal nerve

B – facial 

C – vagus

D - 2 branch of the trigeminal nerve

E - glossopharingeal

Correct answer – D

21. The patient has pain of the mucous membrane of both cheeks . Which nerve was injured?

A – hypoglossal

B – buccal of the 3 branch of the trigeminal nerve

C – sympathetic trunk

D - glossopharingeal 2 branch of the trigeminal nerve

E - vagus

Correct answer – B

22. The patient has broken act of mastication, because he can not move forwards the lower jaw. The doctor diagnosed paralysis of the lateral pterygoid muscle. Which nerve was injured ?

A - 3 branch of the trigeminal nerve

B – glossopharingeal

C - sympathetic trunk

D – vagus

E - hypoglossal

Correct answer – A

23. The patient complains on pain of the left inferior teeth. Which nerve was inflamated ?

A – vagus

B - 3 branch of the trigeminal nerve

C - 2 branch of the trigeminal nerve

D - hypoglossal

E - accessorius

Correct answer – B

24. The patient has absence of perceptibility of the mental region's skin. Which nerve supplies this region ?

A – hypoglossal

B – facial

C – intermedius

D - sympathetic trunk

E - 3 branch of the trigeminal nerve

Correct answer – E

25. The patient complains on pain of the mandibular joint's region. Which nerve was injured ?

A - 3 branch of the trigeminal nerve

B – vagus

C – hypoglossal

D – glossopharingeal

E - sympathetic trunk

Correct answer – A

26. The patient has broken perceptibility of the lower limb. Which nerve was injured?

A – oculomotorius

B – abducens

C - 3 branch of the trigeminal nerve

D – vagus

E – intermedius

Correct answer – C

27. The patient has broken general perceptibility of the tongue. Which nerve carries general perceptibility to the tongue ?

A – vagus

B – intermedius

C - lingual of the 3 branch of the trigeminal nerve

D – facial

E - sympathetic trunk

Correct answer – C

28. The patient complains on broken act of mastication. There is diagnosed fracture of the zygomatic arch, which led to injure of the masseter muscle. Which nerve supplies this muscle ?

A -  3 branch of the trigeminal nerve

B – facial

C – intermedius

D – vagus

E – glossopharingeal

Correct answer – A

29. The patient has paralysis of the left half of the face after disease. Which nerve was injured?

A – facial

B – vagus

C - sympathetic trunk

D – hypoglossal

E – trigeminal

Correct answer – A

30. The patient can not move lips any more. Which nerve was injured?

A – trigeminal

B – facial

C – vagus

D - sympathetic trunk

E – glossopharingeal

Correct answer – B

31. The patient complains on "painfull hearing". The paralysis of the stapedius muscle was diagnosed. Which nerve was injured?

A – facial

B – trigeminal

C – glossopharingeal

D – vagus

E - intermedius 

Correct answer – A

32. The patient complains on depression of the right angle of the mouth. Which nerve was injured?

A – facial

B – intermedius

C – sympathetic trunk 

D – vagus

E - glossopharingeal

Correct answer – A

33. The patient has surgical operation of the pyramid of the temporal bone. The function of the submandibular and sublingual glands was broken after operation.              Which nerve was injured?

A – intermedius 

B – vagus

C – sympathetic trunk 

D – glossopharingeal

E - facial

Correct answer – A

34. The patient complains on swelling of the submandibular gland. There is diagnosed inflamation of the submandibular gland. Which vegitative node of the head receives parasympathetic innervation for the submandibular gland ?

A – pterygopalate 

B – otic

C – ciliar 

D –submandibular

E -hypoglossal

Correct answer – D

35. The doctor diagnosed narrowing of the pupilla. Which vegitative node of the head was injured ?

A – ciliar 

B – otic

C – pterygopalate

D –submandibular

E -hypoglossal

Correct answer – A

36. The otic gland receives parasympathetic innervation through the otic node. Where is this node located ?

A – pterygopalate fossa

B – anterior cranial fossa

C – external surface of the skull's base near the oval foramen

D – temporal fossa

E – middle cranial fossa

Correct answer – C

37. The patient has fracture of the skull's base. The fracture is located in the oval foramen. Which vegitative node was injured ?

A – otic ciliar 

B – pterygopalate

C – submandibular

D –cervical

E - hypoglossal

Correct answer – A

38. The lacrimal gland receives parasympathetic innervation through the pterygopalate node. Where is it located?

A – pterygopalate fossa

B – temporal fossa

C – submandibular fossa

D – middle cranial fossa

E – posterior cranial fossa

Correct answer – A

39. The patient has injured tympanic nerve. What anatomical formation has broken innervation?

A – mucous membrane of the tympanic cavity and the auditory tube

B - mucous membrane of the palate tonsiles and arches

C - mucous membrane of the tongue

D – skin of the auricle

E – parotid gland

Correct answer – A

40. The patient feels pain during swalling. The innervation of the stylopharyngeal muscle was broken. Which nerve was injured?

A – vestibulocochlear

B – glossopharyngeal

C – vagus

D – facial

E – trigeminal

Correct answer – B

41. The patient has broken innervation of the larynx's muscles. Which nerve was injured?

A – accessorius

B – trigeminal

C – vagus

D – facial

E – phrenicus

Correct answer – C

42. The patient has broken innervation of the mucous membrane of the palate tonsiles and arches. Which nerve was injured?

A – tympanic nerve

B – hypoglossal nerve

C – vagus nerve

D – facial nerve

E – glossopharyngeal nerve

Correct answer – E

43. The patient has hypersecration of the thyroid gland. There are vegitative disturbances. Which vegitative parasympathetic nerves supply this gland?

A – sympathetic trunk

B - vagus nerve

C – minor occipital nerve

D – glossopharyngeal nerve

E – sternoclaidomastoideus nerve

Correct answer – B

44. The patient has broken function of the stylopharyngeal muscle. Which nerve was injured?

A – vagus nerve

B – cervical plexus

C – hypoglossal nerve

D – ansa cervicalis

E - glossopharyngeal nerve

Correct answer – B

45. There is nevritis of the pharyngeal plexus. What muscles are injured?

A – infrahyoid muscle

B – prevertebral muscles

C – pharyngeal constrictors

D – suprahyoid muscles

E – sternoclaidomastoid muscle

Correct answer – C

46. The patient has tumor of the larynx located above the vocal opening. Which nerve can be injured?

A – pharyngeal branches of the vagus nerve

B – superior cardiac branches

C – inferior cardiac branches

D - glossopharyngeal nerve

E – superior laryngeal nerve

Correct answer – E

47. The patient has absence of perceptibility of the larynx located above the vocal opening, parts of the tongue's root and the epiglotis. What nerves were injured?

A – pharyngeal branches of the vagus nerve

B –laryngeal branches

C – superior cardiac branches

D - esophageal branches of the vagus nerve

E – accessorius nerve

Correct answer – A

48. The patient has broken innervation of the palate arches and the soft palate. Which nerve was injured?

A – glossopharyngeal nerve 

B – accessorius nerve

C – pharyngeal branches of the vagus nerve

D - lingual nerve

E – pharyngeal plexus

Correct answer – A

49. The patient has injured anterior scalenius muscle. Which nerve can be injured?

A – vagus nerve

B – phrenicus nerve

C – accessorius nerve

D – sympathetic trunk

E – all mentioned

Correct answer – B

50. The patient has injured major occipital nerve. What complications will be after this injury?

A – pain located in upper part of the back

B – becoming dumb of the occipital region of the head

C - pain located in the occipital region of the head

D - pain located in the parietal region of the head

E – itch in the region of the seventh vertebra

Correct answer – B

51. The accessorius nerve was injured. What muscle do not work?

A – platisma

B – omohyoideis

C – sternothyroideus

D – sternoclaidomastoideus

E -thyrohyoideus

Correct answer – D

52. The patient can not bend the head on the left with synchronous turning of the face on the right. Which nerve was injured? 

A – hypoglossal nerve

B – accessorius nerve

C – glossopharyngeal nerve

D –vagus nerve

E – sympathetic trunk

Correct answer – B

53. There are limited movements of the tongue, because of broken innervation of the lingual muscles. Which nerve was injured?

A – tympanic nerve

B – 3 branch of the trigeminal nerve

C – glossopharyngeal nerve

D –vagus nerve

E – hypoglossal nerve 

Correct answer – E

54. The patient has absence of perceptibility of the skin of the occipital region's lateral part. Which nerve was injured?

A – major auricular nerve

B – supraclavicular nerve

C – minor occipital nerve

D – phrenicus nerve

E – transversus coli nerve

Correct answer – C

55. The patient has absence of perceptibility of the anterior surface of the neck's skin. Which nerve was injured?

A – major auricular nerve

B – supraclavicular nerve

C – minor occipital nerve

D – transversus coli nerve

E – phrenicus nerve 

Correct answer – D

56. The patient has absence of perceptibility of the skin of the external acusticus 

meatus and the auricle. Which nerve was injured?

A – major auricular nerve

B – supraclavicular nerve

C – minor occipital nerve

D – transversus coli nerve

E – vagus nerve 

Correct answer – A

57. The patient has injured muscle fibers of the cervical plexus. Which triangle is the cervical plexus? 

A – carotid triangle

B – omoclavicular triangle

C – omotrapezoid triangle

D – submandibular triangle

E – omotracheal triangle

Correct answer – C

58. The patient has absence of perceptibility of the skin located above the major pectoral and deltoid muscles. Which nerve was injured?

A – minor auricular nerve

B – supraclavicular nerve

C –major occipital nerve

D – transversus coli nerve

E – phrenic nerve

Correct answer – B

59. 45 aged man complains on absence of perceptibility located in 1/3 posterior region of the tongue. Which pair of the cranial nerves was injured?

A – IX

B – X

C – VIII

D – V

E – XII

Correct answer – A

60. The patient complains on high painfull perceptibility of the skin of the auricule and the external acusticus meatus. There is painful palpated place located behind the sternoclaidomastoid muscle.  Which nerve was injured?

A – n. Auricularis magnus

B – n. Transversus coli

C – n. Occipitalis minor

D – n. Supraclavicularis 

E – n. Vagus

Correct answer – A

61. The patient has smoothed right nasolabial fold, delated right palpebral opening (eyelids can not be closed). There are difficulties of eating and talking. Which nerve was injured?

A – n. facialis dexter

B – n. abducens dexter

C – n. glossopharyngeus sinister

D – n. vagus dexter

E – n. trigeminus dexter

Correct answer – A

62. The patient has inflamation of the middle ear. At the same time he complains on disturbance of taste located on the anterior part of the tongue. Which nerve was injured?

A – n. facialis 

B – n. vestibulocochlearis

C – n. trigeminus 

D – n. vagus 

E – n. glossopharyngeus 

Correct answer – A

63. There is injured lateral wall of the orbite, which was diagnosed by a doctor. The patient can not abduct the eyeball of the injured side. Which nerve was injured?

A – n. abducens

B – n.  trochlearis

C – n. oculomotorius

D – n. ophtalmicus

E - n. infraorbitalis

Correct answer – A

64. The doctor diagnosed atrophia of the masticatory muscles located below the zygomatic arch. Which nerve supplies these group of muscles?

A – n. trigeminus 

B – n. ophtalmicus 

C – n. glossopharyngeus 

D – n. vagus 

E – n. facialis

Correct answer – A

65. There is diviation of the tongue's top on the left. Which nerve was injured?

A – n. hypoglossus

B – n. glossopharyngeus dexter 

C – n. vagus sinister

D – n. trigeminus sinister

E – n. facialis sinister

Correct answer – A

66. There are cases of inflamation of the maxillar sinus and complications of surgical operations of this sinus. Which nerve can be injured in these cases?

A – n. alveolares superiores

B – n. facialis

C – n. mandibularis

D – n. oculomotorius

E - n. trochlearis

Correct answer – A

67. There is bleeding located in region of the anterior part of the posterior crus of the internal capsula. Which conducting tracts were injured?

A – cortico-nuclear

B – hearing

C – spino-cerebellar

D – optic

E - pyramidal

Correct answer – E

68. There is injured anterior crus of the internal capsula. Which conducting tract was injured?

A – pyramidal 

B – cortico-nuclear 

C – hearing 

D – cortico-ponto-cerebellar 

E - optic 

Correct answer –D

69. There is injured posterior part of the posterior crus of the internal capsula. Which conducting tract was injured?

A – optic pyramidal 

B – olfactorycortico-nuclear 

C – gustatory 

D – hearing 

E - motor 

Correct answer –D

70. The patient has penetrated wounding of the frontal lobe of the brain. There is transporate fluid outflowing from wound. Which anatomical formation was injured?

A – third ventricle

B – forth ventricle

C – anterior horn of the lateral ventricle

D – lateral cisterna

E – posterior horn of the lateral ventricle

Correct answer –C

71. There is bleeding of the auricle’s region after the trauma. Which artery was injured?

A-facial

B-posterior auricle

C-occipital

D-superficial temporalis

E-maxillar


Correct answer-D

72. The patient has trauma of inferior lip. Which artery was injured?

A-facial

B-sublingual

C-maxillar

D-temporalis superficialis

E-superior thiroidea


Correct answer-A

73. the patient has bleeding of the left eyeball. Which artery was injured?

A-ophtalmic

B-facial

C-maxillary

D-temporalis superficialis

E-meningea media


Correct answer-A

74. If the temporal lobe has broken blood supply, one artery is injured. Which artery is this?

A-cerebri media

B-carotis exteerna

C-meningea media

D-basilaris

E-temporalis superficialis


Correct answer-A

75. There is injured vessel located in the pharyngea wall after surgical operation. There are broken blood supply of the pharynx, palate tonsils, soft palate, auditory yube. Which vessel was injured?

A-superior thyroid artery

B-descendence pharyngeal artery

C-inferior pharyngeal artery

D-ascendence pharyngeal artery

E-vertebral artery


Correct answer-D

76. There is bleeding of the sublingual gland during surgical operation. The surgeon found out Pirogov’s triangle to stop bleeding. Which artery is bleeding?

A-sublingual artery

B-maxillar artery

C-lingual artery

D-facial artery

E-posteriopr auricular artery


Correct answer-C

77. The patient has broken blood supply of the soft palate, palate arches, auditory tube. Which artery was injured?

A-ascendens pharyngeal artery

B-sternocledomastoid artery

C-facial artery

D-superficial temporal artery

E-maxillar artery


Correct answer-A

78. The patient has broken blood supply of the thyroid gland. Which artery was injured?

A-superior thyroid arthery

B-occipital artery 

C-sternocloidmastoid artery

D-internal thoracic artery

E-superior thyroid, inferior thyroid, ima thyroid


Correct answer-E

79. The patient has injured neuro-vascular bandle of the neck after wounding. Which triangle is it located?

A-carotid triangle

B-omoclavicular triangle

D-omotrapezoid triangle

D-submandibular triangle
E-Pirogov’s triangle


Correct answer-A

80. The patient has wounding located in the carotid triangle. What anatomical formations are located in the triangle?

A-only vagus nerve

B-vagus nerve, internal jugular vein, common carotid artery

C-only internal vein

D-only common carotid artery

E-vagus nerve, internal jugular vein, internal thoracic artery


Correct answer-B

81. The patient has trombosis of the internal jugular vein. What vessel and nerve are located next to the internal jugular vein?

A-vagus nerve + common carotid artery

B-giaphragmal nerve + common carotid artery

C-external carotid artery + sympathetic trunk

D-no correct answer


Correct answer-A

82. The patient was hospitalized with the knife wounding. There is injured artery located in the carotid triangle. What is the artery?

A-subclavicular artery

B-common carotid artery 

C-external carotid artery

D-internal carotid artery

E- no correct answer


Correct answer-B

83. Where is vagus nerve located?

A-between common carotid artery and internal jugular vein

B-between external and internal carotid arteries

C-anterior and posterior jugular veins

D-between common carotid artery and anterior jugular vein

E-between carotid artery and external jugular vein


Correct answer-A

84. The patient was hospitalized with trauma of the neck. There is injured large vein located in the carotid triangle. What is this wein?

A-internal jugular vein

B-anterior jugular vein

C-external jugular vein

D-subclaviar vein

E-internal thoracic vein


Correct answer-A

85. There was injured ascendence cervicalis artery. What muscles will be blood supplied very bad?

A- sterno thyroideus and sterno thyroideus

B-omohyoideus

C-stylohioideus geniohyoideus

D-platysma, sternocloidomastoideus

E-anterior scalenius, medius scalenius and posterior scalenius


Correct answer-E

86. There was injured inferior laryngeal artery at knife wounding. Which organ will have bad blood supply?

A-mucous membrane and pharyngeal muscles

B-dorsal muscle of the neck

C-deep muscles of the back

D-thyroid gland

E-supraphyoid muscles


Correct answer-A

87. The patient has injured infrerior thyroid artery. Which organ will be blood supplied badly?

A-mucous membrane and pharyngeal muscle

B-pharyngeal constrictors

C-posterior surface of the thyroid gland

D-deep muscular of the neck

E-all mentioned


Correct answer-C

88. Which vessels can infections located in the external nose pass into areas located into the skull?

A-facial artery

B-facial limph vessel

C-ophtalmic vein

D-superficial temporal vein

E-maxillary artery


Correct answer-C

89. The patient has turnucle located in nasolabial triangle. There are staring of eyeballs, hyporaemia of the eyelids and forehead, patalysis of eyeball’s muscles. Which venous sinus had trombosis?

A-superior sagital

B-superior cavernous

C-inferior cavernous

D-inferial sagital

E-cavernous


Correct answer-E

90. The patient has wounding of the occipital bone and venous bleeding. Which venous sinus was injured?

A-transversus

B-rectus

C-occipital

D-sigmoideus

E-inferior sagitalis


Correct answer-A

91. The patient has pus process in the nasal cavity. Which way will infection located in the nasal cavity pass into ther superior sagital sinus?

A-through venous emmissarium located in the caecum foramen’s region

B-optalim vein

C-facial vein

D-submandibular vein

E-anterior ethmoid vein


Correct answer-A

92. There is pusprocess in space between jaws. Which way will infection come into the cavernosus sinus?

A-ophtalmic vein

B-facial vein

C-venous emissarius located in the cecum and oval foramens region

D-retromandibular artery

E-anterior ethmoid vein


Correct answer-C

93. The patient has pus process located in the temporal region skin. Which way did infection came into venus sinuses?

A-venous emissarius passing thropugh parietal foramen

B-ophtalmic vein

C-facial vein

D-internal jugular vein

E-retromandibular vein


Correct answer-A
94. There is pus process in the occipital region. Which way will infection come into venous sinuses?

A-menous emissariums passing through the channel of the occipital condyle

B-ophtalmic vein

C-retromandibular vein

D-facial vein

E-occipital veain


Correct answer-A

95. There is pus process in the face’s region. Which anastomosis will infection pass through into the cavernous sinus?

A-anastomis between the angular vein and superior and inferior ophthalmic veins

B-facial veain

C-occipital veain

D-retromandibular vein

E-internal jugular vein


Correct answer-A

96. The patient has funcle located in the face’s region. Which venous sinus will infection come into?

A-cavernous

B-superior sagital

C-inferior sagital

D-superior petrosus

E-inferior petrosus


Correct answer-A

97. The patient has inflammation of thr lower lip. Which lymph glands are reacting?

A-submandibular

B-retroauricular

C-occipital

D-parietal

E-lingual


Correct answer-A

98. The patient has dislocation of the mandibular joint. There are absence of taste of the toungue’s anterior part, flowing of tears. Which nerve was injured?

A-facial

B-hypoglossal

C-maxillar

D-vagus

E-tympanic


Correct answer -A

99. The patient was hospitalized with fracture of the mandibule and bleeding of this fracture. Which artery was injured?

A-inferior alveolar

B-facial
C-lingual

D-ascendence palatine

E-superior alveolar


Correct answer-A

100. The patient was diagnosed injured internal ear, which has injured vessels. Which artery blood supplies the internal ear?

A-a.basilaris

B-a.cerebri posterior

C-a.vertebralis

D-a.cerebri media

E-a.cerebri anterior


Correct answer-A

101. Which veins of the patient will pus process of the head’s hair region spread on cerebral membranes?

A-emissariums and diploic veins

B-emissariums

C-diploic veins

D-superficial temporal veins

E-superficial cerebral veins


Correct answer-A

102. There is pus ininflamation of the middle ear. There is injured artery located on the anterior wall of the tympanic cavity. Which artery is this?

A-a.carotis interna

B-a.carotis externa

C-a.meningea media

D-a.auricularis posterior

E-a.temporalis superficialis


Correct answer-A

103. There was injured vessel located in the mastoid process region during surgical operation of the pus mastoiditis. After that there is hematoma located behind the auricle. What is this vessel?

A-a.auricularis posterior

B-a.occipitalis

C-ramus mastoideus a.occipitalis

D-a.temporalis superficialis

E-a.facialis


Correct answer-A

104. The patient was diagnosed broken blood supply, palpated pain, edema after disease of parotid gland. Which artery supplies parotid gland?

A-a.temporalis superficialis

B-a.facialis

C-a.auricularis posterior

D-a.pharyngea ascendens

E-a.meningea media


Correct answer-A

Vessels and nerves of the trunk and the limbs
1. The valves of the heart deform during rheumatism. Which tissue are they formed by?

A-pericardium

B-endocardium

C-myocardium

D-epicardium

E-all mentioned


Correct answer-B

2. The patient has inflamated myocardium. In which chamber of the heart do the muscle of the heart form trabecules?

A-left atrium

B-right atrium

C-both ventricles

D-no any chambers

E-all chambers


Correct answer-C

3. The patient has inflammated myocardium. What direction of muscle fibers does the ventricles’ layer have?

A-internal longitudinal and superficial longitudinal, middle circular

B-transverse, longitudinal, oblique, superficial

C-internal oblique, longitudinal, transverse

D-no Correct answer
E-all mentioned


Correct answer-A

4. The patient has deficiency of the lesser systematic blood circulation. Where does the lesser systematic blood circulation start?

A-left atrium

B-right atrium

C-left ventricle

D-right ventricle

E-coronary sinus


Correct answer-D

5. The patient was diagnosed defect of the atrial septum (opened oval foramen). Which tissue is the atrial septum formed by?

A-fibrous

B-serous

C-muscular

D-endocardium

E-epicardium


Correct answer-C

6. The patient has inflamated myocardium. Where are pectineus muscles located?

A-in left ventricle

B-in right ventricle

C- in all atriums

D- no anyone mentioned

E- in all mentioned


Correct answer-C

7. The child has not obliterated oval foramen. Where is it located?

A-atrial septum

B-ventricular septum

C-between left ventricle and left atrium

D-between right atrium and right ventricle

E-no Correct answer

Correct answer-A

8. The patient was diagnosed blocade of the Gyssa’ fascicle. Where is it located?

A-atrial septum

B-ventricular septum

C-left atrium

D-right atrium

E-between atrium and ventricle


Correct answer-B

9. The patient has deficiency of the lesser systematic blood circulation. Where does the circulation start?

A-left atrium

B-left ventricle

C-right atrium

D-right ventricle

E-coronary sinus


Correct answer-D

10. ECG shows the work of the conducting system of the heart. Where is the sino-atrial node located?

A-left atrium

B-left ventricle

C-right atrium

D-right ventricle

E-left auricle


Correct answer-C

11. The patient has deficiency of the lesser systematic blood circulation. What vessels does this circulation finish?

A-pulmonary trunk

B-pulmonary artery

C-pulmonary veins

D-caronary sinus

E-superior cavum vein


Correct answer-C

12. The therapeutic has to find out the heart’s top. Which left intercostal space is it located?

A-I

B-II

C-III

D-IV

E-V


Correct answer-E

13. The sick child has not obliterated Bolatov’s duct. Where is it located?

A-between umbilical and interior cava veins

B-between pulmonary trunk and aorta

C-between left and right coronary arteries

D-it is the branch of umbilical artery

E-it is the branch of umbilical vein


Correct answer-B

14. The patient has broken work of the tricuspidalis valve. Where is it ansultated?

A-II left intercostal space

B-II right intercostal space

C-V left intercostal space

D-V right intercostal space

E-base of the xiphoid process


Correct answer-E

15. The patient was diagnosed broken work of the aortal valve. Where is it ausculated?

A-II left intercostal space

B-II right intercostal space

C-V left intercostal space

D-V right intercostal space

E-base of the xiphoid process


Correct answer-B

16. The patient was diagnosed broken work of the pulmonary trunk. Where is it ausculated?

A-II left intercostal space

B-II right intercostal space

C-V left intercostal space

D-Vright intercostal space

E-base of the xiphoid process


Correct answer-A

17. The patient has injured visceral layer of the pericardium. What is its name?

A-endocardium

B-myocardium

C-epicardium

D-pericardium

E-no Correct answer

Correct answer-C

18. There is out following of the liquid located in injured pericardium. Which liquid is located in pericardial cavity?

A-mucos

B-arterial blood

C-venous blood

D-lymph

E-serous liquid


Correct answer-E

19. There is broken blood supply of the pulmonary tissue. Which artery is pulmonary tissue supplied by?

A-pulmonary artery

B-thoracic aorta

C-bronchial artery

D-mediastinal artery

E-all mentioned


Correct answer-C

20. There is wounding of the right pulmonary root. What anatomical formations were injured?

A-azygos vein

B-right principal bronchus

C-pulmonary artery

D-pulmonary vein

E-all mentioned 


Correct answer-E

21. There is broken blood supply of the pericardium. Which artery was injured?

A-right coronary artery

B-left coronary artery

C-pericardio-diaphragmal artery

D-musculo-diaphragmal artery

E-internal thoracic artery


Correct answer-C

22. There is injured sternal part of the diaphragm. Which artery can be injured?

A-musculo-diaphragmal artery

B-inferior diaphragmal artery

C-superior diaphragmal artery

D-pericardio-diaphragmal artery

E-superior diaphragmal artery


Correct answer-E

23. There is made punction of the pleural cavity, which was injected in the inferior edge of the rib next to the ventral column?

A-hemiazygos vein

B-posterior intercostal vein

C-anterior intercostal vein

D-hemiazygos accessorial vein

E-azygos veain 


Correct answer-B

24. If there is broken blood supply of the 1st and 2nd intercostal spaces, one artery will be injured. Which artery is this?

A-anterior intercostal artery

B-internal thoracic artery

C-superior thoracic artery

D-thyrocervical trunk 

E-costocervical trunk


Correct answer-E

25. If the internal thoracic artery is bondaged, some places will have broken blood supply. What places are these?

A-left mammary gland

B-I-II left intercostal space

C-left parts of the diaphragma

D-IV-VI left inercostal spaces

E-all mentioned


Correct answer-E

26. There was diagnosed diaphragmal gernia on the level of XII thoracic vertebra. Which vessel can be pressed?

A-superior cava vein

B-inferior cava vein

C-superior diaphragmal vein

D-azygos vein

E-aorta


Correct answer-E

27. The internal thoracic artery was injured in place of its division into 2 end branches. Which level is injured artery located?

A-superior edge of VII costal cartilage

B-inferior edge of VII costal cartilage

C-superior edge of VII costal cartilage

D-inferior edge of VII costal cartilage

E-superior edge of VII costal cartilage


Correct answer-B

28. If superior thoracic artery is bandaged, some muscles will have broken blood supply. What muscles are these?

A-subscapular muscle

B-major pectoral muscle

C-minor pectoral muscule

D-anterior serratus muscle

E-all mentioned


Correct answer-E

29. Which artery is apart of triage hepatic?

A-common hepatic artery

B-rihght hepatic artery

C-left hepatic artery

D-proper hepatic artery

E-no Correct answer

Correct answer-D

30. Which artery blood supplies the gall bladder?

A-right hepatic artery

B-common hepatic artery

C-cistis artery

D-caeliac trunk 

E-right omental


Correct answer-C

31. What arteries have anastomosis located on the major curvature of the stomach?

A-left and right omental arteries

B-left and right gastric arteries

C-left gastric and right omental arteries

D-right gastric and left omental arteries

E-right gastric and right omental arteries


Correct answer-A

32. It must be remembered that the caeliac trunk gives branche. What are they?

A-splenic artery

B-left gastric artery

C-common hepatic artery

D-all mentioned

E- no Correct answer

Correct answer-D

33. The small intestine is blood supplied by arteries. What are these arteries?

A-inferior mesenteric artery

B-superior mesenteric artery

C-caleac trunk

D-splenic artery

E-hepato-duodenal artery


Correct answer-B

34. There is arterial anastomosis located in the pancreatic region. What arteries form this anastomosis?

A. Pancreato-Deudenal Superior Artery

B. Pancreato-Deudenal Inferior Artery

C. Short Gastric Branches

D. All mentioned

E. None of the mentioned

Correct answer – D

35. One Artery must be bandaged in the vermiform appendix region during operations. What is this artery?

A. Right Intestinal Artery

B. Ileocaecalis Artery

C. Colica Media Artery

D. Colica Sinistra Artery

E. Inferior Mesentric Artery

Correct answer– B

36. The Superior Suprarenal Artery is a branch of one artery, which must be remembered during operations of the kidneys. Which artery does the Superior Suprarenal Artery arise from?

A. Renal Artery

B. Intestinal Artery

C. Inferior Diaphragmal Artery

D. Superior Mesenteric Artery

E. Inferior Mesenteric Artery

Correct answer– C

37. The Inferior Suprarenal Artery is a branch of one artery, which must be remembered during operations of the kidneys. Which artery does the Inferior Suprarenal Artery arise from? 

A. Renal Artery

B. Intestinal Artery

C. Inferior Diaphragmal Artery

D. Superior Mesenteric Artery

E. Inferior Mesenteric Artery

Correct answer– B

38. It must be remembered, that the Inferior Mesenteric Artery arises from the Aorta. Which level does this Artery arise from the Aorta?

A. III Lumber Vertebra

B. I Lumber Vertebra

C. II Lumber Vertebra

D. IV Lumber Vertebra

E. XII Thoracic Vertebra

Correct answer– A

39. The artery can be injured in Sacroiliac Joints region during operation. Which Artery is this?

A. Internal Iliac

B. Iliolumbalis

C. Lateral Sacralis

D. Superior Gluteal

E. Inferior Gluteal

Correct answer– A

40. The lymph glands, located below the Inguinal Ligament, can be injured during operation. What lymph glands are these?

A. Superficial Inguinal

B. Deep Inguinal

C. Inguinal

D. Popliteal

E. Mesenteric

Correct answer– C

41. The artery, located in the Iliac Fossa, was injured by a surgeon during operation. What is this artery?

A. Lateral Sacralis

B. Superior Ischiadic

C. Obturatoria

D. Internal Iliac

E. Ilio - Lumbar

Correct answer– E

42. There is injured Lateral Sacral Artery. Which muscle will be blood supplied badly?

A. Major Gluteal

B. Levator Ani

C. Cremaster

D. Quadriceps Femoris

E. Minor Gluteal

Correct answer– B

43. The surgeon injured the artery during operation of the Gluteal Nerve in the region of the Suprapiriform Foramen. Which artery was injured?

A. Ilio - Lumber

B. Lateral Sacral

C. Superior Ischiadic

D. Obturatoria

E. Inferior Ischiadic

Correct answer– C

44. There is fracture of the Femoral Head. Which artery can be injured in this case?

A. Ilio-Lumbar

B. Hip Branch

C. Lateral Sacral

D. Superior Ischiadic

E. Inferior Ischiadic

Correct answer– B

45. The surgeon injured the vessel located behind the External Iliac Artery during operation. Which vessel was injured?

A. Ilio – Sacral Artery

B. Lateral Sacral Artery

C. Internal Iliac Artery

D External Iliac Artery

E. Lumbar Vein

Correct answer– C

46. There is operation of upper part of the Urinary Bladder. Which artery can be injured during operation?

A – Deferencial Artery

B. Superior Vesical Artery

C. Inferior Vesical Artery

D. Uterine Artery

E. Testicular Artery

Correct answer– B

47. There is operation of the Ureter. Which artery, located next to the Ureter, can be injured?

A. Ilio – Lumbar Artery

B. Lateral Sacral Artery

C. Superior Ischiadic Artery

D. Internal Iliac Artery

E. Lumbar Artery

Correct answer– D

48. There is operation of the Uterus neck. Which vessel can be injured?

A. Arteria Uterina 

B. Arteria Restalis

C. Arteria Umbilicalis

D. Arteria Pudenda Interna

E. Arteria Testicularis

Correct answer– A

49. There is operation on the Right Atrium. Which vessel can be injured?

A. Superior Pulmonary Vein

B. Inferior Pulmonary Vein

C. Media Cordis Vein

D. Superior Cava Vein

E. Minor Cordis Vein

Correct answer– D

50. There is wounding of Lumbar part of the body with injured big vessel from the Aorta. Which vessel was injured?

A. Superior Cava Vein

B. Inferior Cava Vein

C. Porta Vein

D. Splenic Vein

E. Superior Mesenteric Vein

Correct answer– A

51. There is operation of the Hepato – Duodenal Ligament. Which vessel can be injured?

A. Superior Mesenteric Vein 

B. Inferior Mesenteric Vein

C. Splenic Vein

D. Porta Vein

E. Hepatic Vein

Correct answer– D

52. There is Apendectomy. Which vessel can be injured?

A. Vein of the Vermiform Appendix

B. Ilio-Caecalis Vein

C. Inferior Mesenteric Vein

D. Superior Mesenteric Vein

E. Porta Vein

Correct answer– A

53. There is operation of the Common Hepatic Duct. Which vessel located next to this duct was injured?

A. Proper Hepatic Artery

B. Porta Vein

C. Hepatic Vein

D. Superior Mesenteric Vein

E. Inferior Mesenteric Vein

Correct answer– B

54. There is operation of the Pancreas Head. What vessels can be injured?

A. Superior Mesenteric Vein

B. Inferior Mesenteric Vein

C. Splenic Vein

D. All Mentioned

E. None of the Mentioned

Correct answer– D

55. The patient has wounding of the anterior and lateral surface of the trunk on the level of the IV – V Lumbar Vertebrae. There is dark red bleeding. Which vessel was injured?

A. Porta Vein

B. Lumbar Veins

C. Right Renal Vein

D. Inferior Cava Vein 

E. Left Hepatic Vein

Correct answer– D

56. There is injured vessel during operation of the right Iliopsoas Muscle. The bleeding is dark red. What is this vessel?

A. Superior Cava Vein

B. Inferior Cava Vein

C. Right Suprarenal Vein

D. Porta Vein

E. Splenic Vein

Correct answer– B

57. There was operation of the Urinary Bladder’s Inferior part, Where was dark red bleeding. Which vessel was injured?

A. Inferior Vesical Vein

B. Internal Pudendal Vein

C. Venous Vesical Plexus

D. Venous Prostatic Plexus

E. Inferior Rectal Vein

Correct answer– C

58. The Prostate Gland was taken out during operation. Which Veinous Plexus will bleed?

A. Scrotal

B. Vesical

C. Prostatic

D. Rectal

E. peumpiniform

Correct answer– C

59. There is injured innervation of the major and minor Pectoral Muscles. Which nerve was injured?

A. Long Thoracic

B. Muscular

C. Lateral and Medial Thoracic

D. Subclavian

E. Supraclavicular

Correct answer– C

60.  The dorsal branches of the spinal Nerves are blocked, as a result of trauma. What Anatomical formations are innervated poorly?

A. Occipital Skin

B. Neck Skin

C. Back Skin

D. All Mentioned

E. None of the mentioned

Correct answer– E

61. There is the pain of the Inferior Intercostal Spaces on the right during breathing and moving. What nerves were injured?

A. Dorsal Spinal

B. Vagus

C. Diaphragmal

D. Anterior branches of the Dorsal Spinal Nerves

E. Thoracic Part of the Sympathetic Trunk

Correct answer– D

62. The motor function of the Diaphragma is broken. What nerves were injured?

A. Sympathetic Trunk

B. Cervical Plexus

C. Diaphragmal

D. Vagus

E. None of the mentioned

Correct answer- D

63. There is broken innervation of the pericardium. What nerves were injured?

A. Vagus Nerve

B. Sympathetic Trunk

C. Cardiac Plexus

D. Diaphragmal Nerve

E. Conducting system

Correct answer– D

64. There is broken Cardiac Trunk Rhythm on the level of the Atriums. Which nerve was injured?

A. Vagus Nerve

B. Sympathetic Trunk

C. Gyssa’ Fascicle

D. Sino-Atrial Node

E. Atrio-Ventricular Node

Correct answer– D

65. The broken Cardiac Rhythm is examined on the level of the ventricles of the heart. Which never was injured?

A. Right Crus of the Gyssa Fascicle

B. Left Crus of the Gyssa Fascicle

C. Atrio-Ventricular Node

D. All Gyssa Fascicle

E. Sino-Atrial Node

Correct answer– C

66. The Parietal Pleura, located on the right side of the Sternum was injured during perforate wounding. What nerves were injured?

A. Anterior Pulmonary Plexus

B. Posterior Pulmonary Plexus

C. Vagus Nerve

D. Diaphragmal Nerve

E. Sympathetic Trunk

Correct answer– D

67. It must be remembered that the Diaphragmal Nerves are located in the Thoracic Cavity. Where are the Diaphragmal Nerves located in the Thoracic Cavity?

A. In the Posterior Mediatinum

B. On the Anterior Surface of the Pleura

C. In the Anterior Mediastinum

D. In the Inferior part of the Anterior Mediastinum

E. In the superior part of the Anterior Mediastinum

Correct answer- C

68. It must be remembered that Vagus Nerves are located in the Thoracic Cavity. Where are Vagus Nerves Located in the Thoracic Cavity?

A. Between Bronchi and Pulmonary Arteries

B. On the Posterior Surface of the Pleura

C. In the Posterior Mediastinum

D. In the Anterior Mediastinum

E. In the Costo-Mediastinum Sinus

Correct answer– C

69. The Patient has Acute Renal deficiency after the trauma of the Vertebral Column on the level of 10-11 Thoracic Vertebrae. Which nerve was injured?

A. Major Splanchnic Nerve

B. Minor Splanchnic Nerve

C. Vagus Nerve

D. Diaphragmal Nerve

E. Renal Plexus

Correct answer– B

70. The Right Diaphragmal Nerve was injured after Trauma. Which Organ was injured?

A. Liver

B. Kidney

C. Spleen

D. Pancreas

E. Duodenum

Correct answer– A

71. The Patient was diagnosed with Broken Peristaltation of the Intestine after trauma of the head. Which nerve was injured?

A. Vagus Nerve

B. Diaphragmal Nerve

C. Inferior Bronchial Plexus

D. Superior Bronchial Plexus

E. Caeliac Plexus

Correct answer– A

72. The Patient was diagnosed with absence of perceptibility of abdominal wall after trauma. Which nerve was injured?

A. Ilio-Hypogastric Nerve

B. Ilio-Inguinal Nerve

C. Genito-Femoral Nerve

E. Subcostal Nerve

Correct answer– A

73. The Patient lost Consciousness after the knock of the region of the anterior abdominal walls upper part. Which nervous plexus was injured?

A. Superior Mesenteric 

B. Inferior Mesenteric

C. Solar

D. Superior Hypogastric

E. Inferior Hypogastric

Correct answer– C

74. There is broken Parasympathetic and Sympathetic innervation of the spleen. Which nerve was injured?

A. Vagus Nerve

B. Diaphragmal Nerve

C. Minor Splanchnic Nerve

D. Major Splanchnic Nerve

E. Solar Plexus 

Correct answer– A

75. The pelvic organs are supplied by Parasympathetic nerves. Which parasympathetic nerves are they?

A. Sacral Plexus

B. Vagus Nerve

C. Splanchnic Pelvic Nerve

D. Anterior Branches of Sacral Spinal Nerves

E. Posterior Branches of Sacral Spinal Nerves

Correct answer– C

76. The Patient was diagnosed with broken functions of the Medius and Minor Gluteal Muscles and Tensor Fascia Lata Muscle. Which nerve was injured?

A. Gluteal

B. Genital

C. Superior Gluteal

D. Inferior Gluteal 

E. Muscle branches of the Sacral Plexus

Correct answer– C

77. There is broken innervation of Major Gluteal Muscle. Which nerve was injured?

A. Genital

B. Femoral

C. Superior Gluteal

D. Inferior Gluteal

E. Gluteal

Correct answer– D

78 The patient was hospitalized with wound of the Delto-Pectoral Groove Region. Which vein was injured?

A. Cephalic Vein

B. Basilar Vein

C. Inguinal Vein

D. Subclavian Vein

E. Brachial Vein

Correct answer– A

79. The patient was examined for the bleeding of upper arm’s posterior surface. What artery was injured?

A. a. Profunda Brachii

B. a. Brachialis

C. a. Axillaris

D. a. Ulnaris

E. a. Collateralis Ulnaris

Correct answer– C

80. The patient was examined for the bleeding of wound of the lateral part of the forearm’s anterior surface. Which artery was injured?

A. a. Radialis

B. a. Ulnaris 

C. Profunda Brachii

D. a. Interossea

E. a. Collateralis Ulnaris Inferior

Correct answer– A

81. The patient was examined for the bleeding of wound of the hands middle Palmar part. Which artery was injured?

A. a. Superficial Palmar Arch

B. a. Ulnaris

C. Deep Palmar Arch

D. a. Radialis

E. a. Princeps Policis

Correct answer– A

82. Which artery of the forearm can be palpated to measure the pulse.

A. a. Ulnaris

B. a. Radialis

C. a. Brachialis

D. a. Interossea

E. a. Collateralis Ulnaris Inferior

Correct answer– B

83. There are wounding of the hand and bleeding of the deep palmar arch. Where should the main arterial trunk be bandaged?

A. Forearms inferior thirds on the radial edge

B. Forearms inferior thirds on the ulnar edge

C. Forearms inferior thirds on the anterior surface

D. Anatomical Snuff Box

E. Forearms Posterior Surface

Correct answer– D

84. There is wounding of the hand. The main trunk of the superficial palmar arch must be bandaged. Which artery and where must it be bandaged?

A. a. Ulnaris in the forearms inferior thirds

B. a. Radialis in the Forearms inferior thirds

C. a. Radialis in the anatomical snuff box

D. a. Interossea in the forearms middle thirds.

E. a. Collateralis inferior in the forearms middle thirds.

Correct answer– A

85. Which place must the superficial palmar arch be bandaged to make a cutting?

A. In the Distal part of the palm

B. In the proximal part of the palm

C. In the middle of the metacarpal bone’s projection

D. On the lateral edge of the palm

E. On the medial edge of the palm

Correct answer– C

86 There is bleeding from the upper arm’s posterior surface after wounding. Which artery was injured?

A. a. Profundi Brachii

B. a. Brachialis

C. a. Ulnaris

D. a. Radialis

E. a. Axillaris

Correct answer– A

87. There is bleeding of the upper arm’s medial surface after wounding. Which artery was injured?

A. a. Brachialis

B. a Profunda Brachii

C. a. Radialis

D. a. Ulnaris

E. a. Interossea

Correct answer– A

88. The Patient was hospitalized with wounding of the Gluteal region. The arterial bleeding was examined in the suprapiriform foramen’s region. Which artery was injured?

A. Lateral Sacral

B. Obturatorius

C. Superior Ischiadic

D. Inferior Ischiadic

E. Ilio-Lumbar

Correct answer– C

89. The patient was hospitalized with wounding of the Gluteal region. The injured artery located in the suprapiriform foramen was diagnosed. Which artery was injured?

A. Lateral Sacral

B. Obturatorius

C. Superior Ischiadic

D. Ilio-Lumbar

E. Inferior Ischiadic

Correct answer– E

90. The patient has big arterial bleeding with wounding. Which artery must be bandaged to stop bleeding?

A. Popliteal Artery

B. Deep Femoral Artery

C. Femoral Artery

D. Obturatoria Artery

E. Aortal Artery

Correct answer– C

91. The patient has big arterial bleeding after a knife wounding on the leg. The cutting wound was examined in the popliteal fossa’s inferior angle. Which artery must be pressed to stop bleeding?

A. Popliteal Artery

B. Deep Femoral Artery

C. Femoral Artery

D. Obturatoria Artery

E. Abdominal Aorta

Correct answer- A

92. The patient has hospitalized with knife wounding of the thigh. There is examined big injured artery located  in region below the inguinal ligament. Which artery was injured?

A – aorta

B – common iliac artery

C – external iliac artery

D – femoral artery

E – internal iliac artery

Correct answer– D

93. The patient complains on swelling of the foot. There is disturbance of arterial blood supply of the dorsal region of the foot during examination. Which artery was injured?

A – anterior tibial

B – posterior tibial

C – fibular 

D - lateral plantar

E – dorsal pedis

Correct answer– E

94. There is pulse on the dorsal surface of the foot, as result of the vascular disease of the lower limb. Which artery is not palpated?

A – anterior tibial

B – posterior tibial

C – fibular 

D - lateral plantar

E – dorsal pedis

Correct answer– E

95. There is no pulse located behind the medial ankle, as result of the vascular disease of the lower limb. Which artery was injured?

A – anterior tibial

B – posterior tibial

C – fibular 

D - lateral plantar

E – dorsal pedis

Correct answer– B

96. There is superficial wounding of the middle one thirds of the lateral surface of the upper arm. Which superficial vein can be injured?

A – v. cephalica

B – v. basilica

C – v. brachialias

D – v. profunda brachii

E – v. collateralis ulnaris

Correct answer– A

97. There is superficial wounding of the medial region of the upper arm. Which vein can be injured?

A – v. cephalica

B – v. basilica

C – v. mediana cubiti

D – v. brachialias 

E – v. collateralis ulnaris

Correct answer– B

98. There is superficial wounding of the medial edge of the forearm. Which vein can be injured?

A – v. cephalica

B – v. basilica

C – v. mediana cubiti

D – v. ulnalrias 

E – v. radialis

Correct answer– B

99. Infection can spread in the axillary vein. Which vein can carry infection?

A – v. cephalica

B – v. basilica

C – v. collateralis ulnaris superior

D – v. profunda brachii

E – v. subclavia

Correct answer– A

100. Infection can spread in the brachial vein. Which vein can carry infection?

A – v. cephalica

B – v. basilica

C – v. profunda brachii 

D – v. ulnaris 

E – v. radialis

Correct answer– A

101. There is wounding of the thumb. Which regional lymph nodes will have infection?

A – subclavian

B – supraclavicular

C – inguinal

D – ulnar

E – brachial

Correct answer– C

102. There is infection located in the right hand. Which lymph duct receives this infection?

A – thoracic lymph duct

B – right lymph duct

C – lymph trunk of the right half of the neck

D – lymph vessel of bronchi

E – inguinal lymph vessels

Correct answer– B

103. The patient has pus inflammation of the knee joint. Which lymph nodes can be increased the first?

A – superficial inguinal

B – deep inguinal

C – popliteal

D – common and external iliac

E – internal iliac

Correct answer– B

104. The patient has infected wound of the first toe. Which lymph nodes can be increased the first?

A – superficial inguinal

B – deep inguinal

C – popliteal

D – common and external iliac

E – internal iliac

Correct answer– A

105. The patient was hospitalized with knife wounding. There is diagnosed impossible extension of the hand and basic phalanges of the fingers have position of droopsing.   Which nerve was injured?

A – musculocutaneus

B – radial

C – ulnar

D – medius

E – unguinal

Correct answer– B

106. There is absence of perceptibility of the posterior region of the upper arm after infectional disease. Which nerve was injured?

A – radialis

B – ulnaris

C – medianus 

D – cutaneus brachii medialis

E – cutaneus brachii lateralis

Correct answer– A

107. There is absence of painful perceptibility of the medial surface of the upper arm. Which nerve was injured?

A - cutaneus brachii medialis

B - cutaneus brachii lateralis

C - ulnaris

D – medianus

E - axillaris

Correct answer– A

108.  There is absence of painful perceptibility of the lateral surface of the forearm. Which nerve was injured?

A - cutaneus antebrachii medialis

B – medianus

C – radialis

D - ulnaris

E - axillaris

Correct answer– A

109. There is absence of skin perceptibility of the posterior surface of the forearm. Which nerve was injured?

A – radialis

B – ulnaris

C – medianus

D – axillaris

E – musculocutaneus

Correct answer– A

110. The patient had knife wounding of the upper arm and the axillary region. He can not lift the upper limb above horizontal level. Which nerve was injured?

A – axillaries

B - ulnaris

C – thoracicus

D - radialis

E - cutaneus brachii medialis

Correct answer– C

111. The patient can not lift the upper limb till horizontal level after wounding. Which nerve was injured?

A – axillaries

B - ulnaris

C - radialis

D – suprascapularis

E -  medianus

Correct answer– A

112.  The patient can not flex the upper limb in the shoulder joint after knife wounding of subclavicular region. Which nerve was injured?

A -  musculocutaneus

B - radialis 

C – ulnaris

D – thoracicus longus

E - cutaneus brachii medialis

Correct answer– A

113. The patient can not extend the upper limb in the shoulder joint after wounding of the axillar region. Which nerve was injured?

A - ulnaris

B – radialis

C - medianus

D - cutaneus brachii medialis

E - cutaneus brachii lateralis

Correct answer– B

114. The patient can not supinate the upper limb after wounding upper thirds of the upper arm. Which nerve was injured?

A – ulnaris

B – radialis

C – medianus

D – musculocutaneus

E – anterior brachii medialis

Correct answer– B

115. The patient was hospitalized with knife wounding of the anterior surface of the leg. There is examined injured nerve located with the cut vessels. Which nerve was injured?

A – deep peroneal

B – superficial peroneal

C – common peroneal

D – tibial

E - femoral

Correct answer– A

116. The patient was hospitalized with wounding located behind medial ankle. There is diagnosed injured nerve passing behind the ankle. Which nerve was injured?

A – deep peroneal

B – tibial

C – gluteal

D – femoral

E - obturatorius

Correct answer– B

117. The patient wounding located in the region of the head of the fibula. There is impossible active dorsal flexion of the foot, abduction and pronation of the foot, and also extension of the toes. The foot droops and has a shape of "horse" foot. There is absence of perceptibility of the dorsal surface of the foot and 2/3 of the leg. Which nerve was injured?

A – common peroneal

B – gluteal

C – tibial

D – femoral

E – obturatorius

Correct answer– A

118. The patient was hospitalized with tearing wound located in the popliteal fossa. There is absence of flexion of the foot, adduction and supination of the foot, and also there is flexion of the toes. There is absence of the skin perceptibility of the posterior-medial surface of the leg, the lateral thirds of the dorsal surface of the foot.  Which nerve was injured?

A – gluteal 

B – peroneal

C – tibial

D – femoral

E – obturatorius

Correct answer– C

119. The patient has wounding of the upper thirds of the medial surface of the thigh. There is examined paralysis of the quadriceps and sartorius muscles. There is absence of extension of the knee joint. The patella is mobile. There is absence of the skin perceptibility of the anterior-medial surface of the thigh and middle surface of the leg. Which nerve was injured?

A – gluteal 

B – peroneal

C – tibial

D – femoral

E – obturatorius

Correct answer– D

120. The woman broke the fibula. She complains on absence of the skin perceptibility of the dorsal surface of the toes and impossibility of lifting of the lateral edge of the foot. Which nerve was injured?

A – gluteal

B – common peroneal

C – superficial peroneal

D – deep peroneal

E – lateral cutaneus

Correct answer– C

121. The patient complains on cute pain of the external half of the right thigh and high skin perceptibility of this region. There is reducing of pain and temperature perceptibility of the thigh's lateral surface. Which nerve was injured?

A – femoral

B – gluteal

C – genital

D – obturatorius

E - lateral cutaneus

Correct answer– E

122. There is disturbance of skin perceptibility of the region located above the inguinal ligament. Which segment of the spinal cord was injured?

A – 7 cervical

B – 4 thoracic

C – 12 thoracic

D - 1 lumbar

E – 4 thoracic

Correct answer– D

123. The patient has broken perceptibility of the muscles and the skin's lower limb. Which segment of the spinal cord was injured?

A – 2-5 lumbar, 1-2 sacral

B – 1-2 lumbar, 12 thoracic

C – 5-7 cervical, 1-2 thoracic

D – 5 sacral, 1 lumbar

E – 7 cervical, 1 thoracic

Correct answer– A

124. The patient has broken perceptibility of the region of the external genital organs, the pelvic diaphragm, the medial part of the gluteal region. Which segment of the spinal cord was injured?

A – 5-8 cervical

B – 1-2 thoracic

C – 2-12 thoracic

D – 3-5 sacral

E – 5-7 thoraci
Correct answer– D

